#### F. No. 13-1/2020-IS-15 Government of India Ministry of Human Resource Development Department of School Education & Literacy IS-15 Section \*\*\*\*

Dated 22 June, 2020

#### Subject: Samagra Shiksha: The Meeting of Project Approval Board (PAB) held on 29<sup>th</sup> April, 2020 for the State of Jharkhand- Circulation of Minutes.

The meeting of the Project Approval Board (PAB) for considering the Annual Work Plan and Budget (AWP&B), 2020-21 for SAMAGRA SHIKSHA, for the State of **Jharkhand**, was held under the chairpersonship of Secretary (SE&L) on **29th April**, **2020** through Video Conference.

2. A copy of the Minutes of the Meeting is enclosed.

22/6/2020

(Kamal Gandhi) Under Secretary to the Government of India Tel. No. 011-23070450

To,

- 1. Shri Ajay Tirkey, Secretary, Ministry of W & C.D.
- Shri Heeralal Samariya, Secretary, Ministry of Labour & Employment.
- 3. Shri R. Subrahmanyam, Secretary, Ministry of Social Justice & Empowerment.
- 4. Shri Deepak Khandekar Secretary, Ministry of Tribal Affairs.
- Shri Parameswaran Iyer,
   Secretary, Ministry of Drinking Water & Sanitation,
   4<sup>th</sup> Floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.
- Shri Pramod Kumar Das, Secretary, Ministry of Minority Affairs, 11<sup>th</sup> Floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.

- 7. Ms. Shakuntala D. Gamlin, Secretary, Department of Empowerment of Persons With Disabilities, Ministry of Social Justice & Empowerment.
- 8. Dr. Poonam Srivastava, Dy. Adviser (Education), NITI Aayog.
- 9. Prof. Hrushikesh Senapaty Director, NCERT.
- 10. Prof. N.V. Varghese, Vice Chancellor, NIEPA.
- 11. Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110002.
- 12. Prof. Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi.
- 13. Ms. Rupali Banerjee Singh, Member Secretary, NCPCR, 5<sup>th</sup> Floor, Chanderlok Building, Janpath, New Delhi.
- 14. Shri Maneesh Garg, Joint Secretary (SS-II Bureau).
- 15. Shri Santosh Kumar Yadav, Joint Secretary (SS-I).
- 16. Ms. Darshana M Dabral, JS & FA, MHRD.
- 17. Shri Sachin Sinha, Joint Secretary (AE & Coord).
- 18 Shri Amrendra Pratap Singh, Secretary (Education), Primary, Secondary & Higher Education, Government of Jharkhand, MDI Building, HEC, Dhurwa, Ranchi, Jharkhand-834004.
- 19. Shri Uma Shankar Singh, State Project Director, Jharkhand Education Project Council, New Cooperative Building, Shyamli Colony Doranda, Ranchi, Jharkhand-834002.

Copy to:

- 1. All Director/DS in SS-I & SS-II Bureau.
- 2. Shri Vijay Bhaskar Gurala, Director (MDM)
- 3. All Under Secretaries in SS-I & SS-II Bureau
- 4. NIC (for request to upload the PAB Minutes on Shagun Portal)

Copy for information to:-

- PPS to Secy (SE&L)
   PPS to JS (SS.II)

Kanal Gandhi) Under Secretary to the Govt. India Tel. No. 011-23070450

#### Government of India Ministry of Human Resource Development Department of School Education and Literacy

#### Minutes of the meeting of the Project Approval Board held on 29<sup>th</sup> April, 2020 through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2020-21 of Samagra Shiksha for the State of Jharkhand.

#### 1) Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2020-21 for SAMAGRA SHIKSHA for the State of Jharkhand was held on 29.04.2020 through Video Conference. The list of participants who attended the meeting is attached at *Annexure-I*.

#### 2) Initiatives of the State:

Ms. Anita Karwal, Secretary (SE&L) invited Jharkhand to give a presentation on School Education in the State. Sh. Amrendra Pratap Singh, Principal Secretary, School Education (Jharkhand) gave a presentation which included the following major points:

- a) **School Certification:** It is a unique and rigorous mechanism to improve the quality of school education in a holistic way. School certification was started by the state in 2019-20 using third party hired via tendering for verification/certification. Certification is provided in three levels i.e., Gold (Difficult), Silver (Moderate) and Bronze (Easy). For this purpose, schools are encouraged for self-nomination online through the e-Vidya Vahini portal and standardised question papers are developed by the JCERT, which is revised every month. Presently, state is in the process of linking certification outcomes to monetary incentives and service books of teachers.
- b) **Integrated Litigation Management System (ILMS):** ILMS is introduced to reduce the number of court cases against the department. It is a redesigned process expected to reduce time in filing of Counter Affidavit/ Supplementary Affidavit by 50% i.e., from 40 days to 15 days, leading to reduction of fines and personal appearances and ultimately time involvement of officials in legal cases. In addition, the judgement compliance monitoring and actionable dashboard is expected to reduce contempt cases.
- c) Solution to Court cases by policy based clubbing of cases: Identification of issues with increased litigation, defining common strategies and clubbing cases, in addition to data management and tracking of all cases via ILMS, organic linkages established between High Court and Department at all levels, has resulted in a huge reduction in the total number of cases filed against the department. This was further supplemented by appointment of Nodal Officers for each geographical region leading to accountability

and tracking, and capacity building and training of staff on legal terminology, technology and data management.

- d) **Jharkhand Career Portal:** Career portal (<u>http://www.jhcareerportal.com</u>) provides opportunities to students (grades 9 to 12) and teachers to explore career options. Users can log in through their individual ID and password and the portal provides a wide variety of information, namely:
  - i) 546 courses in more than 2600 specialized fields- academic, vocational streams and fellowships.
  - ii) Updated and verified information about universities and colleges offering courses,
  - iii) Information for differently abled, success stories for all professions in a gender sensitive format.
  - iv) Updated information on exams, scholarship opportunities related to each field and information about different pathways to reach same professional goals.
- e) **Mukhyamantri Swachh Vidyalaya Puruskar:** State Government has launched "Mukhyamantri Swachh Vidyalaya Puruskar" from 2019 aimed to maintain the momentum of the Swachh Vidyalaya Puruskar. All Government and Private school can participate in the competition and award will be given to schools at District and State level separately for rural and urban areas, 263 Rural Schools (one from each block), 41 Urban Schools and 119 state level schools. The entire award amount will be borne by State Government and a Mobile App has been developed with support of Administrative Staff College of India, Hyderabad.
- f) Re-structuring of SIS (Jharkhand Education Project Council): JEPC as SIS was established during the DPEP period and in order to streamline the implementation of Samagra Shiksha, re-structuring of the JEPC has been done, wherein several irrelevant and unnecessary posts are surrendered or converted to new posts as per present day need i.e., rationalization of posts has been done across various districts based on size and number of schools. Further, new posts are created for Digital Education, Media, Legal, Procurement etc. at State/district level; additional posts of Computer Programmers sanctioned in MIS; Civil works department reorganized for better functioning and management; and performance measurement based on defined KPIs have been introduced. After restructuring, JEPC now has a total of 1830 post as against a total post of 2446 before reorganization.
- g) **Examination Reforms:** State has initiated OMR based independent Annual Examination of class VIII to XII by independent body i.e., Jharkhand Academic Council (JAC). This also entails timely completion of all examinations including for classes VIII, IX, X & XII. For this purpose, provisions of CBSE evaluation process were adopted by JAC. Significant impact could be seen in the Class X and XII results due to these initiatives:

Class	2017-18	2018-19
Х	57.48%	72.99%
X (First Division)	39.30%	53.80%
XII (Science)	48.34%	57.00%
XII (Commerce)	67.49%	70.77%
XII (Arts)	76.62%	72.62%

- h) The State is carrying out Social Audit of Samagra Shiksha and Mid-Day Meal schemes through JSLPS and 1233 schools have been covered in Phase-I. State was requested to share the framework for the same with MHRD.
- i) State has taken steps for reorganization of schools with consolidation in 3 waysadministrative, degradation and physical.
- j) State has launched the Gyan Setu App for learning enhancement for Classes 2 to 9.

#### 3) <u>Review of Commitments and Expected Outcomes & Action Taken during 2019-20</u>

The progress made in implementing the commitments and expected outcomes given by the State in 2019-20 was reviewed and the status in respect of pending items is as under:-

Sl. No.	Commitments	Action Taken	Comments of the PAB 2020-21
1.	<b>Average PTR</b> is 80 at Secondary and 77 at Higher Secondary level. State would need to go for a rationalization of teachers especially in view of the reorganization of schools, to ensure availability of required number of teachers in all schools.	State government has appointed 8199 teachers in secondary schools and 1385 teachers in +2 schools. In addition, rationalisation of teachers between different schools has been done. The above has resulted in to enhancement of PTR in Secondary Schools at 43.37 and in Sr. Secondary at 60.61.	State should ensure availability of required number of teachers including subject teachers in all schools.
2.	<b>Teacher and Head Teacher</b> <b>Vacancy at Secondary</b> <b>level:</b> There are 6733 vacant posts of teachers and 1657 vacant posts of head teachers in Government Secondary schools which may be filled up on priority.	State Government has filled up 8199 vacant post of teachers in Secondary schools. Another 500+ teachers shall be recruited shortly. Some teachers have been promoted to the post Head teacher. Other teachers shall also be considered for promotion to Head teacher in near future.	Huge vacancies Head Teacher level is an area of concern. State should, thus, prioritize filling up of vacant posts of head teachers in Secondary Schools.

Sl. No.	Commitments	Action Taken	Comments of the PAB 2020-21
3.	<b>Civil Work:</b> Construction in 163 primary schools, 51 upper primary schools, 343 secondary schools, 458 Additional Classrooms (ACRs) at elementary level and 469 ACRs, 06 Science Labs, 16 Libraries, 02 Art/Craft Room, 63 Drinking Water, 326 Toilet Block and 02 Computer room at the secondary level has not started. State was asked to take up these pending civil works on priority.	At Primary level, out of the 163 Primary schools, the construction of 66 Primary Schools are in progress. 72 schools were enrolment is very low, have been merged due to which construction was not taken up. Similarly constructions of 51 Upper Primary Schools have not started as there were already excess classrooms. At secondary level, construction has started in 432 schools. Work is in progress for construction of 217 Additional Classrooms, and 6 Science Labs. While construction of 16 libraries and 2 Arts & Craft room have been completed. In addition, 63 drinking water and 326 toilets have been constructed in schools. Accordingly the data has been updated in the report.	State should take up all pending civil works on priority and update the data on PMS periodically.
4.	<b>Vacancy in DIETs:</b> As per the scheme 500 (@ 25 per DIET x 20 DIETs) academic posts are recommended. The State Govt. has sanctioned 312 Academic posts, out of which only 154 have been filled up. State was advised to fill up these vacancies on priority.	State is in process of filling up these vacancies in DIETs	State should ensure these vacancies are filled up at the earliest.
5.	<b>Vacancy in SCERT:</b> As per the scheme 45 academic posts are recommended in SCERT. The State Govt. has sanctioned 16 Academic posts, out of which only 10 have been filled up. State was advised to fill up these vacancies on priority.	Restructuring of SCERT is currently under process, after which State will start the recruitment process. At present, 18 academic posts have filled up on deputation with requisite qualification.	State was advised to complete the restructuring of SCERT and ensure existing vacancies are filled up on priority.

#### 4) <u>Review of performance during 2019-20</u>:

State has secured a score of 761 in Performance Grading Index (PGI) and was placed in Grade II. The Domain-wise Gaps in 2018-19 as compared to 2017-18 are shown below:

Veen	Category 1				Category 2	Total
Year	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2017-18	154	53	95	209	163	650
GAP	26	27	55	26	216	350
2018-19	156	64	98	198	245	761
GAP	24	16	52	32	115	239

State has shown commendable improvement in PGI from 2017-18 to 2018-19 and was encouraged to further take measures to reach the top grade.

- a) **Learning Outcomes and Quality (C-1, D-1):** State still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): State needs to focus on the Adjusted Net Enrolment Rate (ANER) at the Secondary level; Retention Rate at the Elementary and Secondary level; and take steps to ensure 100% transition rate.
- c) **Infrastructure & Facilities (C-1, D-3):** State needs to focus on provision of Computer Aided Learning (CAL) facilities; Vocational Education at Secondary & Higher Secondary Schools; and ensure timely delivery of text books and uniforms.
- d) **Equity Outcomes (C-1, D-4):** State needs to focus on accessibility for Children with Special Needs (CWSN) in all schools with provision of Ramps; Functional CWSN Toilets; and provision of Aids and Appliances.
- e) **Governance Processes (C-2, D-1):** State has shown maximum improvement under governance processes and was encouraged to further take measures to reach the top grade.

#### 5) Appraisal issues/ Commitments for 2020-21

Pending Work in Non-recurring/Spill Over: The year-wise details of pending non-recurring interventions under different components are as detailed in the table below. State was asked to take up these pending works on priority.

Particular	Year	Approved	Completed	In progress	Not started
Elementary Level					
Composite School for		71	0	0	41
Elementary		/1	0	0	41
Upgradation of PS to UPS (VI –		181	0	72	109
VIII)		101	0	72	109
Additional Classrooms (Upto Class VIII)*		2615	0	0	2538
Building Less Schools / Dilapidated Building*		79	0	0	74
CWSN Toilets (Upto Class VIII)	Up to 2019-20	412	0	0	412
Major Repair (Upto Class VIII)		218	0	0	218
Ramps and Handrails		447	0	0	447
Dilapidated Building (Primary)		12	0	0	12
Dilapidated Building (Upper Primary)		8	0	0	8
Secondary Level					
	2009-10	281	227	36	15
	2010-11	239	157	48	17
	2011-12	249	150	54	44
Construction of New School	2013-14	74	7	10	33
	2016-17	189	0	0	189
	Total	1032	541	148	298
	2009-10	48	48	0	0
	2010-11	618	611	7	0
Construction of Additional	2011-12	620	608	11	1
Class room	2013-14	128	120	8	0
	2018-19	814	0	781	33
	Total	2228	1387	807	34
	2009-10	24	24	0	0
	2010-11	102	100	0	2
	2011-12	162	162	0	0
	2013-14	48	48	0	0
Construction of Science Lab	2016-17	50	50	0	0
	2017-18	5	0	1	4
	2018-19	3	2	1	0
	2019-20	56	0	0	56
	Total	450	386	2	62
	2009-10	24	24	0	0
Construction of Computer	2010-11	228	228	0	0
Room	2011-12	282	280	0	2
	2013-14	69	69	0	0
	Total	603	601	0	2
	2009-10	24	24	0	0
Construction of Library Room	2010-11	136	136	0	0
	2011-12	233	225	2	6

				-	_
	2013-14	56	56	0	0
	2016-17	50	45	5	0
	2017-18	10	0	1	9
	2018-19	2	1	1	0
	Total	511	487	9	15
Construction of	2009-10	24	24	0	0
Art/Craft/Culture room	2010-11	207	207	0	0
	2011-12	284	282	1	1
	2013-14	83	82	0	1
	2018-19	7	5	2	0
	Total	605	600	3	2
	2009-10	24	23	0	1
	2010-11	117	80	0	37
Construction of Toilet Blocks	2011-12	215	156	13	46
(Girls & Boys toilet)	2013-14	75	36	0	39
(GITIS & DOYS tollet)	2014-15	195	20	0	175
	2016-17	32	4	0	28
	Total	658	319	13	326
	2009-10	24	24	0	0
	2010-11	10	7	0	3
	2011-12	53	41	0	12
Installation of Drinking Water	2013-14	61	37	0	24
C	2014-15	26	4	0	22
	2016-17	2	0	0	2
	Total	176	113	0	63
<b>Residential Schools &amp; Hostels</b>	L L			1	1
Residential Schools (New)	2018-19	7	2	0	5
Residential Hostels (New)	2018-19	16	0	0	16
Teacher Education			-		-
Establishment of Special Cell (SCERT)	2018-19	5	0	0	5
Equipment	2018-19 & 2019-20	20	0	9	11
Establishment of Institutions	2018-19	2	0	2	0
Technology Support to TEIs	2018-19	20	0	0	20
ICT and Digital Initiatives	· · ·		•	•	
Tablets/Laptop/Notebook/PCs	II 1	998	231	21	746
Operating System / Software	Up to	488	0	11	477
Furniture					
	2019-20	488	0	11	477
Kasturba Gandhi Balika Vidya			0	11	477
Kasturba Gandhi Balika Vidya Civil Works			0	0	86
	<b>laya (KGBVs)</b> Up to	488			
· · · · · · · · · · · · · · · · · · ·	<b>laya (KGBVs)</b> Up to	488			

\*Adjusted by incorporating 30 Primary School, 5 Upper Primary School and 77 ACRs at elementary level and 45 Upgraded Secondary School Buildings surrendered in 2020-21

- **High Dropout rate at Secondary and Senior Secondary level:** Dropout rate is higher at Secondary and Senior Secondary level i.e. 22.20 % and 10.8 %, respectively. State would need to take adequate measures to reduce the dropout rate and improve the retention rate.
- **UDAAN-** adolescent training for teachers for improved life skills- to be digitised and put up on DIKSHA.
- **Out of School CWSN:** In the age group 6-18 years, 72210 CWSN are out of school as against the total estimated enrolment of 1,25,149 (@ 2.5% approx.) i.e., only 42.30% CWSN are enrolled in Govt. and Govt. Aided Schools.
- Decline in Transition Rate: Transition rate has declined at each level and from secondary to higher secondary level it has declined by 14.04% i.e., 66.07 % for the year 2018-19. State would need to take steps to improve the transition rate at all levels.
- **Surplus Teachers at Elementary level:** There are 2,909 Surplus Teachers at Elementary Level. State would need to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.
- **Subject PTR at Secondary level:** Subject PTR at the secondary level is 379 for language, 811 for Mathematics, 1795 for Science and 1907 for Social Studies. State would need to ensure required number of subject teachers at the secondary level.
- Teacher and Head Teacher vacancy at Secondary level and at Upgraded Secondary Schools (2009-10 to 2017-18): There are 13,616 vacant posts of teachers and 1559 vacant posts of head teachers in Govt. Secondary schools and 5945 vacant posts of teachers and 1189 vacant posts of head teachers in Upgraded Secondary schools, which may be filled on priority.
- Subject Teacher and Head Teacher vacancy at Senior Secondary level: There are 3064 vacant posts of subject teachers and 661 vacant posts of head teachers in Govt. Senior Secondary schools which may be filled on priority.
- Implementation of Section 12 (1) (c): There are 107 schools (31 Specific category schools and 76 Private unaided schools) which are not complying with Section 12 (1) (C) of RTE Act 2009. In addition, around 25 thousand seats are vacant in schools complying with the provision. State must identify private schools which have received land, grant or any other support from Govt. at any point of time. Such schools are under the obligation of providing education to children without entitlement of reimbursement.
- Special training for OoSC: There are more than 2 thousand identified out of school children who remained uncovered in 2019-20. State should develop a mechanism to track out of school children once children are mainstreamed in age appropriate classes.

#### Vacancy of Academic positions in TEIs:

- i) Vacancy of academic positions in SCERT is 60 % with only 18 faculties in position (At present, there are 09 faculty members and 09 state resource group membersgovt. teachers on long-term deputation are working in JCERT as against a total sanctioned post of 45. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicator # 2.1.12.
- ii) Vacancy of academic positions in 23 Functional DIETs is 75% with only 151 faculties in position as against a total sanctioned post of 600 (25 Academic posts per DIET). These vacant posts need to be filled up on priority as it is also directly impacting PGI indicator # 2.1.12
- Vacancy in KGBVs: 5883 seats are lying vacant against the targeted girl's enrolment of 71050 in Type III KGBVs. State should ensure filling up of these vacancies in KBGVs. State to also take steps to arrest the large drop out from KGBVs in Classes XI and XII.
- Aspirational Districts: Data has not been uploaded for 19 aspirational districts for first quarter of 2020. Districts of Chatra, Latehar, Purbi Singbhum are having PTR more than 72. States to take steps for achieving the targets given for aspirational districts by MHRD.
- **UDISE+:** State was requested to complete the data entry of all schools along with verification for UDISE+ 2019-20 and remove the discrepancies pointed out by NIC immediately for UDISE+ 2018-19.

#### 6) <u>New Approaches 2020-21:</u>

During the year 2020-21, the new approaches are continued for enhancing the effectiveness of the Samagra Shiksha scheme and making it more outcomes oriented. These new approaches aim to engage all administrators, schools, teachers and children in activities which would enable to improve the learning outcomes and also measure the impact and outcome of various components under the scheme.

#### **6.1 In-service Teacher Training:**

The Department of School Education and Literacy launched a National Mission to improve learning outcomes at the Elementary level through an Integrated Teacher Training Programme called NISHTHA – National Initiative for School Heads' and Teachers' Holistic Advancement on 21st August, 2019. The aim of this integrated teacher training programme was to build the capacities of around 42 lakh teachers and Heads of Schools, faculty members of SCERTs and DIETs and Block Resource Coordinators and Cluster Resource Coordinators. A total of 23,137 KRPs and SRPs and 16,99,931 School Heads and Teachers have been trained under NISHTHA in 2019-20. In this regard, given the positive feedback received from the States and UTs regarding the effectiveness of the NISHTHA training programme at the elementary level particularly in terms of the effective transaction of comprehensive and well defined modules covering various aspects of teaching learning processes, it has been decided to launch NISHTHA- Phase II at the secondary level in order to have a coordinated and learning outcome based training programme. Teachers, Head Masters/Principals of Government and Government aided schools at secondary level will be covered in NISHTHA Phase-II.

However, the present situation of COVID-19 has presented new challenges for face to face training and also several opportunities to innovate, revamp and technology integration in In-service Teacher Training. Therefore, it has been decided that this year remaining training of NISHTHA at elementary level and NISHTHA Phase II training at Secondary level will be conducted online by the NCERT using high quality professionally made e-content following the four quadrant approach consisting of video, text, self-assessment and learn more.

In order to facilitate teachers to undertake online NISHTHA training, financial support upto Rs 1000 per teacher for procuring pen-drives with pre-loaded content and modules, printing of modules and high speed data-pack will be provided to Government teachers at elementary level and Government/Government aided teachers at secondary level on reimbursement basis and subject to successful completion of the training course.

#### 6.2 Special Initiatives under National campaigns:

#### (a) Ek Bharat Shreshtha Bharat (EBSB)

The following activities may be undertaken under the Ek Bharat Shreshtha Bharat initiative:-

- To foster national integration through linguistic, literary, cultural, sports, and other forms of people-to-people exchanges.
- Cultural diversity is to be celebrated through mutual interaction and reciprocity between students of different States and UTs.
- All the States and UTs have been paired. The paired States/UTs will delineate a set of activities they would carry out through the year.
- These activities include Ek Bharat Shreshtha Bharat Utsav, Talking Hour in morning assembly for news and information on paired State, Student's State Project Notebook, learning of alphabets and of folk songs, translation of proverbs and 100 sentences of paired State, inclusion of few pages in course book in the language of paired State, Know your paired State, Ek Bharat Shreshtha Bharat School Report, Themed Display Board and Wall Magazine, State Day celebration of paired States, Cultural Competition on paired State, Essay competition, Drama (on culture, history & tradition), Optional Classes on language of paired State and Ek Bharat Shreshtha Bharat annual report.

■ The schools are required to maintain a report on activities conducted under "Ek Bharat Shreshtha Bharat" in the form of quarterly and annual school report.

(b) Fit India Movement : The following activities may be undertaken:-

- FIT India School Weeks India
- Fitness Training for Teachers
- Annual Fitness Assessment of Students
- Recruitment of Physical Education Teachers and training the existing teachers in Schools
- A Month Wise activity calendar.
- Choose Fit India Blocks and Fit India Districts on the basis of suggested parameters.
- Daily Fitness Activities/ PT/Fitness session of 30 Minutes duration as a part of regular curriculum.
- Schools may utilize Government's sports facilities available in their respective State. A list of Government's sports facilities available in all the States/UTs has been shared with all the schools.
- Online Fit India Active Day daily sessions in coordination with CBSE and Fit India cell.
- All schools may be advised to participate in Fit India Ratings.

#### (c) Nagrik Kartavya Paalan Abhiyan :

- Debates, essay competitions, cultural programs, quiz competitions, seminars and lectures etc. may be held at State, District and school levels.
- State level essay, debate and quiz competitions on fundamental duties and themes related to constitution may be organized across the State, the winners at State level may be suitably rewarded.
- Reading of Preamble and Fundamental Duties.
- Organizing Mock Parliament.
- Public messages on Fundamental Duties for dissemination among students and staff during the celebrations. Brochures, pamphlets and e-posters on Fundamental Duties may be prepared in Hindi, English and regional languages and distributed in schools among students.
- Effective utilization of Government/Organisation websites and MyGov platform to encourage citizen centric activities on the prescribed theme. Students may be encouraged to participate in online quiz/ Olympiad competitions being organized by MyGov.
- Invite eminent personalities from different walks of life to disseminate the message of Fundamental Duties.
- Talks by eminent lawyers and legal scholars on Fundamental Duties and related themes may be organised in schools.

## State is advised to make their own action plan and calendar for the academic year for these programmes and share the same with MHRD.

#### 6.3 School Health Programme:

Government of India has launched "School Health Program" under Ayushman Bharat to strengthen health promotion and disease prevention, which encompasses comprehensive and evidence based health promotion in addition to offering age appropriate health education, health promotion activities, health screening, preventive services, documentation of health related data and better skills for emergency care.

The school health promotion activities are to be implemented in all the Government and Government-aided schools through the joint efforts and close coordination between Ministry of Health & Family Welfare and the Department of School Education & Literacy at all levels (Centre and State). The sessions may be preferably included in the time table and regular curriculum of the classroom teaching.

Two teachers, preferably one male and one female, in every school designated as "Health and Wellness Ambassadors" will be trained to transact health promotion and disease prevention in the form of interesting activities for one hour every week on Health and Wellness Day. These health promotion messages will also have bearing on improving health, hygiene and sanitary practices in the country as students will act as Health and Wellness Messengers in the society.

## 6.4 COVID- 19 Response: Ensuring safety and security in schools and Digital learning in view of the Covid-19 situation

In the year 2020-21, the COVID-19 pandemic has caused an unprecedented public health emergency; affecting 210 countries and territories globally. The spread of COVID -19 has imposed national lockdown leading to nationwide closure of the educational institutes as India prepares to fight against the pandemic. Precautions are necessary to protect students and educational facilities from the potential spread of COVID-19 in school environment, while at the same time ensuring minimum disruption in learning.

For this, various interventions under Samagra Shiksha need to be realigned to manage the crisis with specific emphasis on **learning processes and safety & security of children**. The funding provided for various components under Samagra Shiksha may be utilised to deal with the current situation based on the following guidelines:

#### I. LEARNING PROCESSES:

- 1) Digital teaching learning process to be undertaken under Teacher training, DIKSHA/Digital content creation and Learning Enhancement Programmes (LEP) components.
  - (i) Training of Teachers on Safety and e-learning aspects.

- Online NISHTHA training modules will be prepared for teacher training by NCERT.
- Teachers may be sensitized and oriented about the safety measures such as social distancing norms, sanitization requirements, tracking of students' health etc.
- Periodic check-ins and mentoring sessions between teachers and academic resource persons may be organized by State SCERTs/SIEs and DIETs, by collaborating with NCERT if required.
- Strategy for online training of teachers may be designed, where teachers are guided on teaching methodologies through live-streaming of online tutorials and MOOCs through NISHTHA and DIKSHA platform.
- Teachers may be provided with a platform to share their experiences, ideas, best practices, issues and concerns related to e-learning.

#### (ii) Promotion of e-learning platforms

- Use of e-learning Platforms like DIKSHA, e-Pathshala, SWAYAM, SWAYAM Prabha, NROER and NISHTHA may be promoted among teachers and students.
- Digital and Online education guidelines **'PRAGYATA'** prepared by MHRD may be referred.
- Academicians, NGOs, Teachers may be encouraged to develop and contribute content in line with the State/UT curriculum (Vidyadaan). The content to be further uploaded on DIKSHA after requisite curation and approvals by SCERTS.
- SCERTs to develop guidelines on the usage of various available e-learning platforms, regarding the sample schedule of the sessions to be conducted online (time table) and number of hours of usage. *Guidelines should also include how study@home can be undertaken and daily or weekly timetables may be issued.*
- The teachers can conduct virtual classrooms/discussions. The classroom sessions should be either live streamed or recorded. Queries and doubts of students should be adequately answered.
- The planning of the access should be done such that no child is left behind. State/UT governments may ensure that learning content is accessible to the needs of CwSN. In areas with low internet connectivity, the State Government should deliver the content through Radio and TV to reach the remotest location. Use of mother tongue/local language may be enabled where possible. The State Government may tie up with telecom services to increase access by improving connectivity, lowering costs and increasing coverage to mitigate access inequities.
- A mechanism may be developed to provide textbooks and Supplementary print materials to all children at home through Block Resource Persons and Cluster

Resource Persons and also shared with students through WhatsApp, SMS etc. to keep them engaged at home.

- Based on the alternative academic calendar prepared by NCERT, SCERT should make specific academic plans for their schools including the planning for transaction of curriculum, formative and summative assessments.
- There may be cases where parents / guardians are not in a position to support learning of students. Adequate remedial measures should be adopted after opening of school accordingly.

#### II. SAFETY AND SECURITY OF CHILDREN

1) Community Mobilization and SMC training

Funding under community mobilisation and SMC training can be utilised to ensure safety and security measures for children. SMC members may be made fully aware about the present COVID situation to create awareness among the Students, parents and their role as stated below:

#### (i) Awareness on COVID-19

- Basic information about COVID-19, including its symptoms, complications, improving immunity, how it is transmitted and how to prevent transmission should be disseminated.
- Parents should be sensitized and encouraged to play the role of a facilitator in their child's learning activity and safety. The sensitization sessions/ workshops to be conducted via SMCs, PTMs, WhatsApp or telephonic sessions by the teachers.
- Awareness about the fake information/myths must be ensured. The information should be from reliable sources like Ministry of Human Resource Development, Ministry of Health and Family Welfare, ICMR, WHO and UNICEF.
- Parents should be encouraged to take medical assistance in case of any symptoms and in case the child is sick, she/he should stay safe at home.
- Parents should notify the school of the child's absence and symptoms.
- Parents should follow and ask their child to follow good hygiene habits.

#### (ii) Psychological support to their wards

- Parents should be sensitized to respond to child's reactions in a supportive way and explain to them that they are having normal reactions to the present situation.
- Counsellor (teacher) should be roped in for guidance and counselling.
- Manodarpan App and call centre maybe used for counselling purposes.
- Students should be guided to:

- ✓ Undertake activities like painting, reading story books, writing stories, poems along with academics so that they can learn new skills or enrich their present skills.
- ✓ Take break from watching, reading, or listening to social media news. Hearing about the pandemic repeatedly can be upsetting.
- ✓ Take care of themselves by doing stretching, deep breathing exercises meditation and yoga.
- ✓ Improve immunity by eating healthy, well-balanced meals, exercise regularly, getting plenty of sleep.
- ✓ Spend time with family members.

NCERT is developing comprehensive guidelines and modules in this regard and the same may be made available as part of their calendar by the State SCERTs/SIEs and DIETs.

#### III. School Sanitization under Composite School Grant

- (i) Safe School Operation, Sanitation and Quarantine (Physical Infrastructure)
- a. Provision of basic facilities
- Schools to ensure basic WASH facilities which includes separate washrooms for boys and girls, hand washing stations and safe drinking water facility for all.
- Ensure availability of essentials like soap, alcohol rub/hand sanitizer or chlorine solution, disinfection and cleaning material in the school.
- b. Sanitization of school facilities
- Sanitization and disinfection should be conducted regularly covering all areas of the school campus and ensure air flow in indoor space.

WHO recommends use of sodium hypochlorite at 0.5% (equivalent 5000ppm) for disinfecting surfaces and 70% isopropyl alcohol for disinfection of small items, and ensure appropriate equipment for cleaning staff.

#### The States may converge with the health department for requisite support.

#### **Key Points:**

- Detailed guidelines and modules on Covid-19 response is being framed by the Ministry which will be shared separately.
- Funding provided under Teacher Training, Learning Enhancement Programme, DIKSHA to be utilized for continuing the e-learning processes.
- Funds for Thermal Screening facilities in schools may be availed from the MMER/Composite School Grant.
- Funds under Community mobilization & SMC training to be utilized for creating awareness about various aspects of COVID-19 among SMCs, parents, children and society.
- Funds under Swachhta Action Plan component, Composite School Grant/ Safety & Security can be utilized for sanitization of schools.

**6.5** A district level Performance Grading Index (PGI) for measuring performance of districts on various educational indicators including improvement of learning outcomes, access and equity and governance will be launched for which the format & detailed guidelines will be shared separately.

#### 7) <u>Total Estimated Budget (2020-21)</u>

The estimates for the AWP&B for 2020-21 under Elementary, Teacher Education and Secondary are as under:

Head	Spill over	Non-Recurring (Fresh)	Recurring * (Fresh)	(Rs. in lakh)
Elementary	4017.172	3392.94	193371.39	200781.50
Secondary	28029.438	2601	9514.89	40145.33
Teacher Education	812.36	0	507.77	1320.13
Total	32858.97**	5993.94	203394.05	242246.96

\*Includes Programme Management (MMER)

\*\*After adjusting for surrender of Civil Works Rs. 335.82 lakh at the elementary level and Rs. 2677.08 lakh at the secondary level.

#### 8) Actual Releases by GOI during 2020-21

Against the above estimates, **Central Government shall provide to the State Government, Rs. 900.18 crore as its share (Rs. 824.59 crore for elementary, Rs. 72.90 crore for secondary & senior secondary and Rs. 2.69 crore for Teacher Education). The State would contribute Rs. 600.12 crore as its State share matching** the above Central share as per the existing fund sharing pattern of Samagra Shiksha. States and UTs will also be able to utilise their unspent balances as on 31<sup>st</sup> March, 2019 for the activities approved in 2019-20 including spill over.

Based on the demand of funds projected by the State for 2020-21, the tentative share of recurring and non-recurring grants is given below:

(Rs. In lakh)

Component	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	81684.41	4154.71	187.77	86026.89
Non-recurring	774.59	3135.29	81.23	3991.11
Total	82459.00	7290.00	269.00	90018.00

The Balance of the outlay (i.e. Rs. 32858.97 lakh) approved under Non-recurring components in previous years which is not spent fully, is the outlay saved/spill

over for the subsequent year (i.e. 2020-21). Against the above Spill over, the committed liability of Department of SE&L is Rs. 34640.00 lakh (Rs. 3047.42 lakh for Elementary, Rs. 31072.78 lakh for Secondary and Rs. 519.80 lakh under Teacher Education after surrender) keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

The following activities may be prioritised while incurring the expenditure:

- i) RTE entitlements
- ii) Quality initiatives including ICT, VE and TE
- iii) School Grants
- iv) Gender & Equity and inclusive education.
- v) Completion of pending civil works/spill over.

# There are likely to be savings under the scheme. Therefore, supplementary PAB meetings may be considered separately sometime in the month of October-November, 2020, to consider the additional requirements of States and UTs.

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 14th Finance Commission.

The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2020-21.

The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2020-21 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and

CRCs which forms the portion of Teacher Education activities as well as for Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha.

9) <u>Release of Funds:</u>

The release of funds under the scheme will be further guided by the instructions contained in MHRD D.O. letter No. 2-4/2019-IS-2 dated 15.05.2020 read with D.O. letter No. 25(13)/E.Coord/2020 dated 04.05.2020 from Dr. T.V. Somanathan, Secretary (Expenditure), Dept. of Expenditure, Ministry of finance and the following conditions:

- a) State should release/transfer the central share to State Implementing Society **within 15 days** of its receipt in the State Treasury.
- b) The State share should be released to the State Implementing Society **within 30 days** of the release of the central share.
- c) All releases by the Centre would be subject to fulfilment of provisions of GFR by the State. The procurement guidelines as prescribed in the FM&P Manual should be adhered to and all procurement activities by the States and UTs should be routed through GEM portal.
- d) All guidelines issued by MHRD regarding utilisation of funds under the scheme will be followed.
- e) The release of central share of funds to all the States and UTs is subject to fulfilling the submission of documents, reports, financial statements as prescribed in the Samagra Shiksha FMP Manual.
- f) The ad-hoc amount of instalment will be released to the eligible States during April June, 2020.

## As regards the balance of funds to be released towards 1<sup>st</sup> instalment and 2<sup>nd</sup> instalment, the conditions to be fulfilled are as under:

## The 1<sup>st</sup> Instalment would be released only after proposal for release of first instalment is received from State Government along with:

- Approval of Annual Plans by PAB;
- Transfer of GOI share of previous year to SIS from State Treasury;
- Release of commensurate State share for previous year; and release of full GOI share of ad-hoc release of Central Government to SIS along with matching State share by State Government.
- Submission of provisional UC for previous year. The utilization certificate should be duly countersigned by the Administrative Secretary/ Finance Secretary
- Confirmation of State towards provisions of matching State share in the State Budget for the current financial year.

- Provisional Expenditure Statement of the current year
- Statement of Outstanding Advances Accrued, adjusted and pending till date.
- Physical Progress of Civil Works up to March 2020

#### The 2<sup>nd</sup> instalment would be released only after:

- Request letter is received from State/UT for release of 2nd instalment.
- Latest expenditure statement (Capital Head and General Head separately) of the State Implementation Society for 2020-21 for EE, SE and TE components. Expenditure statement should indicate the release of GoI share from previous installment to SIS from Treasury.
- Final Utilization Certification (Capital and General Head separately and on separate pages) for the year 2019-20 for EE, SE and TE components, along with consolidated Audited UCs separately for General Head and Capital Head, must contain General component, SC component and ST component-wise financial details. The audited UCs should be counter signed by Administrative Secretary of the Department/Finance Secretary.
- Statement showing cumulative status of State share since inception of SSA, RMSA and TE.
- Audit report of Samagra Shiksha for the year 2019-20.
- Statement showing details on outstanding advances accrued, adjusted and pending till date for EE, SE and TE components.
- Action taken report on the Pending Audit observations for SSA and RMSA.
- Documents relating to creation of combined State Implementing Society (SIS) for implementation of Samagra Shiksha.
- Receipt of Central Share of balance of 1st instalment by SIS.
- Receipt of Central Share along with matching State share of 1st instalment by SIS.
- Physical progress report of Civil Works.
- Latest Annual Report.
- All procurement activities are to be carried out invariably through the GEM portal only.

These minutes have been designed as a working document to be implemented and monitored throughout the year. They include the focus areas and new approaches of MHRD which have been deliberated in detail in the PAB meetings. The objective of this is to have emphasis on quality of education and real time monitoring of activities under Samagra Shiksha through UDISE+, PGI, Mobile Apps, and Field Inspections. Many activities are shown separately for elementary and secondary due to different budget sub-heads. State specific projects are shown separately for clarity and monitoring purposes. **State will provide details of the Districts, Blocks and Schools, along with UDISE code where the activities have been conducted.** The minutes also include expected outcomes for each activity which will help States and UTs in assessing their performance.

#### 10) Activity wise details and estimates approved:

**1)** <u>Residential School/Hostels (Elementary)</u>: An outlay of Rs. 919.00 lakh was estimated as recurring grant for 100 Capacity Residential hostels for various activities for elementary level.

		(	Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Residential Schools - Recurring (Previous Year) (Capac	ity 100)		
Maintenance per child per month	2000	0.180	360.00
Stipend per child per month	2000	0.012	24.00
Supplementary TLM, Stationery and other educational material	2000	0.010	20.00
1 Warden	20	3.000	60.00
4 - 5 Fulltime teachers as per RTE Norms	80	2.400	192.00
3 Part time teachers	60	1.200	72.00
1 Full time Accountant	20	1.200	24.00
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	40	0.600	24.00
1 Head Cook	20	0.720	14.40
2 Assistant Cook	40	0.540	21.60
Specific Skill training	2000	0.010	20.00
Electricity / water charges	2000	0.010	20.00
Medical care/contingencies	2000	0.0125	25.00
Maintenance	2000	0.0075	15.00
Miscellaneous (day to day expenses, stationary, toiletries, etc.)	2000	0.0075	15.00
Capacity Building	2000	0.005	10.00
Physical / Self Defence Training	2000	0.001	2.00
		Total	919.00

**Outcome:** This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

#### 2) Infrastructure and Civil Works

a) Surrender of Civil Works: State has surrendered Civil Works amounting to a total of Rs. 3012.90 lakh i.e., 30 New Schools, 5 Upper Primary School buildings and 77 Additional Classrooms @ Rs. 335.82 lakh at the Elementary level and 45 secondary schools @ Rs. 2677.08 lakh. The detailed list for surrender of Civil Works is at *Annexure- II*.

**b) Strengthening of existing schools at Elementary:** An outlay of Rs. 992.94 lakh was estimated for CWSN toilets for elementary level. List of schools is at *Annexure- III*.

			(Rs. In lakh)		
Activity Master	Physical	Unit Cost	Financial		
Strengthening of Schools - Recurring (up to Highest Class VIII)					
CWSN Toilets (Upto Class VIII)	494	2.01	992.94		
		Total	992.94		

**Outcome:** This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

#### 3) <u>RTE Entitlements (Elementary)</u>

**a) Free Uniforms**: An outlay of Rs. 20386.50 lakh was estimated for providing free uniforms to 3397765 children at elementary level @ Rs. 600 each, thereby covering all eligible children, as per norms of Samagra Shiksha. The details are as under:

			(Rs. in lakh)
Activity Master	Physical (Children)	Unit Cost	Financial
All Girls	2007032	0.0060	12042.192
ST Boys	591897	0.0060	3551.382
SC Boys	338285	0.0060	2029.71
BPL Boys	460551	0.0060	2763.306
Total	3397765		20386.59

**Outcome:** 100% coverage of all eligible children within 3 months of start of academic year. This is covered under PGI Indicator 1.3.10.

**b) Free Textbooks**: An outlay of Rs. 12753.32 lakh was estimated as per the unit costs mentioned below for free textbooks including Braille and large print books at elementary level as per norms of the scheme.

-			(Rs. in lakh)
Activity Master	Physical (Children)	Unit Cost	Financial
Text Books (Class I - II)	1070072	0.0025	2675.18
Braille Books (Class I – II)	412	0.0025	1.03
Large Print Books (Class I – II)	801	0.0025	2.0025
Text Books (Class III - V)	1747308	0.0025	4368.27
Braille Books (Class III - V)	557	0.0025	1.3925
Large Print Books (Class III - V)	1270	0.0025	3.175
Text Books (Class VI - VIII)	1423879	0.004	5695.516

Braille Books (Class VI – VIII)	499	0.00388	1.93612
Large Print Books (Class VI - VIII)	1213	0.00397	4.81561
Total	4246011		12753.32

**Outcome:** 100% coverage of all eligible children within 1 month of start of academic year. This is covered under the PGI Indicator 1.3.11.

c) Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry Level): An outlay of Rs. 600.07 lakh was estimated for reimbursement of Fee against 25% admission under Section 12(1)(C) of RTE Act 2009 for admission of 11766 children, as per norms of the scheme.

			(Rs. in lakh)
Activity Master	Physical (Children)	Unit Cost	Financial
Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009			
Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009	11766	0.051	600.07
		Total	600.07

**Outcome:** This would facilitate equity among various socially disadvantaged groups and weaker sections as well as access to quality education to children belonging to weaker section and disadvantaged group.

**d)** Special Training for age appropriate admission of out-of-school children (OoSC)-An outlay of Rs. 853.84 lakh was estimated for age appropriate admission of 12854 OOSC, as per norms of the scheme.

			(Rs. in lakh)
Activity Master	Physical (Children)	Unit Cost	Financial
Special Training for OoSC			
9 Month (Non-Residential - Fresh)	8701	0.045	391.545
9 Month (Residential - Fresh)	2240	0.15	336.00
9 Month (Residential – Previous Year)	383	0.15	57.45
9 Month (Non-Residential - Migrant)	1530	0.045	68.85
Total	12854		853.84

**Outcome:** Mainstreaming of out of School Children and improving enrolment rate at elementary level. This is covered under PGI Indicator 1.2.1 and 1.2.8.

#### 4) Media and Community Mobilization (Elementary)

An outlay of Rs. 491.295 lakh is meant for Community Mobilization activities @ Rs. 1500 per school.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Elementary)			
Media & Community Mobilization	32753	0.015	491.295
		Total	491.295

#### 5) Training and meetings of SMC (Elementary)

An outlay of Rs. 982.59 lakh @ Rs 3000 per school was estimated under SMC training. This includes provision for conducting/convening of SMC meetings on a single notified date by the State once in every quarter and incentivising nominated parents for attending the SMC meeting regularly.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Training for SMC (Elementary)			
Training of SMC	32753	0.03	982.59
		Total	982.59

**Outcome:** The SMCs will hold quarterly meetings. This will also help to generate awareness about the scheme, and making the members aware about the precautions to be taken by schools for safety and security of children in schools for prevention of spread of any infection. The guidelines and training modules are being prepared by NCERT that will be available in both offline and online modes.

#### 6) Media & Community Mobilisation (Secondary):

An outlay of Rs. 40.41 lakh is meant for Community Mobilization activities @ Rs. 1500 per school.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Secondary)			
Media & Community Mobilization	2694	0.015	40.41
		Total	40.41

#### 7) Training and Meetings of SMDCs (Secondary)

A total outlay of Rs. 80.82 Lakh @ Rs. 3000 per school was estimated under SMDC training. This includes provisions for conducting/convening of SMDC meetings on a single notified

date by the State once in every quarter, incentivising nominated parents for attending the SMDC meeting regularly.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Secondary)			
SMDC Training	2694	0.03	80.82
		Total	80.82

**Outcome:** The SMCs will hold quarterly meetings which will also help to generate awareness about the scheme.

#### 8) <u>Quality Interventions:</u>

**a)** Learning Enhancement Programme/ Remedial teaching (Elementary): An outlay of Rs. 7253.51 lakh as per the unit cost given below was estimated for reading enhancement programme, remedial material and teaching activities. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

			(Rs. in lakh)
Activity Master	Physical	Unit Cost	Financial
Foundational Literacy & Numeracy			
Reading Enhancement Programme	1064164 (Students)	0.0025	2660.41
		Total	2660.41
LEP (Class III – V)			
Early Mathematics Kit by NCERT	32793 (Students)	0.02737	897.54
Remedial Teaching	347983 (Students)	0.005	1739.92
		Total	2637.46
LEP (Class VI – VIII)			
Mathematics Kit for Upper Primary schools by NCERT	5808 (Students)	0.01661	96.47
Remedial Teaching	283099 (Students)	0.005	1415.50
Science Kit (without Microscope) for Upper Primary schools by NCERT	5808 (Students)	0.07639	443.673
		Total	1955.64
Total of LEP (Class I - VIII)			7253.51

**b)** Learning Enhancement Programme/ Remedial teaching (Secondary): An outlay of Rs. 786.39 lakh as per unit cost given below was estimated for providing LEP/Remedial teaching and for classes IX to XII. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

			(Rs. in lakh)
Activity Master	Physical	Unit Cost	Financial
LEP (Class IX – XII)			
Remedial Teaching	157278 (Students)	0.005	786.39
Total of LEP (Class IX - XII)			786.39

**Outcome:** The interventions at (a) and (b) above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

**c)** Assessment at State level (Elementary): An outlay of Rs. 32.64 lakh was estimated for conducting training programme and TA DA provision of Field Investigators for the National Achievement Survey in 2020 for classes 3, 5 and 8.

(Rs. in lakh)

Activity Master	Physical (Districts)	Unit Cost	Financial
National Achievement Survey (Elementary)			
NAS	24	1.36	32.64
Total			32.64

**d)** Assessment at State level (Secondary): An outlay of Rs. 15.36 lakh was estimated for conducting training programme and TA DA provision of Field Investigators for the National Achievement Survey in 2020 for class 10.

(Rs. in lakh)

Activity Master	Physical (Districts)	Unit Cost	Financial
National Achievement Survey (Secondary)			
NAS	24	0.64	15.36
Total			15.36

**Outcome:** This would enable the State to formulate appropriate strategies for improving the performance of students and is covered under PGI indicators 1.1.1 to 1.1.9.

**e) Composite School Grant (Elementary):** An outlay of Rs. 11562.00 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 32809 schools including 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

			(RS. III Iakii)
Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class VIII)			

(D - :-- 1 - 1 - 1 - )

School Grant - (Enrol 1- 15)	600	0.12	72.00
School Grant -(Enrol >15 - 100 )	21223	0.25	5305.75
School Grant - (Enrol > 100 and <= 250 )	8234	0.5	4117.00
School Grant - (Enrol > 250 and <= 1000 )	2739	0.75	2054.25
School Grant - (Enrol > 1000)	13	1.00	13.00
Total	32809		11562.00

f) Composite School Grant (Secondary): An outlay of Rs. 1855.70 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 2684 schools including 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class X or XII)			
School Grant (Enrol 1- 15)	6	0.12	0.72
School Grant -(Enrol >15 - 100 )	158	0.25	39.50
School Grant - (Enrol > 100 and <= 250 )	493	0.5	246.50
School Grant - (Enrol > 250 and <= 1000 )	1832	0.75	1374.00
School Grant - (Enrol > 1000)	195	1.00	195.00
Total	2684		1855.70

**Outcome:** This would facilitate in improving school environment and adopt the Swachhta Action Plan effectively and is covered under PGI indicators 1.3.9, 1.4.15 and 1.4.16.

**g)** Library Grant (Elementary): An outlay of Rs. 2139.03 lakh as per unit cost given below was estimated for library grants in 32753 schools.

				(Rs. in lakh)
Activity Master		Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class VIII)				
Composite Elementary Schools (I – VIII)		11556	0.13	1502.28
Upper Primary Schools (VI – VIII)		12	0.1	1.20
Primary Schools (I – V)		21185	0.03	635.55
	Total	32753		2139.03

**h)** Library Grant (Secondary): An outlay of Rs. 396.85 lakh as per unit cost given below was estimated for library grants in 2694 Secondary/Higher Secondary schools.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class XII)			
Composite Secondary Schools (Class I - X)	1447	0.15	217.05
Schools with Class VI - XII	408	0.15	61.20
Secondary Schools (Classes IX & X)	310	0.1	31.00
Composite Secondary Schools (Class IX - XII)	291	0.15	43.65
Composite Senior Secondary Schools (Class I - XII)	165	0.2	33.00
Schools with Class VI - X	73	0.15	10.95
Total	2694		396.85

The funds for both (g) and (h) should be utilized in accordance with the detailed guidelines issued by MHRD dated 03.10.2018 as amended by letter dated 21.01.2020.

#### Best stories and best initiatives developed by States and UTs will be recognised and rewarded.

**Outcome:** The above intervention is meant for improving the reading habits of children as emphasized in Padhe Bharat Badhe Bharat and is covered under PGI indicators 1.3.4 and 1.3.6, 1.1.2 to 1.1.9).

i) Rashtriya Avishkar Abhiyan (Elementary): An outlay of Rs. 240.00 lakh as per unit cost given below was estimated for Rashtriya Aavishkar Abhiyan (RAA) for Upper Primary level. The State may also refer to detailed guidelines issued by MHRD for Rashtriya Avishkar Abhiyan.

			(Rs. in lakh)	
Activity Master	Physical	Unit Cost	Financial	
Rashtriya Avishkar Abhiyan (Elementary)				
Exposure visit outside State	2400 (Students)	0.1	240.00	
		Total	240.00	

**Outcome**: This will help in improving overall performance in terms of PGI indicators 1.1.7 and 1.1.8.

i) Rashtriya Avishkar Abhiyan (Secondary): An outlay of Rs. 120.00 lakh as per unit cost given below was estimated for Rashtriya Avishkar Abhiyan (RAA). The State may also refer to detailed guidelines issued by MHRD for Rashtriya Avishkar Abhiyan.

			(Rs. in lakh)
Activity Master	Physical	Unit Cost	Financial
Rashtriya Aaviskar Abhiyan (Seconda	ry)		

Activity Master	Physical	Unit Cost	Financial
Exposure visit outside State	1200 (Students)	0.1	120.00
Total			120.00

**Outcome**: This would strengthen student's ability to handle competitions. This is covered under PGI indicator No.1.2.5, 1.2.7, 1.3.2.

**k) Sports and Physical Education (Elementary):** An outlay of Rs. 1869.01 lakh as per unit cost given below was estimated for 21185 primary schools and 11568 upper primary schools for Sports Grants.

			<u>(Rs. in lakh)</u>
Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class VIII)			
Sports & Physical Education (Primary Schools)	21185	0.05	1059.25
Sports & Physical Education (Upper Primary Schools )	11568	0.07	809.76
Total			1869.01

I) Sports and Physical Education (Secondary): An outlay of Rs. 188.58 lakh as per unit cost given below was estimated for sports & physical education at 1830 Secondary and 864 Sr. Secondary level.

			(Rs. in lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class X	I <b>I)</b>		
Sports & Physical Education (Secondary)	1830	0.07	128.10
Sports & Physical Education (Sr. Secondary)	864	0.07	60.48
Total			188.58

The utilization of the funds for sports and physical education at paras (k) and (l) above needs to be in accordance with the detailed guidelines issued by MHRD in 24.12.2018. The following points needs to be kept in mind:

- Age appropriate sports equipment for government schools may be procured as per the guidelines issued by this Department to the States & UTs. The States & UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school.
- Age appropriate sports activities may be organized in the Government schools of States & UTs as per the guidelines to be issued by this Department.

- Schools may include traditional/regional games of the respective State/Region. For maintaining workable stock position of sports equipments, periodic record may be maintained including workable equipment, repairable equipment, write-off equipment and new items to be purchased to maintain the required stock position.
- One responsible person/PET/Teacher-in-charge may be given the responsibility to take care of the equipment and maintaining the stock position of sports equipment in the school.

**Outcome:** The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

**m)** School Safety Programme (Elementary): An outlay of Rs. 943.43 lakh @ Rs.1000 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education. Further, an amount of Rs.164.05 lakh @ Rs. 500/- per school has been estimated for safety and security measures for children in every school in this regard.

			(Rs. in lakh)
Activity Master	Physical	Unit Cost	Financial
Quality Components			
Funds for Safety & Security	32809 (Schools)	0.005	164.05
Orientation of teachers on safety and security	94343 (Teachers)	0.01	943.43
		Total	1107.48

**n)** School Safety Programme (Secondary): An outlay of Rs. 201.41 lakh @Rs.1000 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education. Further, an amount of Rs.13.75 lakh @ Rs. 500/- per school has been estimated for safety and security measures for children in every school in this regard.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Quality Components			
Funds for Safety & Security	2750 (Schools)	0.005	13.75
Orientation of teachers on safety and security	20141 (Teachers)	0.01	201.41
		Total	215.16

**o) Support at Pre-Primary Level (Elementary**): At pre-school level, support for TLM to children, designing of State specific curriculum and revision of Pre-Primary Textbooks in alignment with NCERT curriculum and training of pre-primary teachers. An amount of Rs. 240.00 lakh as per unit cost given below was estimated for support for pre-primary classes in primary schools in the state.

			(Rs. In lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Pre-Primary (Recurring)			
Support at Pre-Primary Level	2400	0.10	240.00
		Total	240.00

p) ICT and Digital Initiatives (Elementary): An outlay of Rs. 2850.00 lakh as per detail given below was estimated for ICT and Digital Initiatives for 375 elementary schools. The list of 375 Schools is at Annexure- IV (a).

			(Rs. In lakh)	
Activity Master	Physical (Schools)	Unit Cost	Financial	
Non Recurring Components (upto Highest Class VIII) – NR				
Tablets/Laptop/Notebook/PCs/Smart Classrooms	375	6.4	2400.0	
	Total Non-	2400.00		
Recurring Components (upto Highest Class VIII)				
Recurring Cost (ICT & Digital Initiatives) New	375	1.20	450.0	
Total of Recurring			450.00	
Total of ICT and Digital Initiatives			2850.00	

**q) ICT and Digital Initiatives (Secondary):** An outlay of Rs. 4463.49 lakh as per detail given below was estimated for ICT and Digital Initiatives for secondary/higher secondary schools. The list of 351 Schools is at *Annexure- IV (b)*.

			(Rs. In lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Non-Recurring Components (upto Highest Class XII) – NR			
Tablets/Laptop/Notebook/PCs/Smart Classrooms	351	6.40	2246.40
Total Non- Recurring			2246.40
Recurring Components (upto Highest Class XII)			
Recurring Cost (ICT & Digital Initiatives) New	351	1.20	421.20
Recurring Cost (ICT & Digital Initiatives) Previous Year	74	2.40	177.60

Activity Master	Physical (Schools)	Unit Cost	Financial
Reimbursement (ICT)	900	1.7981	1618.29
Total of Recurring			2217.9
Total of ICT and Digital Initiatives			4463.49

The utilization of these funds needs to be in accordance of the detailed guidelines issued by MHRD.

### All purchase from central fund should be made through GEM to ensure effective prices and standardized equipments.

The following points need to be kept in mind during procurement:

- Inventory of each item will be maintained by the school and the concerned school Principal will be the in-charge for ensuring that all hardware and software has been marked as inventory items. The record of ICT inventory, school wise, has to be maintained online and made available to MHRD as and when required.
- The funds may be utilised for setting up ICT labs/ smart classrooms.
- Teachers should be encouraged to make use of e-learning platforms like DIKSHA, E-Pathshala, Swayam, Swayam Prabha, NROER, NISHTHA, O-labs etc.
- Teachers to be encouraged to contribute content to DIKSHA Portal.
- States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- In order to ensure that computers installed in the schools are being used regularly, software which indicates when the computers are turned on or off, linked to the State server must be put in place.
- As per IT Act 2000, it has to be ensured that effective firewalls and appropriate control filters and monitoring software mechanism are installed in all computers in schools. Please consult local NIC for installing a govt. approved, free firewall.

**Outcome:** Number of schools having ICT coverage and functioning of number of Secondary/Higher Secondary schools. This will improve PGI indicator No. 1.3.3.

#### r) Training for In-service Teachers and Head Teachers (Elementary):

An outlay of Rs. 228.86 lakh was estimated for online NISHTHA training of remaining teachers at the elementary level @ Rs. 1000 per teacher for procuring pen-drives with preloaded content and modules, printing of modules and high speed data-pack on reimbursement basis and subject to successful completion of the training.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
In-Service Training ( Class I – VIII)			
Class I to VIII	22886 (Teachers)	0.01	228.86
Total of In-Service Training (Class I – VIII)	22886		228.86
Training of Key Resource Persons (Elementary)			
KRPs Travel/Accommodation	0	0	0
Total of Training of Resource Persons & Master Trainers (Elementary)			0
	Gra	and Total	228.86

#### s) Training for in-service Teachers and Head Teachers (Secondary):

An outlay of Rs. 50.65 lakh was estimated for online NISHTHA Phase II training @ Rs. 1000 per teacher for procuring pen-drives, printing of modules and high speed data-pack for Government/Government aided teachers at secondary level on reimbursement basis and subject to successful completion of the training.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
In-Service Training (IX - XII )			
Language Training	2129 (Teachers)	0.01	21.29
Maths Training	1053 (Teachers)	0.01	10.53
Science Training	981 (Teachers)	0.01	9.81
Social Science Training	851 (Teachers)	0.01	8.51
Total of In-S	Service Training (IX	- XII )-A	50.14
Training of Resource Persons & Master Train	iers		
Key Resource Persons (KRPs) Language Training for Class IX to X	21 (KRPs)	0.01	0.21
Key Resource Persons (KRPs) Maths Training for Class IX to X	11 (KRPs)	0.01	0.11
Key Resource Persons (KRPs) Science Training for Class IX to X	10 (KRPs)	0.01	0.10
Key Resource Persons (KRPs) Social Science Training for Class IX to X	9 (KRPs)	0.01	0.09
Total of Training of Resource Persons & Master Trainers -B			0.51
KRPs Travel/Accommodation Under NISHTHA (Class IX to X)	0	0	0
Printing of NISHTHA Teacher Training Package (Class IX to X)	0	0	0
Total of Print	ing Module & Travel	etc. (C)	0
Total of Training for In-service Teacher and Head Teachers (A+B+C)			50.65

**Outcome:** This activity would help in overall improvement in Teacher Performance and consequent improvement in Quality including Learning Outcomes and covered under PG1 2.1.18 and 2.1.20.

t) Academic support through BRC/URC & CRC (Elementary): Strengthening of CRCs - Mobility support to CRCs.

**Each Cluster Resource Coordinator** will visit the schools under his/her jurisdiction at least once in 2 months. It is expected that in remote and rural areas the CRC will have five schools while in urban areas this can go upto 10 schools.

- Cluster Resource Coordinator would visit the schools and provide onsite academic support.
- Assess school performance and design Strategies for improvement of various interventions at School Level.
- Will review the status of implementation at the cluster level so as to ensure better outcomes.

BRC will also do similar exercise and send report periodically likewise indicating the outcome of the various task performed at the BRC level.

An outlay of Rs. 6555.21 lakh was estimated for Academic support through BRC/URC & CRC including Rs. 2598.14 lakh for BRC/URC and Rs. 4036.27 lakh for CRCs.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Provision for BRCs/URCs			
Salary for Resource Persons at BRC	745	1.66	1236.70
Salary for Resource Persons for CWSN	303	1.89	572.67
Salary for MIS Coordinator in position	149	2.40	357.60
Salary for Data Entry Operator in position	82	1.61	132.02
TLE/TLM Grant	265	0.03	7.95
Contingency Grant	265	0.50	132.50
Meeting, TA	265	0.30	79.50
Total of Provision for BRCs/URCs			2518.94
Provisions for CRCs			
Salary for CRC Coordinator (one)	2289	1.52	3479.28
Contingency Grant	2289	0.05	114.45
Meeting, TA	2289	0.05	114.45
Mobility Support for CRC(Strengthening of CRC)	32809 (Schools)	0.01	328.09
Total of Provisions for CRCs			4036.27
Total of Academic support through BRC/URC/CRC			6555.21

**Outcome:** The strengthening of BRCs and CRCs would enable them to play a pivotal role in monitoring and improving the quality of education. This is covered under PGI indicator 2.1.15.

## u) Youth and Eco Clubs (Elementary) Constitution of Youth Club and Eco Club:

- Youth and Eco Clubs to be constituted in all schools.
- Youth Clubs to utilise idle school resources like
  - playgrounds and sports equipment
  - libraries, music and art rooms and
  - auditorium for co-scholastic and recreational activities like drama, debates, art, sports and games, music etc. for individual and inter personal growth.
- Utilize playing fields and libraries after normal school hours and during holidays etc.
- Eco Clubs to carry out activities to promote awareness and interest in environment, biodiversity, climate and local ecology, nutrition, health, sanitation and hygiene.
- They can utilise parents, retired govt. servants, retired teachers to coach children and spent time with them.
- The Principal / Vice Principal will be in-charge of the Youth & Eco Club. One teacher will be assigned as a nodal person on rotation basis, who would stay back after school hours to facilitate the youth club activities.

To constitute youth and eco clubs for the students for various activities such as-debates, music, arts, reading, physical activities etc., an amount of Rs. 1733.85 lakh @ Rs. 15000 for elementary schools was estimated for 11556 elementary schools.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Youth & Eco Club (Elementary)	11556 (Schools)	0.15	1733.40
Total			1733.40

**Outcome: Youth Club** will help in utilizing the idle school infrastructure in particular, playing fields, sports equipment's and libraries after school hours for productive activities which will help students pursue their own interests and develop self-confidence as they explore their talents. This would also improve enrolment as well as retention. This is covered under PGI indicator No. 1.2.5 & 1.2.7.

**The eco-clubs** in the schools would create a platform for experiential learning enabling understanding concepts of science & technology, bio-medical knowledge. This is covered under PGI indicator No. 1.2.5 and 1.2.7.

#### v) Documentation of Best Practices on Shagun Portal-Shagun Repository:

Shagun has been designed to change the narrative on school education by show casing the multitude of innovative & successful models being implemented by all States and UTs in diverse circumstances.

- Enables the successful initiatives to be replicated & taken to scale.
- Sustains the institutional memory of these institutions.
- State to document their best practices, innovative practices and success stories through good quality case studies, videos, photographs and testimonials.
- All States and UTs to upload high resolution videos, photos, testimonials and case studies.

An amount of Rs 20.00 lakh was estimated for uploading the best practices on the Shagun Portal and documentation of the Best practices.

- **w) Rangotsav:** Various Cultural activities will be introduced for both students and teachers for promoting experiential learning and making learning joyful and using arts in education. The objective is:
  - To celebrate the rich cultural heritage and diversity of the country.
  - To provide exposure to the children to a variety of cultures, geographies, languages, food and customs of the country.
  - Collective expression of joy and celebrations, where talent, creativity and innovation of every student and teacher is reflected.
  - Major Activities:
  - Kala Utsav
  - Role Play Competition
  - Band Competition
  - Music Teacher Competition
  - Folk dance competition

Competitions may be organized for Secondary/Higher Secondary classes, for which the following approvals were given:

- (i) **Band Competition:** An outlay of Rs. 5.00 lakh was estimated for Band Competition and participation in national level competition.
- (ii) Kala Utsav: An outlay of Rs. 12.00 lakh was estimated for Kala Utsav at State level and participation in national level competition.

			(Rs. In lakh)
Activity Master	Physical (State)	Unit Cost	Financial
Kala Utsav (Secondary)	1	10.00	10.00
TA / DA Allowance for National Level	1	2.00	2.00
Total			12.00

x) Teachers Identity Card (Elementary): An outlay of Rs. 47.17 lakh @ Rs. 50 per teacher was estimated for issue of Identity Cards to 94343 teachers with all details such as Name of the School with UDISE Code, Full Address of the school with Block, Village, District, Designation separately for contract teachers and regular teachers. These would need to be carried by all teachers in schools.

			(Rs. In lakh)
Activity Master	Physical (Teachers)	Unit Cost	Financial
Teacher ID Cards	94343	0.0005	47.17
		Total	47.17

**y) Teachers Identity Card (Secondary):** An outlay of Rs. 10.07 lakh @ Rs.50 was estimated for issue of Identity Cards to 20141 teachers with all details such as Name of the School with U-DISE Code, Full Address of the school with Block, Village, District, Designation separately for contract teachers and regular teachers. These would need to be carried by all teachers in schools.

			(Rs. In lakh)
Activity Master	Physical (Teachers)	Unit Cost	Financial
Teacher ID Cards	20141	0.0005	10.07
		Total	10.07

**Outcome**: This would help in ensuring the presence of actual teachers deployed in a school and identifying proxy teachers. This is covered under PGI Indicator 2.1.2 and 2.1.4.

#### 9) Quality Intervention- Other State Specific Activities:

- **a) Quality Component (Elementary & Secondary):** An amount of Rs. 882.725 lakh was estimated for the innovative activities (project based) under this component, including:
  - (i) Shaala Siddhi: National Program on School Standards and Evaluation known as Shaala Siddhi for enabling Schools to evaluate their performance in a focussed and strategic manner and facilitate them to make professional judgement for improvement. An outlay of Rs. 7.50 lakh @ Rs. 500 for 1500 schools (900 Elementary and 600 Secondary Schools) was estimated for implementing Shaala Siddhi.

(ii) **Pankh Monthly Magazine:** State has introduced the monthly magazine "PANKH" to enhance the reading habit among children. An outlay of Rs. 875.225 lakh covering 35559 Schools was estimated for this monthly magazine.

			(Rs. In lakh)
Activity Master	Physical (Schools)	Unit Cost	Financial
Shaala Siddhi			
Shaala Siddhi (Elementary)	900	0.005	4.50
Shaala Siddhi (Secondary)	600	0.005	3.00
То	tal 1500		7.50
Pankh Monthly Magazine			
Pankh Monthly Magazine (Elementary)	32809	0.025	820.225
Pankh Monthly Magazine (Secondary)	2750	0.02	55.00
То	tal 35559		875.225
		Grand Total	882.725

#### 10) Gender & Equity:

a) Kasturba Gandhi Balika Vidhayalaya (KGBV)- Type-III (Class VI to XII): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to senior secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs. 19138.88 lakh (Recurring) as per unit costs given below is estimated, under Elementary component for Type-III KGBVs.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
KGBV - Type - III (Recurring) (Previous Year) (Classes	VI -XII)		
4 Full Time Teachers	421	2.40	1010.40
Examination Fee	20300	0.012	243.60
Miscellaneous	71050	0.0075	532.875
1 Full time Accountant	171	1.92	328.32
Food / Lodging per child per month	71050	0.15125	10746.31
Stipend per girl per month	71050	0.0120	852.60
Maintenance	71050	0.0075	532.875
Supplementary TLM, Stationery and other educational material	71050	0.01	710.50
1 Warden	203	3.00	609.00

Activity Master	Physical	Unit Cost	Financial
3 Part time teachers	1015	1.40	1421.00
2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	406	0.60	243.60
1 Head Cook	203	0.72	146.16
2 Assistant Cook	609	0.576	350.784
Specific skill training per girl	71050	0.002	142.10
Electricity / Water Charges	71050	0.008	568.40
Medical care / Contingencies	71050	0.008	568.40
Preparatory Camps	203	0.10	20.30
P.T.A.	71050	0.001	71.05
Capacity Building	203	0.10	20.30
Physical / Self Defence	203	0.10	20.30
Total			19138.88

**Outcome**: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

**b) Self-Defence**: Gender-based violence is a serious problem threatening the growth, development, education and health of adolescent girls in the country. Self-defence training techniques instil self confidence amongst girls and helps to promote girls' education particularly their transition to secondary and higher secondary level and to reduce the drop-out rate in schools. Through self-defence techniques, the girls are taught to increase their core strength. In dire situations, one is not required to have martial art training or a particular dress to defend and save oneself instead a strategic nudge, a sharp flick, a kick or a punch are enough to deter the attacker. The girls are trained to use every day articles such as, Key chain, dupatta, Stole, mufflers, bags, pen/pencil, notebook etc. as weapons of opportunity/improvised self-defence weapons to their advantage.

The States and UTs may also look for convergence for availing funding for self-defence training under the Nirbhaya Fund under Ministry of Women and Child Development, Government of India, Police Department, Home Guards, NCC or with other State government schemes. **State is requested to provide UDISE No of these schools within two months where these activities will be carried out.** 

(i) **Elementary**: An outlay of Rs. 13.50 lakh @ Rs. 3000/- per school per month was estimated for 3 Months training in self-defence for girls in 150 Upper Primary schools.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial

Activity Master	Physical (Schools)	Unit Cost	Financial	
Self Defence Training (up to Highest Class VIII)				
Training to all girls in Self Defence	150	0.09	13.50	
		Total	13.50	

(ii) **Secondary**: An outlay of Rs. 31.95 lakh @ Rs. 3000/- per school per month was estimated for 3 Months training in self-defence for girls in 355 Secondary/Senior Secondary schools.

			(Rs. In lakh)	
Activity Master	Physical (Schools)	Unit Cost	Financial	
Project- Girls Empowerment (Secondary)				
Training to all girls in Self Defence	355	0.09	31.95	
Total			31.95	

**Outcome:** This would strengthen girl's enrolment & retention and is covered under PGI indicator 1.4.10.

#### 11) Inclusive Education:

**a) Elementary:** An outlay of Rs. 487.34 lakh as per unit cost given below was estimated for various activities (Students Oriented) at elementary level for Children with Special Needs such as, identification and assessment camps, distribution of aids and appliances, braille stationary material, assistive devices, provision of transportation and escort allowances:

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Inclusive Education (up to Highest Class VIII)			
Sports Events & Exposure	254	0.20	50.80
Purchase/Development of instructional & Training materials	20	0.20	4.00
Braille Stationary Material (Inc. Embossed Charts, globes etc)	760	0.011	8.36
Providing Aids & Appliances	3711	0.025	92.775
Identification and Assessment (Medical Assessment Camps)	264	0.15	39.60
Assistive Devices, Equipments and TLM	24	1.00	24.00
Transportation allowance	2400	0.05	120.00
In-service Training of Special Educators	296	0.008	2.368
Orientation of Principals, Educational	24	0.50	12.00

Activity Master	Physical	Unit Cost	Financial
administrators, parents / guardians etc.			
Escort Allowance	2400	0.05	120.00
Home Based Education	384	0.035	13.44
		Total	487.34

**b) Secondary:** An outlay of Rs. 54.68 lakh as per unit cost given below was estimated for various activities (Students Oriented) at secondary/ senior secondary level for Children with Special Needs such as, providing aids and appliances, braille stationary material, reader allowance, assistive devices and home based education:

			(Rs. In lakh)			
Activity Master	Physical	Unit Cost	Financial			
Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)						
Braille Stationary Material (Inc. Embossed Charts, globes, etc.)	101	0.02	2.02			
Providing Aids & Appliances	1609	0.025	40.225			
Reader Allowance	48	0.05	2.40			
Assistive Devices, Equipments and TLM	170	0.05	8.50			
Home Based Education (Highest Class XII)	44	0.035	1.54			
		Total	54.68			

# The State was asked to share database of all CWSN children on PMS portal of Samagra Shiksha.

**Outcome:** The activities under this intervention would provide Access and increase retention of CWSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.

## 12) Vocational Education (Secondary):

The aim of introducing vocational education in schools is to prepare educated and employable youth. Under vocationalisation of school education, vocational courses are introduced along with academic subjects from classes 9 to 12. Under this component, there is greater involvement of industry in design, delivery and assessment of vocational skills.

An outlay of Rs. 486.75 lakh for introduction of VE in 60 new schools including 1 KGBV as per unit cost given below was estimated for support for non-recurring and recurring cost. The State may refer to the detailed guidelines issued by MHRD for vocational education under Samagra Shiksha. List of 60 new schools approved is at *Annexure- V*.

(1					
Activity Master	Physical	Unit Cost	Financial		
Introduction of VE in schools - NR					
Tools, Equipment & Furniture (New)	60	5.00	300.00		
Total VE in schools - NR			300.00		
Recurring Support VE - New					
Financial Support for Vocational Teacher/ Trainer (New)	120	1.20	144.00		
Financial Support for Resource Persons (New)	60	0.3125	18.75		
Raw material Grant for new school per course (New)	60	0.1250	7.50		
Cost of providing Hands on Skill Training to Students (New)	60	1.1250	7.50		
Office Expenses / Contingencies for New School (New)	60	0.05	3.00		
Induction training of Teachers VE - Teachers (10 Days)	120	0.05	6.00		
Total of Recurring Support VE - New					
Grand Total			486.75		

a) An outlay of Rs. 3170.40 lakh as per unit cost given below was estimated for support for Vocational Education towards recurring cost for 388 existing Schools and Rs. 54.60 lakh for Vocational Education towards non-recurring cost for 22 existing schools. List of 22 existing schools for non-recurring support is at *Annexure- VI*.

(Rs. In lakh)						
Activity Master	Physical	Unit Cost	Financial			
Project Innovation						
Skill Competition (District)	24	0.50	12.00			
Skill Competition (State)	1	3.00	3.00			
Total of Project Innovation			15.00			
<b>Recurring Support VE - Existing</b>						
Financial Support for Vocational Teacher/ Trainer (Existing)	776	2.40	1862.40			
Financial Support for Resource Persons (Existing) -	388	0.50	194.00			
Raw material grant for new school per course (Existing)	388	0.40	155.20			
Cost of providing Hands Training Students (Existing)	388	1.6530	641.364			
Assessment and Certification Cost (Existing)- (for 10 <sup>th</sup> and 12 <sup>th</sup> Class Students)	17340	0.0060	104.04			
Office Expenses / Contingencies for School (Existing)	388	0.50	194.00			
In-service Training of VE - Teachers (5 - Days) - (Existing)	776	0.0250	19.40			

Activity Master	Physical	Unit Cost	Financial	
Total of Recurring Support VE – Existing			3170.40	
Addition of VE Course in Existing Schools - NR				
Tools, Equipment & Furniture (Existing Schools)	22	2.48	54.60	
Total of Addition of VE Course in Existing Schools -NR			54.60	
Grand Total				

**Outcome:** The activities under this intervention would enhance the employability of youth and bridge the divide between the academic & applied learning. This is covered under PGI indicator 1.3.5.

#### 13) <u>Support for Salary of Teachers</u>

#### **Elementary:**

Sanctioned Post				Working		Vacancies		
By State	Under SS	Total	By State	Under SS	Total	By Under . State SS		Total
64187	122678	186865	50190	61148	111338	13997	61530	75527

An outlay Rs. 92322.90 lakh was estimated as support for teacher salary as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster posts and rationalize deployment of teachers as all teachers are the responsibility of the State. There is no dual cadre of teachers – only financial support for additional teacher salary would be provided under the Samagra Shiksha. Any additionally as per terms and conditions for recruitment of teachers in the State is to be borne by the State.

(Rs. In lakh) **Physical** Unit Financial **Activity Master** (Teachers) Cost **Teacher Salary - (Elementary)** Primary Teachers- Existing, in position (Contractual) 69186.60 38437 1.80 **Upper Primary Teachers in Position** 11685 1.98 23136.30 **Total for Salary of Teachers** 92322.90

**Outcome:** Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher–pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

- **14)** <u>**Teacher Education:**</u> An amount of Rs. 507.77 lakh was estimated for the Teacher Education component. The following activities are part of the said component:
- **a) Support for Teachers Educator Salary:** An outlay of Rs. 31.77 lakh as per unit cost given below was estimated for Salary of teacher educators in DIETs. Total amount of salary for teacher educators is worked out as per the scheme, *@* 60% of total salary estimate.

Da	I.a	_ - - <sup> </sup>	`
KS.	III	lakh	J

Activity Master	Physical (DIET)	Unit Cost	Financial			
Teachers Educators Salary in TEIs (Academic Posts)						
DIET	10	3.177	31.77			
		Total	31.77			

**Outcome:** State to ensure 100% of academic positions are filled in the SCERT/SIE and DIETs at the beginning of the given academic year 2020-21. This is covered under PGI Indicator 2.1.12.

**b) DIKSHA:** An outlay of Rs. 60.00 lakh was estimated for DIKSHA for Creation of Digital Content and Capacity Building of Teachers and other functionaries on usage of DIKSHA.

Activity MasterPhysicalUnit<br/>CostFinancialDIKSHACapacity building and Training for Teachers,<br/>Educators and State officials for usage of DIKSHA160.0060.00Total60.00

**c) Programme & Activities and Faculty Development:** An outlay of Rs. 166.00 lakh as per unit cost given below was estimated for Programme & Activities for SCERT and DIETs for a range of activities such as, exposure visits, short term professional courses, etc.

(Rs. In lakh)

Activity Master	Physical ( No. of TEI)	Unit Cost	Financial
Program & Activities (DIET)	23	5.00	115.00
Specific projects for Research activities (DIET)	23	2.00	46.00
Program & Activities (SCERT)	1	5.00	5.00
		Total	166.00

#### **Outcome:**

• Dissemination of the findings and impact of the research studies would be shared by the States and UTs.

- The SCERT/SIE would conduct an impact assessment study of the in-service/induction training programmes.
- **d) Annual Grants to TEIs:** An outlay of Rs. 250.00 lakh as per unit cost given below for SCERT and DIETs was estimated under Annual Grant for TEIs for meeting day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationary periodicals, small office and library equipment's, office expenses, etc.

Activity Master	Physical	Unit Cost	Financial	
SCERT	1	20.00	20.00	
DIETs	23	10.00	230.00	
		Total	250.00	

**Outcome:** State to ensure that SCERT/SIE and DIETs utilise the annual grants optimally and are registered under PFMS. This is covered under PGI indicator 2.1.26.

#### 15) <u>MIS</u>

An outlay of Rs. 152.18 lakh @ Rs. 2 per student was estimated for MIS/UDISE+ activities.

			(Rs. In lakh)
Activity Master	Physical (Students)	Unit Cost	Financial
Monitoring of the Scheme			
Management Information System (UDISE +)	7608794	0.00002	152.18
		Total	152.18

#### 16) Programme Management

An outlay of Rs. 9961.97 lakh @ 5% against total outlay was estimated for Programme Management (MMER) for activities such as, Staffing cost, Advertising & Publicity, Research Studies, etc.

			(Rs. In lakh)
Activity Master	Physical	Unit Cost	Financial
Program Management (MMER) (I - XII)			
Program Management (MMER) (I - XII)	1	9961.97	9961.97
		Total	9961.97

#### 17) <u>Spill Over</u>

An outlay of Rs. **32858.97** lakh as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during this year 2020-21. The detail is enclosed at *Annexure-VII*.

#### 18) Costing Sheet

The details of State consolidated item-wise estimate for 2020-21 is at Annexure-VIII.

The meeting ended with a vote of thanks to the Chair.

\*\*\*\*

#### **ANNEXURE - I**

#### List of Participants

- 1. Smt. Anita Karwal, Secretary (SE&L), MHRD
- 2. Sh. A.P. Singh, Principal Secretary (SE), Ranchi, Jharkhand
- 3. Sh. Santosh Kumar Yadav, Joint Secretary (SS.1), MHRD
- 4. Sh. Maneesh Garg, Joint Secretary (SS.2), MHRD
- 5. Sh Rajiv Sen, EA, MHRD
- 6. Smt. Darshana. M. Dabral, Joint Secretary (FA), MHRD
- 7. Shri. Purnendu Kishore Banerjee, DDG Statistics, MHRD
- 8. Smt. Rashi Sharma, Director, MHRD
- 9. Sh. Shobhit Gupta, Director Finance
- 10. Sh. Uma Shankar Singh, State Project Director, JEPC, Jharkhand
- 11. Sh. Kamal Gandhi, Under Secretary (IS-15), MHRD
- 12. Sh. Om Prakash Mishra, AFC, JEPC, SSA, Ranchi Jharkhand
- 13. Dr. Avinav Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand
- 14. Sh. Pramod Kumar Sinha, Jharkhand Education Project Council, Ranchi, Jharkhand
- 15. Sh. Sachin Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand
- 16. Sh. Ratan Bhushan Srivastava, Civil Works Manager, JEPC, Ranchi, Jharkhand
- 17. Sh. Sanjeev Kumar Gupta, ACP, JEPC, Ranchi, Jharkhand
- 18. Sh. Keertiwas Kumar, JCERT, Ranchi, Jharkhand

#### <u>ANNEXURE – II</u>

## LIST OF CIVIL WORKS FOR SURRENDER 2020-21

# A) List of New Primary School Building For Surrender (Elementary Level)

SI. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
A.	New School	l Building/Building less							
1	Elementary	Building less Primary School	Godda	UMS Bansmundi	20080501801	1	2003-04	250000	250000.00
2	Elementary	Building less Primary School	Godda	UMS SIKTIYA BHATONDHA	20080513502	1	2003-04	250000	250000.00
3	Elementary	Building less Primary School	Godda	PS MAHESH KUTRO	20080500601	1	2003-04	250000	250000.00
4	Elementary	Building less Primary School	Godda	MS GUMMA	20080514801	1	2003-04	250000	250000.00
5	Elementary	Building less Primary School	Godda	UMS KHERIBARI	20080301001	1	2003-04	250000	250000.00
6	Elementary	Building less Primary School	Godda	PA BAIGNI	20080304701	1	2003-04	250000	250000.00
7	Elementary	Building less Primary School	Godda	UMS SIYARKATIYA	20081009401	1	2003-04	250000	250000.00
8	Elementary	Building less Primary School	Godda	UMS MUKUNDI DIKWANI	20081002501	1	2003-04	250000	250000.00
9	Elementary	Building less Primary School	Godda	UMS RAMPUR	20081012001	1	2003-04	250000	250000.00
10	Elementary	Building less Primary School	Godda	PS MARIYATOLA TUKKA	20081019501	1	2003-04	250000	250000.00
11	Elementary	Building less Primary School	Godda	PS PADRA	20081000701	1	2003-04	250000	250000.00
12	Elementary	Building less Primary School	Godda	UMS GHAT MANJWARA	20081004403	1	2003-04	250000	250000.00
13	Elementary	Building less Primary School	Godda	UMS GORAKHPUR	20080409301	1	2003-04	250000	250000.00
14	Elementary	Building less Primary School	Godda	UMS MUCHURA	20080402401	1	2003-04	250000	250000.00
15	Elementary	Building less Primary School	Godda	UMS CHAMPAPUR	20080401901	1	2003-04	250000	250000.00
16	Elementary	Building less Primary School	Godda	UMS SIRSI	20080101201	1	2003-04	250000	250000.00
17	Elementary	Building less Primary School	Godda	UMS NUNAJOR	20080110701	1	2003-04	250000	250000.00
18	Elementary	Building less Primary School	Godda	UMS MANIYAMOR	20080110901	1	2003-04	250000	250000.00
19	Elementary	Building less Primary School	Godda	UMS DIYAJORI	20080106301	1	2003-04	250000	250000.00
20	Elementary	Building less Primary School	Godda	PS DAHIYA	20080102201	1	2003-04	250000	250000.00
21	Elementary	Building less Primary School	Godda	MS KOLJHARA	20080109801	1	2003-04	250000	250000.00

SI. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
22	Elementary	Building less Primary School	Godda	PS GHAT BHAGABANDH	20080103101	1	2003-04	250000	250000.00
23	Elementary	Building less Primary School	Godda	MS DAPRA	20081100701	1	2003-04	250000	250000.00
24	Elementary	Building less Primary School	Godda	UMS SAHPUR	20081102501	1	2003-04	250000	250000.00
25	Elementary	Building less Primary School	Godda	MS KHARIYANI	20080922501	1	2003-04	250000	250000.00
26	Elementary	Building less Primary School	Godda	MS BISHUNPUR	20081104001	1	2003-04	250000	250000.00
27	Elementary	Building less Primary School	Godda	UMS RAJOUN	20080904401	1	2003-04	250000	250000.00
28	Elementary	Building less Primary School	Godda	MS LOGAI	20080912201	1	2003-04	250000	250000.00
29	Elementary	Building less Primary School	Godda	UMS LAKHANPAHARI	20080915801	1	2003-04	250000	250000.00
30	Elementary	Building less Primary School	Godda	PS SANICHPUR	20081102901	1	2003-04	250000	250000.00
					TOTAL	30			750000.00

# B) List Of Upper Primary School Building For Surrender (Elementary Level)

SI. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
В	Upper Prima	ary School							
1	Elementary	Upper Primary School	Garhwa	UPG MS SARSTIYA	20011502501	1	2007-08	499600	499600.00
2	Elementary	Upper Primary School	Godda	UMS CHAPRI	20081003101	1	2007-08	466000	466000.00
3	Elementary	Upper Primary School	Godda	UMS GHAT BHANDARIDIH	20080100701	1	2007-08	466000	466000.00
4	Elementary	Upper Primary School	Godda	UMS GORGAMA	20080106501	1	2007-08	466000	466000.00
5	Elementary	Upper Primary School	Godda	UMS KASTURI	20080506801	1	2007-08	466000	466000.00
	TOTAL					5			2363600.00

SI. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
Add	itional Classro	oms							
1	Elementary	ACR	Latehar	MS POCHRA	20220100401	1	2011-12	291000.00	291000.00
2	Elementary	ACR	Latehar	UMS HESLA	20220101602	1	2011-12	291000.00	291000.00
3	Elementary	ACR	Latehar	BMC NAWAGAR	20220104502	1	2011-12	291000.00	291000.00
4	Elementary	ACR	Latehar	PS TARWATAR	20220109902	1	2011-12	291000.00	291000.00
5	Elementary	ACR	Latehar	PS Tarwatar	20220109902	1	2011-12	291000.00	291000.00
6	Elementary	ACR	Latehar	Ums Hethbesra	20220112601	1	2011-12	291000.00	291000.00
7	Elementary	ACR	Latehar	Ums Semri	20220304001	1	2011-12	291000.00	291000.00
8	Elementary	ACR	Latehar	MS NINDRA	20220206801	1	2011-12	291000.00	291000.00
9	Elementary	ACR	Latehar	UMS BELGARA	20220206701	1	2011-12	291000.00	291000.00
10	Elementary	ACR	Latehar	MS LOHARSI	20220206301	1	2011-12	291000.00	291000.00
11	Elementary	ACR	Latehar	UPG SUKALKATHA	20220200903	1	2011-12	291000.00	291000.00
12	Elementary	ACR	Latehar	UMS GANIYARI	20220205101	1	2011-12	291000.00	291000.00
13	Elementary	ACR	Latehar	PS PARTAPITAR	20220205102	1	2011-12	291000.00	291000.00
14	Elementary	ACR	Latehar	PS TURAHUM	20220203701	1	2011-12	291000.00	291000.00
15	Elementary	ACR	Latehar	UHS MURPA	20220716301	1	2011-12	291000.00	291000.00
16	Elementary	ACR	Latehar	UMS HEBNA	20220717601	1	2011-12	291000.00	291000.00
17	Elementary	ACR	Latehar	UPS PUNDURLAWA	20220713601	1	2011-12	291000.00	291000.00
18	Elementary	ACR	Latehar	Ums Shanti	20220717301	1	2011-12	291000.00	291000.00
19	Elementary	ACR	Latehar	Upg Ps Dumartar	20220803602	1	2011-12	291000.00	291000.00
20	Elementary	ACR	Latehar	UMS RAHEYA	20220906501	1	2011-12	291000.00	291000.00
21	Elementary	ACR	Latehar	MS HUMBU	20220803901	1	2011-12	291000.00	291000.00
22	Elementary	ACR	Latehar	PS SHAILDAG	20220306801	1	2011-12	291000.00	291000.00
23	Elementary	ACR	Latehar	PS GASEDAG	20220505001	1	2011-12	291000.00	291000.00
24	Elementary	ACR	Latehar	UMS ODAN	20220109001	2	2011-12	495800.00	495800.00

# C) List of Additional Classrooms (ACR) For Surrender (Elementary Level)

Sl. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
25	Elementary	ACR	Latehar	UMS SUKARI	20220601901	2	2011-12	495800.00	495800.00
26	Elementary	ACR	Latehar	UMS BRWATOLI	20220207301	2	2011-12	495800.00	495800.00
27	Elementary	ACR	Latehar	UMS DHOTI	20220206601	2	2011-12	495800.00	495800.00
28	Elementary	ACR	Latehar	UMS HESLA	20220204901	2	2011-12	495800.00	495800.00
29	Elementary	ACR	Latehar	UMS AARA	20220206901	2	2011-12	495800.00	495800.00
30	Elementary	ACR	Latehar	UMS BHANDARGARA	20220203911	2	2011-12	495800.00	495800.00
31	Elementary	ACR	Latehar	UMS DUDHIMATI	20220204801	2	2011-12	495800.00	495800.00
32	Elementary	ACR	Latehar	Ums Kuchila	20220501901	2	2011-12	495800.00	495800.00
33	Elementary	ACR	Latehar	UPS Latu	20220400401	2	2011-12	495800.00	495800.00
34	Elementary	ACR	Latehar	GOVT MS DHADHU	20220715501	1	2012-13	369672.00	369672.00
35	Elementary	ACR	Latehar	UPG PS HARIJANTOLA MAONGR	20220106703	1	2012-13	369672.00	369672.00
36	Elementary	ACR	Latehar	GOVT PS KARHIMA	20220112701	1	2012-13	369672.00	369672.00
37	Elementary	ACR	Latehar	MS DHANKARA	20220105701	1	2012-13	369672.00	369672.00
38	Elementary	ACR	Latehar	MS GIRLS MIDDLE	20220116504	1	2012-13	369672.00	369672.00
39	Elementary	ACR	Latehar	PS SINJO	20220113301	1	2012-13	369672.00	369672.00
40	Elementary	ACR	Latehar	UMS JAGALDAGA	20220112901	1	2012-13	369672.00	369672.00
41	Elementary	ACR	Latehar	UMS ODAN	20220109001	1	2012-13	369672.00	369672.00
42	Elementary	ACR	Latehar	UPS SAKWAR	20220116201	1	2012-13	369672.00	369672.00
43	Elementary	ACR	Latehar	UPG MS PARSAHI	20220100901	1	2012-13	369672.00	369672.00
44	Elementary	ACR	Latehar	GOVT PS ORWAI	20220102601	1	2012-13	369672.00	369672.00
45	Elementary	ACR	Latehar	GOVT PS PATRIYACHOTAG	20220104701	1	2012-13	369672.00	369672.00
46	Elementary	ACR	Latehar	GOVT PS BARIYATU	20220106301	1	2012-13	369672.00	369672.00
47	Elementary	ACR	Latehar	UPG MS PAKRAR	20220111501	1	2012-13	369672.00	369672.00
48	Elementary	ACR	Latehar	UPG MS GIRE	20220116101	1	2012-13	369672.00	369672.00
49	Elementary	ACR	Latehar	PS HISRI	20220203201	1	2012-13	369672.00	369672.00
50	Elementary	ACR	Latehar	UMS BACHRA	20220906001	1	2012-13	369672.00	369672.00
51	Elementary	ACR	Latehar	UMS BATHET	20220904901	1	2012-13	369672.00	369672.00

SI. No	Sector	Scheme	District	Name of School	UDISE CODE	Unit Sanctioned	Year of Sanction	Unit Cost	Amount to be surrendered
52	Elementary	ACR	Latehar	UMS FULWASIYA	20220908502	1	2012-13	369672.00	369672.00
53	Elementary	ACR	Latehar	M.S. BRAWADIH BOYS	20220502501	1	2012-13	369672.00	369672.00
54	Elementary	ACR	Latehar	UMS.AMWATIKAR	20220507801	1	2012-13	369672.00	369672.00
55	Elementary	ACR	Latehar	GOVT PS HARHE	20220505301	1	2012-13	369672.00	369672.00
56	Elementary	ACR	Latehar	NPS RAVIDAS TOLA	20220302302	1	2012-13	369672.00	369672.00
57	Elementary	ACR	Sahebganj	UPG GOVT. MS BINDIN	20090908001	1	2011-12	296000.00	296000.00
58	Elementary	ACR	Sahebganj	UPG PS PAGAR PAHAR	20090916001	1	2011-12	296000.00	296000.00
59	Elementary	ACR	Sahebganj	UPG PS AJUL TOLA	20090510510	2	2011-12	504000.00	504000.00
60	Elementary	ACR	Sahebganj	PS KUSMA URDU (15)	20090702102	1	2012-13	369000.00	369000.00
61	Elementary	ACR	Sahebganj	NPS BUNDA PAHAR (15)	20090621101	1	2012-13	369000.00	369000.00
62	Elementary	ACR	Sahebganj	UPG PS NAYATOLA (15)	20090101301	1	2012-13	369000.00	369000.00
63	Elementary	ACR	Sahebganj	UPG PS RAMPUR SATBHAIYA TOLA (15)	20090108701	1	2012-13	369000.00	369000.00
64	Elementary	ACR	Sahebganj	UMS BANSKOLA (15)	20090905801	1	2012-13	369000.00	369000.00
65	Elementary	ACR	Sahebganj	UPG PS JYANTI GRAM (15)	20090512001	2	2012-13	623800.00	623800.00
				TOTAL		77			23718256.00

# D) List Of Upgraded High School For Surrender (Secondary Level)

				ent ć-X	uo	m for	Ye	ear of S	Sancti	on		Unit C Buile			
SI. No	DISTRICT NAME	SCHOOL NAME	USCHCD	Enrolme Class IX-	Year of Upgradati	Classroo Available IX-X	2009-10	2010-11	2011-12	2013-14	2009-10	2010-11	2011-12	2013-14	Surrender Amount
1	PASHCHIMI SINGHBHUM	UPG HIGH SCHOOL KULDA +2	20170109701	39	2009	7	1				58.1 2				58.12
2	PASHCHIMI SINGHBHUM	UPG HIGH SCHOOL	20170212401	84	2009	2	1				58.1 2				58.12

				nt X	uo	m for	Ye	ear of S	Sancti	on		Unit C Buile			
SI. No	DISTRICT NAME	SCHOOL NAME	USCHCD	Enrolment Class IX-X	Year of Upgradation	Classroom Available for IX-X	2009-10	2010-11	2011-12	2013-14	2009-10	2010-11	2011-12	2013-14	Surrender Amount
		DARKADA													
3	SAHIBGANJ	UPG GOVT HS BARA TALBONA	20090906001	96	2009	2	1				58.1 2				58.12
4	CHATRA	UPG.H.S.TETA RIA	20030701701	25	2010	2		1				58.12			58.12
5	GODDA	UPG GOVT HS KATHIYA HINDI	20081102701	0	2010	2		1				58.12			58.12
6	GODDA	UPG GOVT HS KUSUMHARA	20080108501	101	2010	2		1				58.12			58.12
7	GUMLA	RAJKIYAKRIT UPGRADED HIGH SCHOOL KASIRA	20160706201	56	2010	2		1				58.12			58.12
8	GUMLA	GOVT UPGRADED HIGH SCHOOL KATIYA	20160100401	102	2010	2		1				58.12			58.12
9	KHUNTI	UPG GOVT MS-CUM-HS KURAPURTI	20230208501	44	2010	1		1				58.12			58.12
10	KHUNTI	UPG GOVT MS-CUM-HS HUSIR	20230303201	47	2010	2		1				58.12			58.12
11	KHUNTI	UPG GOVT MS-CUM-HS CHHATA	20230403101	56	2010	2		1				58.12			58.12
12	PASHCHIMI	UPG HIGH	20170212601	73	2010	3		1				58.12			58.12

				nt X	uo	m for	Ye	ear of S	Sancti	on		Unit C Buile			
SI. No	DISTRICT NAME	SCHOOL NAME	USCHCD	Enrolment Class IX-X	Year of Upgradation	Classroom Available for IX-X	2009-10	2010-11	2011-12	2013-14	2009-10	2010-11	2011-12	2013-14	Surrender Amount
	SINGHBHUM	SCHOOL KULITONDAN G													
13	RAMGARH	UPG HIGH SCHOOL MURUDIH	20240707601	106	2010	2		1				58.12			58.12
14	SAHIBGANJ	UPG GOVT. HS PAHARPUR	20090603001	17	2010	2		1				58.12			58.12
15	SAHIBGANJ	UPG GOVT HS RANGMATIYA - 02	20090606301	39	2010	2		1				58.12			58.12
16	SAHIBGANJ	UPG GOVT HS LALBATHANI	20090101602	45	2010	1		1				58.12			58.12
17	SAHIBGANJ	UPG GOVT HS URDU GIRLS TINPAHAR	20090403202	62	2010	2		1				58.12			58.12
18	SIMDEGA	UPG GOVT HS TINGINA	20210707002	23	2010	2		1				58.12			58.12
19	SIMDEGA	UPG GOVT HS BONGERA ADELBERA	20210901502	29	2010	2		1				58.12			58.12
20	SIMDEGA	UPG GOVT HS HURDA	20210601601	70	2010	5		1				58.12			58.12
21	SAHIBGANJ	UPG GOVT HS BORBANDH	20090701001	13	2011	10			1				58.1 2		58.12
22	SAHIBGANJ	UPG +2 HIGH SCHOOL PARSA	20090203601	142	2013	3				1				60.69	60.69
23	PAKAUR	UPG HS BANNOGRAM	20100808601	127	2013	4				1				60.69	60.69

				nt X	uo	m for	Ye	ear of s	Sancti	on		Unit C Buile			
SI. No	DISTRICT NAME	SCHOOL NAME	USCHCD	Enrolment Class IX-X	Year of Upgradation	Classroom Available for IX-X	2009-10	2010-11	2011-12	2013-14	2009-10	2010-11	2011-12	2013-14	Surrender Amount
24	KODARMA	UPG GOVT HS BEKOBAR	20050109601	107	2013	2				1				60.69	60.69
25	RAMGARH	MIDDLE SCHOOL CHATAK	20241600501	95	2013	6				1				60.69	60.69
26	DUMKA	UPGRADE H.S. SATPAHARI	20110546801	95	2013	2				1				60.69	60.69
27	GARHWA	GOVT UPG HS PACHOR	20011203901	94	2013	4				1				60.69	60.69
28	GIRIDIH	UPG GOVT HS POKHARIA	20061407401	92	2013	2				1				60.69	60.69
29	JAMTARA	RAJKIYKRIT UPGRADE HIGH SCHOOL MURLIPAHAR I	20191221301	89	2013	4				1				60.69	60.69
30	PAKAUR	UPG HS CHOUNKISHA L	20100811301	84	2013	2				1				60.69	60.69
31	GODDA	UPG GOVT HS MADHURI	20080512901	84	2013	2				1				60.69	60.69
32	RAMGARH	UPG M.S. LAPANGA	20241302303	81	2013	2				1				60.69	60.69
33	DUMKA	UPGRADE GOVT RA H.S. MAHULBANA	20110213301	73	2013	2				1				60.69	60.69
34	GODDA	UPG GOVT HS NIPANIA	20081008902	67	2013	2				1				60.69	60.69
35	CHATRA	UPG.M.S.BHOJ PUR	20030304701	60	2013	1				1				60.69	60.69

				nt X	uo	m for	Ye	ear of s	Sancti	on		Unit C Buile			
SI. No	DISTRICT NAME	SCHOOL NAME	USCHCD	Enrolment Class IX-X	Year of Upgradation	Classroom Available for IX-X	2009-10	2010-11	2011-12	2013-14	2009-10	2010-11	2011-12	2013-14	Surrender Amount
36	PASHCHIMI SINGHBHUM	UPG HIGH (UMS) SCHOOL DAMUDIH	20170105801	59	2013	1				1				60.69	60.69
37	PALAMU	UPG RAJKIYEKRIT HIGH SCHOOL NAWGARH	20021803801	58	2013	2				1				60.69	60.69
38	DUMKA	UPGRADE DPEP H.S.BAISA	20110402401	51	2013	1				1				60.69	60.69
39	RANCHI	GOVT UPG HIGH SCHOOL SUMANDIH KANYA	20141807503	49	2013	2				1				60.69	60.69
40	RAMGARH	UPG M.S. BALKUDRA	20241307203	43	2013	1				1				60.69	60.69
41	GARHWA	GOVT UPG HS MURLI	20010105701	42	2013	4				1				60.69	60.69
42	KODARMA	UPG GOVT HS JANPUR	20050602302	41	2013	4				1				60.69	60.69
43	GODDA	UPG GOVT HS BHATKHORIY A	20080801701	40	2013	2				1				60.69	60.69
44	CHATRA	UPG.M.S.KUB BA	20030700201	33	2013	1				1				60.69	60.69
45	GIRIDIH	GOVT MS SARANDA	20060311501	12	2013	2				1				60.69	60.69
						Total	3	17	1	24					2677.08

## ANNEXURE - III

# List of Schools for CWSN Toilets- Elementary (Civil Works)

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20201110101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	16
20140900104	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	19
20140806701	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	29
20040803701	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	31
20140901701	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	35
20140906101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	35
20061022601	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	37
20142400306	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	38
20071012001	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	43
20141000902	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	43
20071002301	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	46
20202104901	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	49
20142401201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	50
20210607003	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	53
20080501202	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	54
20241409207	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	58
20010101106	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	61
20061000801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	61
20071009201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	63
20060929801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	65
20060909501	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	67
20060211502	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	71
20140906501	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	72
20142402009	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	72
20060231801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	78
20071001001	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	79
20140100401	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	80
20071007101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	82
20140702701	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	84
20071006101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	87
20140901305	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	90
20142402004	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	95
20060919802	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	99
20100706301	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	100
20230201101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	102

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20020512101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	103
20140911801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	117
20142303801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	119
20140901201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	120
20060901401	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	123
20061002604	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	123
20111017901	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	126
20090714101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	132
20070723304	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	134
20030523801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	144
20150702302	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	146
20142401805	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	147
20171700212	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	154
20110528501	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	156
20142401305	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	158
20061504201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	163
20060322301	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	166
20142302201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	166
20111016904	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	168
20030204003	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	172
20140306401	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	184
20040532702	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	190
20071011801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	200
20061002603	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	204
20130701301	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	204
20140407001	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	206
20071008201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	216
20060214901	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	217
20150207201	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	238
20050311502	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	249
20060213202	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	274
20142010704	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	279
20030242502	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	282
20120303016	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	284
20060914707	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	294
20090700101	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	329
20040501301	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	376

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20140401501	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	377
20090409901	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	398
20230601801	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	470
20071007601	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	1100
20090700302	DEPARTMENT OF EDUCATION	PRIMARY ONLY WITH GRADES 1 TO 5	2356
20241204001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	51
20200602302	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	54
20140910801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	68
20140808801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	71
20061101801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	76
20230307901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	83
20142403401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	84
20240701601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	87
20140907201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	91
20230504101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	92
20061009201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	95
20142402401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	95
20080400401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	96
20241202501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	96
20090215501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	96
20230515901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	96
20141105801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	99
20140900901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	101
20201802001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	104
20210303903	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	108
20201804201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	109
20201805401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	109
20061011201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	111
20161008301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	113
20241200601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	124
20040524001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	125
20060309601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	128
20200607101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	131
20060210701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	132
20202008802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	132
20142006702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	133
20191616201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	133

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20161007002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	136
20201111805	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	136
20060902201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	137
20050314701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	142
20060221702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	146
20240704201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	146
20020919501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	147
20240702801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	150
20230202401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	150
20142402003	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	151
20142402301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	156
20140809901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	156
20061502707	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	157
20180505901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	157
20140907001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	158
20061101201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	159
20241207505	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	160
20061503003	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	163
20241200201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	166
20142505301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	166
20030302701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	167
20050500701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	168
20080804701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	168
20090309001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	169
20142015001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	170
20201106902	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	170
20241400501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	172
20020103205	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	173
20161005701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	174
20141005301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	176
20241203301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	176
20080503801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	177
20142402501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	177
20040909101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	181
20020436101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	184
20060301401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	184
20060105301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	185

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20150702002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	186
20060901101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	188
20061011101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	190
20180508601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	191
20241203201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	191
20180900106	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	192
20060919001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	195
20040507101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	196
20060119501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	196
20161004901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	197
20060908803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	199
20050605102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	199
20230212001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	201
20141105001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	201
20040512101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	202
20060501801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	210
20141100803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	210
20220801001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	210
20040506401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	215
20201802702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	215
20020920703	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	219
20150305603	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	219
20020102909	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	223
20031208301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	223
20200300901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	227
20020904301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	229
20060913801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	229
20140803801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	229
20060900501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	231
20142402101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	232
20241201901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	232
20140900601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	235
20142009001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	236
20142503402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	237
20230412701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	238
20050413201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	238
20241207503	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	240

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20241207501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	240
20060126001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	248
20201801301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	248
20230207901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	248
20030309101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	249
20030306006	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	254
20150705901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	255
20090102801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	257
20140208502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	259
20201800101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	259
20140213601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	260
20120403401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	261
20140302801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	262
20040415001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	262
20241206001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	263
20130806201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	265
20060100901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	269
20200907501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	271
20230105301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	273
20060913201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	275
20142300201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	275
20101104201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	275
20171303301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	276
20150601001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	279
20060204201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	280
20061004002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	282
20040408701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	283
20050312101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	285
20220501701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	286
20060901201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	287
20050605601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	287
20060708901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	293
20090402101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	296
20141804001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	300
20061214505	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	302
20140201301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	303
20171511702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	303

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20241208401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	304
20141907002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	306
20142401901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	307
20180316204	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	307
20050113301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	309
20021700501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	311
20140904101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	312
20060405801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	315
20060308501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	316
20030603701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	320
20141904501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	320
20130323101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	323
20060234202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	324
20230208502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	324
20060303201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	329
20081012601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	332
20210302002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	333
20230612402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	333
20230102501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	336
20030516101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	338
20060900801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	339
20050413902	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	340
20142301701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	341
20142204506	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	344
20100908501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	345
20140124205	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	348
20042301101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	350
20142400207	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	350
20220502501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	351
20021600201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	352
20241304401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	353
20200609101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	353
20042103601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	354
20060930403	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	356
20060221903	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	357
20060902501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	358
20142500202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	362

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20030242303	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	365
20030213801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	374
20060308704	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	375
20241600201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	375
20150207301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	380
20130702601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	382
20060912702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	386
20230609902	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	388
20180902402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	389
20040512301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	390
20140901901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	390
20020409802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	391
20071012301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	391
20142005302	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	396
20150507402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	398
20060930303	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	403
20080504201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	406
20241308701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	407
20142402204	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	411
20111005601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	412
20140306501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	412
20120909001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	414
20061000208	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	415
20042003201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	415
20170212701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	416
20140804601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	417
20142003501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	417
20230614002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	424
20120611802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	426
20040517101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	428
20140900801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	431
20180110501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	437
20050501901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	437
20030600501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	438
20060101601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	438
20020307201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	440
20141907011	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	443

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20080501301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	444
20220101701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	444
20041008101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	450
20150308303	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	450
20140301803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	454
20030602201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	458
20141100801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	458
20142202803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	458
20060303701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	463
20140808101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	468
20060100801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	471
20090302001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	471
20172504201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	474
20021604101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	476
20090305201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	476
20020405301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	479
20061000101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	479
20142203708	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	481
20230405701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	482
20150204401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	484
20041102401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	501
20142400402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	505
20142401803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	505
20120405502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	506
20160905701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	507
20070609301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	509
20140306601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	510
20061205901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	511
20050123501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	517
20030214501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	520
20030216602	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	521
20030306501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	522
20120302019	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	523
20090307701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	523
20220502502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	527
20042104301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	539
20230308405	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	542

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20130700402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	544
20050413501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	545
20060203601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	547
20040106901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	547
20130800907	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	550
20150601401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	551
20150206801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	554
20060904701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	556
20140701901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	561
20140606601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	565
20050313901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	570
20090708701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	572
20100705201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	572
20042101701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	573
20070708905	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	576
20131005102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	578
20042102401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	579
20180310401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	582
20100905201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	588
20191127901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	590
20030217401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	592
20061404301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	608
20170707401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	609
20071007901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	617
20180310608	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	618
20060212201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	622
20061432703	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	623
20150106301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	633
20061207302	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	643
20170211701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	648
20042302405	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	652
20041902801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	662
20050310401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	664
20141001802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	665
20111002701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	669
20141907501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	669
20050403702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	686

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20060902002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	687
20230205201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	687
20090404801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	688
20230613802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	693
20171702101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	695
20160908103	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	697
20030701301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	700
20172109501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	701
20241307301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	719
20140200602	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	723
20210418203	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	726
20170704101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	735
20140905905	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	738
20050507001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	739
20140901202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	745
20170503201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	747
20150305601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	748
20240702602	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	750
20140201501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	752
20170209001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	765
20241409303	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	767
20150308302	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	777
20061440402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	778
20170203201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	779
20060304901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	783
20131201401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	786
20170109201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	786
20050120002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	786
20191119101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	786
20140124202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	790
20011002301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	797
20050603401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	798
20061200401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	799
20090402802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	809
20140706901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	815
20140404509	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	819
20140802801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	821

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20230104401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	821
20040530301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	822
20080510001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	824
20210408801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	824
20170213501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	827
20140403501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	830
20170217001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	831
20150602502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	838
20140213903	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	842
20061401907	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	846
20140800101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	846
20130328604	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	852
20040210501	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	854
20090302101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	854
20050110101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	866
20060914802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	882
20061201203	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	907
20060212001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	912
20100908201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	935
20170109301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	942
20191324202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	956
20042104701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	960
20060905902	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	961
20120607006	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	964
20230408702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	964
20191206801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	968
20020717701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	971
20050111101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	974
20140305201	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	979
20172403101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	979
20070333407	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	982
20100700301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	984
20180611001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1000
20100715601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1036
20090110402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1052
20140600901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1055
20110806901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1069

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20172106101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1071
20090817401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1074
20150105506	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1080
20150402001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1081
20220105601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1083
20040211402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1086
20150208102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1114
20090503101	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1120
20061402401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1121
20180900109	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1122
20140701502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1135
20041103301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1138
20150105502	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1145
20140115123	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1157
20061400102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1159
20101007901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1173
20090606703	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1185
20191225601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1215
20150204604	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1234
20150501802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1236
20050110302	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1261
20030231704	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1272
20090103401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1282
20120400102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1297
20171203901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1299
20120210904	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1329
20241502001	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1331
20120713701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1333
20060936102	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1339
20050604804	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1355
20050307702	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1420
20090500401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1462
20130800401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1479
20220109301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1494
20180109902	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1515
20060901701	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1535
20120610402	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1560

List of Schools for CWSN Toilets- Elementary	School Management	School Category	Total Enrolment
20120607016	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1562
20060707002	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1629
20100905901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1639
20142203704	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1693
20090404301	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1693
20101104901	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1693
20170500202	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1719
20230308803	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1807
20060902802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1836
20090503802	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1846
20060201401	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	1851
20090413801	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	2806
20090817703	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	2947
20090500601	DEPARTMENT OF EDUCATION	UPPER PRIMARY WITH GRADES 1 TO 8	4245
20172200703	DEPARTMENT OF EDUCATION	UPPER PRIMARY ONLY WITH GRADES 6 TO 8	675

#### ANNEXURE - IV (a)

Sl.	State Name	District	School Code	School Name
No.		Name		
1	JHARKHAND	CHATRA	20030231704	M.S.DIBHA
2	JHARKHAND	CHATRA	20030220501	UPG.M.S.BARAHMANA
3	JHARKHAND	CHATRA	20030242402	M.S.GWALTOLI
4	JHARKHAND	CHATRA	20030230904	M.S.GEETA ASHRAM
5	JHARKHAND	CHATRA	20030208601	UPG.M.S.GERI
6	JHARKHAND	CHATRA	20030231603	M.S.DIWANKHANA
7	JHARKHAND	CHATRA	20030223901	M.S.SEEMA
8	JHARKHAND	CHATRA	20030801001	M.S.GIDHAUR
9	JHARKHAND	CHATRA	20030136101	M.S.KARNI
10	JHARKHAND	CHATRA	20030104514	M.S.GIRLS ITKHORI
11	JHARKHAND	CHATRA	20031201501	UPG.M.S.KANHA CHATTI
12	JHARKHAND	CHATRA	20031201801	GOVT. BASIC SCHOOL KANHACHATTI
13	JHARKHAND	CHATRA	20030701301	UPG.M.S.SINGHANI GIRL
14	JHARKHAND	CHATRA	20030513501	M.S.BELGARA
15	JHARKHAND	CHATRA	20030511101	UPG.M.S.DUNDUA
16	JHARKHAND	BOKARO	20130800401	RAJKIYAKRIT M S BERMO
17	JHARKHAND	BOKARO	20130100701	RAJKIYAKRIT M S MADRA
18	JHARKHAND	BOKARO	20131303201	RAJKIYAKRIT M S JUNOURI
19	JHARKHAND	BOKARO	20130328901	RAJKIYAKRIT M S HARILA
20	JHARKHAND	BOKARO	20130310501	RAJKIYAKRIT M S KURA
21	JHARKHAND	BOKARO	20130317501	RAJKIYAKRIT M S MARAFARI
22	JHARKHAND	BOKARO	20130300601	RAJKIYAKRIT M S OLGARA
23	JHARKHAND	BOKARO	20131010406	RAJKIYAKRIT M S GOMIYA
24	JHARKHAND	BOKARO	20130702302	UPG RAJKIYAKRIT M S JAGASUR
25	JHARKHAND	BOKARO	20130701101	RAJKIYAKRIT M S TANDBALIDIH
26	JHARKHAND	BOKARO	20131201401	RAJKIYAKRIT M S KHAIRACHATAR
27	JHARKHAND	BOKARO	20131201502	RAJKIYAKRIT M S DANTOO
28	JHARKHAND	BOKARO	20130600102	RAJKIYAKRIT M S BHENDRA
29	JHARKHAND	BOKARO	20130605601	RAJKIYAKRIT M S KANJKIRO
30	JHARKHAND	BOKARO	20130605303	RAJKIYAKRIT M S NAWADIH
31	JHARKHAND	BOKARO	20131100203	RAJKIYAKRIT M S ANGWALI
32	JHARKHAND	BOKARO	20131103201	RAJKIYAKRIT M S TENUGHAT
33	JHARKHAND	HAZARIBAGH	20040100201	MIDDLE SCHOOL GAURIYA KARMA
34	JHARKHAND	HAZARIBAGH	20040106901	MIDDLE SCHOOL BENDAGI
35	JHARKHAND	HAZARIBAGH	20040110701	UPG M.S. DAPOK
36	JHARKHAND	HAZARIBAGH	20040113102	UPG M.S. BARHIDIH
37	JHARKHAND	HAZARIBAGH	20040200101	UPG M.S. BARKAN GANGO

Sl. No.	State Name	District Name	School Code	School Name
38	JHARKHAND	HAZARIBAGH	20040206701	UPG M.S. TURUKBAD
39	JHARKHAND	HAZARIBAGH	20040206801	MIDDLE SCHOOL GAIRA
40	JHARKHAND	HAZARIBAGH	20040409901	MIDDLE SCHOOL ACHAL JAMU
41	JHARKHAND	HAZARIBAGH	20040413001	MIDDLE SCHOOL GALHOWAR
42	JHARKHAND	HAZARIBAGH	20040531403	MIDDLE SCHOOL RAMPUR
43	JHARKHAND	HAZARIBAGH	20040906001	MIDDLE SCHOOL KARIYATPUR
44	JHARKHAND	HAZARIBAGH	20040906502	UPG M.S. MANGURA
45	JHARKHAND	HAZARIBAGH	20041003601	MIDDLE SCHOOL KATKAMSANDI
46	JHARKHAND	HAZARIBAGH	20041006001	UPG M.S. HEDLAG
47	JHARKHAND	HAZARIBAGH	20041105703	MIDDLE SCHOOL PETO
48	JHARKHAND	HAZARIBAGH	20042003201	BOYS' MIDDLE SCHOOL DARU
49	JHARKHAND	PALAMU	20020909703	RAJKIYEKRIT BOYS MS BISRAMPUR
50	JHARKHAND	PALAMU	20021007001	UPG RAJKIYEKRIT MS KEWAL
51	JHARKHAND	PALAMU	20020200101	RAJKIYEKRIT BOYS MS HARIHARGANJ
52	JHARKHAND	PALAMU	20020401316	RAJKIYEKRIT URDU MS HUSAINABAD
53	JHARKHAND	PALAMU	20020806902	UPG RAJKIYEKRIT MS SEMRI
54	JHARKHAND	PALAMU	20021604101	UPG RAJKIYEKRIT MS BHAJNIYA
55	JHARKHAND	PALAMU	20021903504	UPG RAJKIYEKRIT MS TUKBERA TOLA
56	JHARKHAND	PALAMU	20020717701	RAJKIYEKRIT MS SARAIDIH
57	JHARKHAND	PALAMU	20022003101	RAJKIYEKRIT MS PANDWA
58	JHARKHAND	PALAMU	20021200301	RAJKIYEKRIT MS PATAN
59	JHARKHAND	PALAMU	20022101902	UPG MS KATHAR TOLA
60	JHARKHAND	PALAMU	20021300702	RAJKIYEKRIT MS KASIYADIH
61	JHARKHAND	RAMGARH	20241203601	UPG M.S. TOPA
62	JHARKHAND	RAMGARH	20241207002	UPG M.S. SIRKA
63	JHARKHAND	RAMGARH	20241300701	UPG M.S. KURBIJ
64	JHARKHAND	RAMGARH	20241302004	MIDDLE SCHOOL JAINAGAR
65	JHARKHAND	RAMGARH	20241304801	UPG M.S. CHAINGARA
66	JHARKHAND	RAMGARH	20241307902	MIDDLE SCHOOL NAYA NAGAR
67	JHARKHAND	RAMGARH	20241308601	MIDDLE SCHOOL SANKUL
68	JHARKHAND	RAMGARH	20241400702	MIDDLE SCHOOL BLOCK H.Q.
69	JHARKHAND	RAMGARH	20241409303	MIDDLE SCHOOL KOYARI TOLA
70	JHARKHAND	RAMGARH	20241500201	GIRLS' MIDDLE SCHOOL MAYAL
71	JHARKHAND	RAMGARH	20241501501	UPG M.S. BOROBING
72	JHARKHAND	RAMGARH	20241502001	MIDDLE SCHOOL LARI
73	JHARKHAND	RAMGARH	20241601601	UPG M.S. USRA
74	JHARKHAND	PASCHIMI SINGHBHUM	20170217001	MIDDLE SCHOOL DEOGAON ADARSH
75	JHARKHAND	PASCHIMI SINGHBHUM	20170500202	MIDDLE SCHOOL GOELKERA BOYS

Sl.	State Name	District	School Code	School Name
No.		Name		
76	JHARKHAND	PASCHIMI	20170500201	MIDDLE SCHOOL GOELKERA GIRLS
		SINGHBHUM		
77	JHARKHAND	PASCHIMI	20170705101	MIDDLE SCHOOL DANGUAPOSI
78	JHARKHAND	SINGHBHUM PASCHIMI	20170705001	UPG M.S. TONDANGHATU
70	JIANNIAND	SINGHBHUM	20170703001	of G M.S. TONDANGHATO
79	JHARKHAND	PASCHIMI	20171005201	UPG M.S. BACHAMHATU
		SINGHBHUM		
80	JHARKHAND	PASCHIMI	20171309101	BASIC SCHOOL JANUMAPI
81	JHARKHAND	SINGHBHUM PASCHIMI	20171301301	MIDDLE SCHOOL GHORABANDHA
01	JHAKKHAND	SINGHBHUM	20171301301	MIDDLE SCHOOL GHORADANDHA
82	JHARKHAND	PASCHIMI	20171302901	UPG M.S. AMBAIMARCHA
		SINGHBHUM		
83	JHARKHAND	PASCHIMI	20171700201	MIDDLE SCHOOL BARAJAMDA ADARSH
0.4		SINGHBHUM	20171700010	
84	JHARKHAND	PASCHIMI SINGHBHUM	20171700810	MIDDLE SCHOOL GUASAI
85	JHARKHAND	PASCHIMI	20171700701	MIDDLE SCHOOL N'MUNDI BAZAR
	,	SINGHBHUM		
86	JHARKHAND	PASCHIMI	20171905701	MIDDLE SCHOOL GUIRA
0.7		SINGHBHUM	00454006004	
87	JHARKHAND	PASCHIMI SINGHBHUM	20171906001	MIDDLE SCHOOL TATA COLLEGE CO.
88	JHARKHAND	PASCHIMI	20172106101	MIDDLE SCHOOL MADANGJAHIR
	,	SINGHBHUM		
89	JHARKHAND	PASCHIMI	20172106001	MIDDLE SCHOOL SONUA GIRLS
		SINGHBHUM	20150101502	
90	JHARKHAND	LOHARDAGA	20150401502	GOVT MS BHANDRA
91	JHARKHAND	LOHARDAGA	20150404805	GOVT MS CHATTI
92	JHARKHAND	LOHARDAGA	20150403301	UPG GOVT MS BHITHA
93	JHARKHAND	LOHARDAGA	20150402001	UPG GOVT MS PALMI
94	JHARKHAND	LOHARDAGA	20150401901	UPG GOVT MS PORHA
95	JHARKHAND	LOHARDAGA	20150406301	UPG GOVT MS UDRANGI
96	JHARKHAND	LOHARDAGA	20150601401	GOVT BASIC SCHOOL HANHAT
97	JHARKHAND	LOHARDAGA	20150208004	GOVT GIRL MS KISKO
98	JHARKHAND	LOHARDAGA	20150208102	GOVT MS KISKO
99	JHARKHAND	LOHARDAGA	20150207108	GOVT MS NARI NAWADIH
100	JHARKHAND	LOHARDAGA	20150507501	GOVT MS KAKARGARH
101	JHARKHAND	LOHARDAGA	20150502401	GOVT MS KOLSIMRI
102	JHARKHAND	LOHARDAGA	20150503501	UPG GOVT MS URUMURU
103	JHARKHAND	LOHARDAGA	20150501802	UPG GOVT URDU GIRL MS SUNDRU
104	JHARKHAND	LOHARDAGA	20150103201	GOVT MS BAGHA

SI. No.	State Name	District Name	School Code	School Name
105	JHARKHAND	LOHARDAGA	20150104811	UPG GOVT MS SHANTI ASHRAM
106	JHARKHAND	LOHARDAGA	20150305601	GOVT MS ARRU
107	JHARKHAND	LOHARDAGA	20150307701	GOVT MS GAGEYA
108	JHARKHAND	DHANBAD	20120607002	H KANYA M B PANCHGARHI
109	JHARKHAND	DHANBAD	20120607016	RAJENDRA KANYA MS KATRAS
110	JHARKHAND	DHANBAD	20120610402	MS ADARSH MIDDLE SCHOOL RAJGANG
111	JHARKHAND	DHANBAD	20120602302	R MV NAWAGARH
112	JHARKHAND	DHANBAD	20120801804	SETH SUKHIRAM GIRLS MS GOVINDPUR
113	JHARKHAND	DHANBAD	20120300417	MS PUTKI
114	JHARKHAND	DHANBAD	20120301209	BALIKA MS DHANSAR
115	JHARKHAND	DHANBAD	20120802801	MS PALASI
116	JHARKHAND	DHANBAD	20120801303	URDU MS JANGALPUR
117	JHARKHAND	DHANBAD	20120807001	MS ASANBANI
118	JHARKHAND	DHANBAD	20120210106	MS INDUSTRY
119	JHARKHAND	DHANBAD	20120711101	MS BARIA BUNIYADI NIRSA
120	JHARKHAND	DHANBAD	20120700702	MS BARIA BUNIADI MAITHAN
121	JHARKHAND	DHANBAD	20120700102	BALAK BALIKA HINDI MS CHIRKUNDA
122	JHARKHAND	DHANBAD	20120707401	M.S.DUVI
123	JHARKHAND	DHANBAD	20120707901	MS SALUKCHAPRA
124	JHARKHAND	DHANBAD	20120705202	MS KELIASOLE
125	JHARKHAND	DHANBAD	20120702602	BOARD MS MUGMA
126	JHARKHAND	DHANBAD	20120427603	MS KESHKA
127	JHARKHAND	DHANBAD	20120400801	MS MANIADIH
128	JHARKHAND	GUMLA	20161104201	RAJKRIYAKRIT MIDDLE SCHOOL BANAGUTU
129	JHARKHAND	GUMLA	20161104603	RAJKRIYAKRIT BOYS MIDDLE SCHOOL BASIA
130	JHARKHAND	GUMLA	20161002301	GOVT BOY'S MS BHARNO
131	JHARKHAND	GUMLA	20161002101	RAJKIYAKRIT MIDDILE SCHOOL DOMBA
132	JHARKHAND	GUMLA	20160509102	GOVT MS DUMRI TANGARDIH
133	JHARKHAND	GUMLA	20160206702	RAJYAKRIT MIDDLE SCHOOL GHAGHRA
134	JHARKHAND	GUMLA	20160802401	GOVT MS TOTO
135	JHARKHAND	GUMLA	20160805805	GOVT MS GUMLA (H.Q)
136	JHARKHAND	GUMLA	20160819506	RAJENDRA ABHYAS MS GUMLA
137	JHARKHAND	GUMLA	20160800602	GOVT.URDU M/S ,KOTAM
138	JHARKHAND	GUMLA	20160812101	GOVT MS KARAUNDA
139	JHARKHAND	GUMLA	20160814201	GOVT MS PATIYA
140	JHARKHAND	GUMLA	20160703901	RAJKIYAKRIT MIDDLE SCHOOL KANSIR
141	JHARKHAND	GUMLA	20161307101	RAJYAKIYA BASIC SCHOOL BAGHIMA
142	JHARKHAND	GUMLA	20160904301	GOVT.BOY'S MS SISAI
143	JHARKHAND	DEOGHAR	20070301308	GOVT M.S JASIDIH (BOYS)

Sl. No.	State Name	District Name	School Code	School Name
144	JHARKHAND	DEOGHAR	20070333407	M.S ROHINI (BALAK)
145	JHARKHAND	DEOGHAR	20070905701	M.S. PAHARIYATAND
146	JHARKHAND	DEOGHAR	20070902103	GOVT. UPG. M.S. JUMARBAD (URDU)
147	JHARKHAND	DEOGHAR	20070804201	M.S PATHROL
148	JHARKHAND	DEOGHAR	20070806101	UPG.M.S. DHOBANA
149	JHARKHAND	DEOGHAR	20070707101	UPG.M.S. GAGHARJORI (URDU)
150	JHARKHAND	DEOGHAR	20070708001	UPG. M.S. PATWABAD (URDU)
151	JHARKHAND	DEOGHAR	20071101701	GOVT UPG.M.S FAGO
152	JHARKHAND	DEOGHAR	20071103401	M.S MARGOMUNDA
153	JHARKHAND	DEOGHAR	20070105001	M.S. RIKHIYA
154	JHARKHAND	DEOGHAR	20070132601	GOVT. UPG. M.S. BANDHA
155	JHARKHAND	DEOGHAR	20070608502	GOVT M.S PALOJORI (KANYA)
156	JHARKHAND	DEOGHAR	20070608401	GOVT M.S GHORADAHA
157	JHARKHAND	DEOGHAR	20070500602	GOVT M.S BAMANGAMA (KANYA)
158	JHARKHAND	DEOGHAR	20070200101	M.S SARWAN BALAK
159	JHARKHAND	DEOGHAR	20070200201	M.S BANDAJORI
160	JHARKHAND	DEOGHAR	20071003401	GOVT. UPG .M.S. PADARIYA
161	JHARKHAND	DEOGHAR	20071004401	GOVT UPG .M.S BABUDIHBISHANPUR
162	JHARKHAND	GODDA	20081103701	GOVT MS BASANT RAI
163	JHARKHAND	GODDA	20080801901	GOVT MS KHARKHODIYA
164	JHARKHAND	GODDA	20080201001	GOVT MS PAHAR KHAND
165	JHARKHAND	GODDA	20080801501	GOVT MS DIGHI
166	JHARKHAND	GODDA	20081001604	GOVT MS MOTIYA
167	JHARKHAND	GODDA	20081104001	GOVT MS BISHAN PUR
168	JHARKHAND	GODDA	20080201701	GOVT MS KASBA
169	JHARKHAND	GODDA	20080801601	GOVT MS MAL MANDRO
170	JHARKHAND	GODDA	20080108701	GOVT MS SARBHANGA
171	JHARKHAND	GODDA	20080909501	GOVT MS KORKA
172	JHARKHAND	GODDA	20081010001	GOVT MS SIMRADA
173	JHARKHAND	GODDA	20080202601	UPG GOVT MS SIGHARI HINDI
174	JHARKHAND	GODDA	20081008602	GOVT MS SUNDMARA
175	JHARKHAND	GODDA	20080200501	GOVT MS LAKARMARA
176	JHARKHAND	GODDA	20081100105	GOVT MS RAHA HINDI
177	JHARKHAND	KHUNTI	20230605501	UPG GOVT MS DUMARDAGA
178	JHARKHAND	KHUNTI	20230105201	GOVT MS RANIA
179	JHARKHAND	KHUNTI	20230412701	UPG GOVT MS PADAMPUR
180	JHARKHAND	KHUNTI	20230613802	GOVT MS HITUTOLA
181	JHARKHAND	KHUNTI	20230205201	GOVT MS HASSA KANYA
182	JHARKHAND	KHUNTI	20230509801	UPG GOVT MS SIRKADIH

Sl. No.	State Name	District Name	School Code	School Name
183	JHARKHAND	KHUNTI	20230104401	UPG GOVT MS KULHAI
184	JHARKHAND	KHUNTI	20230308509	UPG MS PITAY TOLI
185	JHARKHAND	KHUNTI	20230308405	GOVT MS SUNDARI
186	JHARKHAND	KHUNTI	20230415301	GOVT MS TUNGAON
187	JHARKHAND	KHUNTI	20230209601	GOVT MS MAHIL
188	JHARKHAND	KHUNTI	20230405901	UPG GOVT MS GUMRU
189	JHARKHAND	KHUNTI	20230507802	GOVT MS NOURHI
190	JHARKHAND	KHUNTI	20230417901	UPG MS KALAMUCHIYA
191	JHARKHAND	KHUNTI	20230304101	UPG MS KUJURDAG
192	JHARKHAND	DUMKA	20110124301	GOVT.M.S.RANIBAHAL
193	JHARKHAND	DUMKA	20110129401	GOVT.RA.SA.SM.M.S.DUMKA
194	JHARKHAND	DUMKA	20110128601	GOVT.RA.M.S.KARHARBIL
195	JHARKHAND	DUMKA	20110806901	GOVT.M.S.KARUDIH
196	JHARKHAND	DUMKA	20110428303	GOVT.AD.M.S.JAMA
197	JHARKHAND	DUMKA	20110413208	RAJKIYAKRIT GIRL MS JAMA
198	JHARKHAND	DUMKA	20110401001	GOVT.M.S.AMLACHATAR
199	JHARKHAND	DUMKA	20110543701	M.S.RAJAN
200	JHARKHAND	DUMKA	20110552702	GOVT.KA.M.S.JARMUNDI
201	JHARKHAND	DUMKA	20110919102	GOVT.K.M.S.KATHIKUND
202	JHARKHAND	DUMKA	20110901101	UPG UR.M.S.ASTAJORA
203	JHARKHAND	DUMKA	20110313503	GOVT.RA.M.S.MASALIA
204	JHARKHAND	DUMKA	20110331701	GOVT.M.S.DALAHI
205	JHARKHAND	DUMKA	20110722401	GOVT UPG M.S.MAJDIHA-1
206	JHARKHAND	DUMKA	20110714404	GOVT.BA.M.S.RAMGARH
207	JHARKHAND	DUMKA	20110201302	GOVT.RA.M.S.ASANBANI
208	JHARKHAND	DUMKA	20110618901	UPG M.S.KASBA
209	JHARKHAND	DUMKA	20110620601	GOVT.M.S.KURMAHAT
210	JHARKHAND	DUMKA	20111024101	GOVT.RA.KA.M.S.SHIKARIPARA
211	JHARKHAND	DUMKA	20111024102	GOVT.M.S.SIKARIPARA (BALAK)
212	JHARKHAND	SERAIKELLA	20202010202	MS BOYS SERAIKELLA
213	JHARKHAND	SERAIKELLA	20202007701	MS SINI
214	JHARKHAND	SERAIKELLA	20200906601	AMS KHARSAWAN
215	JHARKHAND	SERAIKELLA	20200907801	MS AMDA
216	JHARKHAND	SERAIKELLA	20201102702	UMS JOJOHATU
217	JHARKHAND	SERAIKELLA	20201103002	UMS BANDIH
218	JHARKHAND	SERAIKELLA	20201802001	GOVT. BASIC SCHOOL RAJNAGAR
219	JHARKHAND	SERAIKELLA	20201801201	UMS GOVINDPUR
220	JHARKHAND	SERAIKELLA	20201807701	UMS NAMIBERA
221	JHARKHAND	SERAIKELLA	20200412002	MS BHATIYA

Sl. No.	State Name	District Name	School Code	School Name
222	JHARKHAND	SERAIKELLA	20200428803	UMS KULUPTANGA
223	JHARKHAND	SERAIKELLA	20200304901	MS URMAL
224	JHARKHAND	SERAIKELLA	20200302503	BOYS MS CHANDIL
225	JHARKHAND	SERAIKELLA	20201604201	MS ADARDIH
226	JHARKHAND	SERAIKELLA	20201603301	MS NIMDIH
227	JHARKHAND	SERAIKELLA	20200603801	MS BURUHATU
228	JHARKHAND	SERAIKELLA	20200606301	MS LEPATAND
229	JHARKHAND	SERAIKELLA	20202100601	UMS KUDA GIRLS
230	JHARKHAND	JAMTARA	20191105701	RAJIKIYAKRUT UPGRADE MIDDLE SCHOOL CHENGAIDIH(URDU)
231	JHARKHAND	JAMTARA	20191107101	RAJIKIYAKRUT MIDDLE SCHOOL DHOBNA
232	JHARKHAND	JAMTARA	20191126901	RAJIKIYAKRUT GIRLS MIDDLE SCHOOL MIHIJAM
233	JHARKHAND	JAMTARA	20191200601	GOVT RAJKIYKRUT MIDDELE SCHOOL AMJORA
234	JHARKHAND	JAMTARA	20191213701	RAJKIYKRIT MIDDLE SCHOOL KALIPAHARI
235	JHARKHAND	JAMTARA	20191221702	RAJKIYKRIT UPGREDE MIDDLE SCHOOL NARAYANPUR
236	JHARKHAND	JAMTARA	20191223701	RAJKIYKRIT MIDDLE SCHOOL GHATI(PANDEYDIH)
237	JHARKHAND	JAMTARA	20191406401	RAJKIYAKRIT MIDDLE SCHOOL BIKRAMPUR
238	JHARKHAND	JAMTARA	20191507401	RAJKIYKRIT UPGRADE MIDDLE SCHOOL NAWADIH (URDU)
239	JHARKHAND	JAMTARA	20191507601	RAJKIYKRIT UPGRADE MIDDLE SCHOOL PINDARI
240	JHARKHAND	JAMTARA	20191510201	RAJKIYKRIT UPGRADE MIDDLE SCHOOL NIJKAJRA
241	JHARKHAND	JAMTARA	20191611301	RAJKIYAKRIT UPGRADE MIDDLE SCHOOL ANGUTHIA
242	JHARKHAND	JAMTARA	20191611701	RAJKIYAKRIT MIDDLE SCHOOL FATEHPUR
243	JHARKHAND	JAMTARA	20191332401	RAJKIYKRIT UPGRADE MIDDLE SCHOOL SRIPUR
244	JHARKHAND	JAMTARA	20191333701	RAJKIYKRIT UPGRADE MIDDLE SCHOOL TILABANI
245	JHARKHAND	PURBI SINGHBHUM	20180109902	ADARSH M.S. BANGURDA
246	JHARKHAND	PURBI SINGHBHUM	20180313001	M.S.KARANDIH, J2
247	JHARKHAND	PURBI SINGHBHUM	20180310601	GOVT.M.S.DIMNA , J1
248	JHARKHAND	PURBI SINGHBHUM	20180314601	M.S.JANIGORA, J2
249	JHARKHAND	PURBI SINGHBHUM	20180310608	M.S.SHANKOSAI, J1

250JHARKHANDPURBI SINCHBHUM20180308401M.S.GHORABANDHA, J1251JHARKHANDPURBI SINCHBHUM20180317101GOVT.M.S.NILDIH EAST, J1252JHARKHANDPURBI SINCHBHUM20180207901M.S.MANPUR, P1253JHARKHANDPURBI SINCHBHUM20180739002M.S.MANUSH MURIA, B-2254JHARKHANDPURBI SINCHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINCHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR, J1256JHARKHANDPURBI SINCHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR, J1257JHARKHANDPURBI SINCHBHUM20180310501RASH.PITA GANDHI M.S.MANGO, J1258JHARKHANDPURBI SINCHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINCHBHUM201802179401M.S.JAYPURA261JHARKHANDPURBI SINCHBHUM20180217903UPGRADED MS DUDHKUNDI262JHARKHANDPURBI SINCHBHUM2018021703UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA2005050101GOVT MS CHANDWARA264JHARKHANDKODERMA2005050101UPG GOVT MS THAM265JHARKHANDKODERMA2005050101UPG GOVT MS BHONDO266JHARKHANDKODERMA2005050101UPG GOVT MS BHONDO267JHARKHANDKODERMA2005011902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA2005020710UPG GOVT MS BHONDO267	Sl. No.	State Name	District Name	School Code	School Name
SINGHBHUMConstraint251JHARKHANDPURBI SINGHBHUM20180317101GOVT.M.S.NILDIH EAST, J1252JHARKHANDPURBI SINGHBHUM20180207901M.S.MANPUR, P1253JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA254JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI 					
251JHARKHAND JRRPURBI SINGHBHUM20180317101 20180207901GOVT.M.S.NILDIH EAST, J1252JHARKHAND PURBI SINGHBHUM20180739002M.S.MANPUR, P1253JHARKHAND PURBI SINGHBHUM20180739002M.S.MANUSH MURIA, B-2254JHARKHAND PURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHAND PURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHAND PURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHAND PURBI SINGHBHUM20180310501RASH.PITA GANDHIN.S.GANDHINAGAR,J1258JHARKHAND PURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHAND PURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHAND PURBI SINGHBHUM20180208901M.S.GITILATA, P1261JHARKHAND PURBI SINGHBHUM2018002402M.S.MUSABANI-1262JHARKHAND PURBI SINGHBHUM2018002501101GOVT MS CHANDWARA264JHARKHAND KODERMA2005050101UPC GOVT MS MADANGUNDI265JHARKHAND KODERMA2005050101UPC GOVT MS HAM266JHARKHAND KODERMA2005050101UPC GOVT MS HAM265JHARKHAND KODERMA2005050101UPC GOVT MS BHONGO266JHARKHAND KODERMA20050118901GOVT ADARSH MS KODERMA266JHARKHAND KODERMA2005020108UPC GOVT MS BHONA266JHARKHAND KODERMA2005011	250	JHARKHAND		20180308401	M.S.GHORABANDHA, J1
252JHARKHANDPURBI SINGHBHUM20180207901 M.S.MANUSH MURIA, B-2253JHARKHANDPURBI SINGHBHUM20180739002M.S.MANUSH MURIA, B-2254JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1257JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHIM.SGANDHINAGAR,J1258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI261JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI262JHARKHANDPURBI SINGHBHUM20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI266JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI266JHARKHANDKODERMA2005020102GOVT ADARSH MS KODERMA266JHARKHANDKODERMA2005020101UPG GOVT MS MANGAGA270JHARKHANDKODERMA2005020101UPG GOVT MS MANGAGA	251	IHARKHAND		20180317101	GOVT M S NILDIH EAST. I1
SINGHBHUMSINGHBHUM253JHARKHANDPURBI SINGHBHUM20180739002M.S.MANUSH MURIA, B-2254JHARKHANDPURBI SINGHBHUM20180317005BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1259JHARKHANDPURBI SINGHBHUM20180709401M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM201800902402W.S.MUSABANI-1263JHARKHANDKODERMA2005050101GOVT MS CHANDWARA264JHARKHANDKODERMA2005050101UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA200501101GOVT MS THAM266JHARKHANDKODERMA200501101GOVT ADARSH MS KODERMA266JHARKHANDKODERMA20050118902GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT MS CHANDWARA268JHARKHANDKODERMA20050118902GOVT MS ADAGRMA270JHARKHANDKODERMA20050209802UPG GOVT MS MARACHO271JHARKHAND	201	Jinnaninte		2010001/101	
253JHARKHANDPURBI SINGHBHUM20180739002M.S.MANUSH MURIA, B-2254JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM201800217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050501201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501101GOVT ADARSH MS KODERMA266JHARKHANDKODERMA20050118902GOVT ADARSH MS MARKACHO270JHARKHANDKODERMA20050207102UPG GOVT MS MAHUGAIN266JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA2005020303GOVT MS MAHUGAIN273JHARKHAND <td>252</td> <td>JHARKHAND</td> <td>-</td> <td>20180207901</td> <td>M.S.MANPUR, P1</td>	252	JHARKHAND	-	20180207901	M.S.MANPUR, P1
SINGHBHUMSINGHBHUM254JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180219202M.S.MUXABANI-1261JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI262JHARKHANDPURBI SINGHBHUM2018021703UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA2005050101GOVT MS CHANDWARA264JHARKHANDKODERMA2005050101UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA2005050101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050118902GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207108UPG GOVT MS MARKACHO272JHARKHANDKODERMA20050207108UPG GOVT MS MARKACHO273JHARKHANDKODERMA20050207108UPG GOVT MS MARKACHO274JHARKHANDKODERMA20050207108UPG GOVT MS MARKACHO<					
254JHARKHANDPURBI SINGHBHUM20180704401BALIKA MID.SCH.BAHRAGORA255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.GANDHINAGAR,J1258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180719401M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDPURBI SINGHBHUM2018020500201UPGRADED MS DUDHKUNDI264JHARKHANDKODERMA20050501701UPG GOVT MS CHANDWARA265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA266JHARKHANDKODERMA20050118902GOVT ADARSH MS MUARI TILAIYA266JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050207102GOVT MS MARKACHO2	253	JHARKHAND		20180739002	M.S.MANUSH MURIA, B-2
SINGHBHUMSINGHBHUM255JHARKHANDPURBI SINGHBHUM20180317005M.S.HARIJAN BHALUBASA, J1256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA262JHARKHANDPURBI SINGHBHUM20180208901UPGRADED MS DUDHKUNDI SINGHBHUM263JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI SINGHBHUM264JHARKHANDKODERMA20050501101GOVT MS CHANDWARA265JHARKHANDKODERMA20050501011UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501011UPG GOVT MS MADANGUNDI266JHARKHANDKODERMA20050118902GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA2005020101UPG GOVT MS MARACHO270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT MS BARIACHO272JHARKHANDKODERMA20050207102GOVT MS BARIARDIH273JHARKHANDKODERMA20050203003GOVT MS BARI	254	IHARKHAND		20180704401	BALIKA MID SCH BAHRAGORA
SINGHBHUMSINGHBHUM256JHARKHANDPURBI SINGHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180719401M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA2005050101GOVT MS CHANDWARA264JHARKHANDKODERMA2005050101UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA200501101GOVT MS BHADA266JHARKHANDKODERMA200501101GOVT MS BHONDO267JHARKHANDKODERMA200501101GOVT ADARSH MS KODERMA268HARKHANDKODERMA2005011901GOVT GIRLS MS KODERMA269JHARKHANDKODERMA200501207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA2005020303GOVT MS BANARKACHO272JHARKHANDKODERMA2005020303GOVT MS BARIARDIH274JHARKHANDKODERMA200501311701GOVT MS PARSABAD275JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH276JHARKHANDKODERMA20050408305 <td>201</td> <td>Jinnaninte</td> <td></td> <td>20100701101</td> <td></td>	201	Jinnaninte		20100701101	
256JHARKHANDPURBI SINCHBHUM20180310401JHANDASINGH M.S.GANDHINAGAR,J1257JHARKHANDPURBI SINCHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINCHBHUM20180208901RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI SINGHBHUM262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501011UPG GOVT MS THAM266JHARKHANDKODERMA2005011901GOVT ADARSH MS KODERMA268JHARKHANDKODERMA2005011901GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050118901GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA2005020303GOVT MS MAHUGAIN273JHARKHANDKODERMA2005020311701GOVT GIRLS MS JAINAGAR274JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH274JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH274JHARKHANDKODERMA20050408305	255	JHARKHAND	PURBI	20180317005	M.S.HARIJAN BHALUBASA, J1
SINGHBHUMCOIBOLTSON257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180207202M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500101UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050500101UPG GOVT MS CHANDWARA266JHARKHANDKODERMA2005011901GOVT MS CHANDWARA266JHARKHANDKODERMA200501101GOVT MS BADANGUNDI267JHARKHANDKODERMA20050118902GOVT MS BHANDO268JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA2005020303GOVT MS BARIARDIH273JHARKHANDKODERMA20050311701GOVT GIRLS MS JANAGAR274JHARKHANDKODERMA20050311701GOVT MS BARIARDIH275JHARKHANDKODERMA2005031601UPG					
257JHARKHANDPURBI SINGHBHUM20180115401M.S.BANKUCHIYA258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA2005050101UPG GOVT MS CHANDWARA266JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207102GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO273JHARKHANDKODERMA2005020303GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA200503116801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS RAILARDIH277JHARKHANDKODERMA20050408305UPG GOVT MS RAILARDIH	256	JHARKHAND	-	20180310401	JHANDASINGH M.S.GANDHINAGAR,J1
Image: Singer between state of the state	257	IHARKHAND		20180115401	Μ S ΒΑΝΚΙΙCΗΙΥΑ
258JHARKHANDPURBI SINGHBHUM20180310501RASH.PITA GANDHI M.S.MANGO,J1259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501011UPG GOVT MS THAM266JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO270JHARKHANDKODERMA2005020102GVT ADARSH MS MARKACHO271JHARKHANDKODERMA2005020103GOVT MS BARIARDIH272JHARKHANDKODERMA2005020102GVT MS BARIARDIH273JHARKHANDKODERMA2005020303GVT MS BARIARDIH274JHARKHANDKODERMA20050311701GVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GVT MS BARIARDIH274JHARKHANDKODERMA20050316801GVT MS SAMALDIH275JHARKHANDKODERMA20050408305UPG GVT MS SAMALDIH276JHARKHAN	237	JIANNIAND		20100113401	M.S.DANKOGIIIIA
259JHARKHANDPURBI SINGHBHUM20180208901M.S.GITILATA, P1260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS HAM266JHARKHANDKODERMA200501101GOVT ADARSH MS KODERMA267JHARKHANDKODERMA200501101GOVT ADARSH MS KODERMA268JHARKHANDKODERMA200501101GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207102GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT MS MAHUGAIN272JHARKHANDKODERMA20050203003GOVT MS MAHUGAIN273JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050311701GOVT MS SAMALDIH274JHARKHANDKODERMA20050316801GOVT MS SAMALDIH275JHARKHANDKODERMA20050316801GOVT MS SAMALDIH276JHARKHANDKODERMA </td <td>258</td> <td>JHARKHAND</td> <td></td> <td>20180310501</td> <td>RASH.PITA GANDHI M.S.MANGO,J1</td>	258	JHARKHAND		20180310501	RASH.PITA GANDHI M.S.MANGO,J1
Image: Singer Berlin and Singer					
260JHARKHANDPURBI SINGHBHUM20180719401M.S.JAYPURA261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050500101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207102GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050209802UPG GOVT MS MARKACHO273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050316801GOVT MS SAMALDIH277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH278JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH	259	JHARKHAND		20180208901	M.S.GITILATA, P1
SINGHBHUMSINGHBHUM261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050501201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA2005050101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050118901GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050203003GOVT MS MAHUGAIN273JHARKHANDKODERMA200501101GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	260	ΙΠΥΔΚΠΥΝΟ		20190710401	
261JHARKHANDPURBI SINGHBHUM20180902402M.S.MUSABANI-1262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS MADANGUNDI266JHARKHANDKODERMA20050501011UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050203003GOVT MS MAHUGAIN273JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050316801GOVT MS SAMALDIH276JHARKHANDKODERMA20050408305UPG GOVT MS MADHUBAN277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH278JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH	200	JIIAKKIIAND		20100719401	M.S.JATFUNA
262JHARKHANDPURBI SINGHBHUM20180217803UPGRADED MS DUDHKUNDI263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050501011UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050203003GOVT MS BARIARDIH273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	261	JHARKHAND		20180902402	M.S.MUSABANI-1
SINGHBHUMSINGHBHUM263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA2005050101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050203003GOVT MS MAHUGAIN273JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050316801GOVT MS SAMALDIH276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH					
263JHARKHANDKODERMA20050501101GOVT MS CHANDWARA264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050500101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050203003GOVT MS MAHUGAIN273JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR274JHARKHANDKODERMA20050311701GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	262	JHARKHAND		20180217803	UPGRADED MS DUDHKUNDI
264JHARKHANDKODERMA20050500201UPG GOVT MS MADANGUNDI265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050500101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS KODERMA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050311701GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	262	ΙΠΥΔΚΠΥΝΟ		20050501101	
265JHARKHANDKODERMA20050501701UPG GOVT MS THAM266JHARKHANDKODERMA20050500101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH277JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		,			
266JHARKHANDKODERMA20050500101UPG GOVT MS BHONDO267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS PARSABAD275JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH276JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		,			
267JHARKHANDKODERMA20050118902GOVT ADARSH MS KODERMA268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS RAIDIH278JHARKHANDKODERMA200506007602UPG GOVT MS RAIDIH		,			
268JHARKHANDKODERMA20050119601GOVT ADARSH MS JHUMARI TILAIYA269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT MS BARIARDIH275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA2005060701UPG GOVT MS RAIDIH278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		,			
269JHARKHANDKODERMA20050118901GOVT GIRLS MS KODERMA270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS MAHUBAN277JHARKHANDKODERMA20050600701UPG GOVT MS MAHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		-			
270JHARKHANDKODERMA20050207108UPG GOVT GIRLS MS MARKACHO271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		•			
271JHARKHANDKODERMA20050207102GOVT ADARSH MS MARKACHO272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		•			
272JHARKHANDKODERMA20050209802UPG GOVT MS MAHUGAIN273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	-	•			
273JHARKHANDKODERMA20050203003GOVT MS BARIARDIH274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		-			
274JHARKHANDKODERMA20050311701GOVT GIRLS MS JAINAGAR275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH	-	•			
275JHARKHANDKODERMA20050316801GOVT MS PARSABAD276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		-			
276JHARKHANDKODERMA20050408305UPG GOVT MS SAMALDIH277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		,			-
277JHARKHANDKODERMA20050600701UPG GOVT MS MADHUBAN278JHARKHANDKODERMA20050607602UPG GOVT MS RAIDIH		•			
278   JHARKHAND   KODERMA   20050607602   UPG GOVT MS RAIDIH		-			
Ι 477 ΙΠΑΝΝΠΑΙΝΟ Ι ΝΟΡΕΝΜΑ Ι 20030000304 Ι ΟΓG GUVI Μ3 ΝΠΑΚΝΠΑΚ	279	JHARKHAND	KODERMA	20050608904	UPG GOVT MS KHARKHAR

SI.	State Name	District	School Code	School Name
No.		Name		
280	JHARKHAND	SAHIBGANJ	20090804301	GOVT MS AGLOI
281	JHARKHAND	SAHIBGANJ	20090214501	UPG MS SRIRAM CHOWKI PURVI MUSLIM TOLA
282	JHARKHAND	SAHIBGANJ	20090405101	GOVT. MS BHAINSMARI
283	JHARKHAND	SAHIBGANJ	20090102101	UPG GOVT. MS RAJGAON
284	JHARKHAND	SAHIBGANJ	20090903401	UPG GOVT MS BRINDAVAN
285	JHARKHAND	SAHIBGANJ	20090503802	GOVT. MS BOYS RADHANAGAR
286	JHARKHAND	SAHIBGANJ	20090501301	GOVT MS AMANAT DIYARA
287	JHARKHAND	SAHIBGANJ	20090504001	UPG GOVT MS MOHAN PUR
288	JHARKHAND	GIRIDIH	20061402401	UPG GOVT MS KHETKO
289	JHARKHAND	GIRIDIH	20060106001	UPG GOVT MS SONBAD
290	JHARKHAND	GIRIDIH	20060303201	GOVT MS PALOUNJIA
291	JHARKHAND	GIRIDIH	20060200801	GOVT MS GHOSE
292	JHARKHAND	GIRIDIH	20060229404	GOVT MS CHATRO
293	JHARKHAND	GIRIDIH	20060201401	GOVT MS GHORAN JEE
294	JHARKHAND	GIRIDIH	20060707001	GOVT MS DHANWAR (KANYA )
295	JHARKHAND	GIRIDIH	20060410701	GOVT MS. JAMTARA
296	JHARKHAND	GIRIDIH	20060405101	GOVT MS CHAIN PUR
297	JHARKHAND	GIRIDIH	20061301601	GOVT MS GANDEY
298	JHARKHAND	GIRIDIH	20060909003	GOVT MS MAHATMA GANDHI
299	JHARKHAND	GIRIDIH	20060909002	GOVT MS SHARDA KANYA PACHAMBA
300	JHARKHAND	GIRIDIH	20060916701	GOVT MS LEDA
301	JHARKHAND	GIRIDIH	20060502102	GOVT MIDDLE SCHOOL NAVDIHA
302	JHARKHAND	GIRIDIH	20060504001	GOVT MIDDLE SCHOOL JAMUA
303	JHARKHAND	GIRIDIH	20061502708	GOVT MS SURIYA (KANYA)
304	JHARKHAND	GIRIDIH	20061502709	GOVT MS SURIA (BALAK)
305	JHARKHAND	GIRIDIH	20061100901	UPG GOVT MS TISRI (BOYS)
306	JHARKHAND	SIMDEGA	20210505502	GOVT MS JORAM
307	JHARKHAND	SIMDEGA	20210901101	GOVT MS BANSJOR
308	JHARKHAND	SIMDEGA	20210301301	GOVT MS AWGA
309	JHARKHAND	SIMDEGA	20210400201	UPG GOVT MS KULLUKERA
310	JHARKHAND	SIMDEGA	20210706201	UPG GOVT MS KELUGA
311	JHARKHAND	SIMDEGA	20210418203	GOVT MS SIMDEGA
312	JHARKHAND	SIMDEGA	20210100907	UPG GOVT MS BARKIBIURA
313	JHARKHAND	SIMDEGA	20210801902	UPG GOVT MS KINBIRA
314	JHARKHAND	LATEHAR	20220715401	GOVT MS BHAISADON
315	JHARKHAND	LATEHAR	20220715101	GIRL MS BALUMATH
316	JHARKHAND	LATEHAR	20220905201	GOVT MS SALWE
317	JHARKHAND	LATEHAR	20220905101	GOVT MS BARIYATU
318	JHARKHAND	LATEHAR	20220502501	GOVT MS BARWADIH

Sl. No.	State Name	District Name	School Code	School Name
319	JHARKHAND	LATEHAR	20220502502	GOVT GIRLS MS BARWADIH
320	JHARKHAND	LATEHAR	20220500701	URDU MS POKHRIKALA
321	JHARKHAND	LATEHAR	20220202501	GOVT MS DAMODAR
322	JHARKHAND	LATEHAR	20220203902	GOVT GIRL MS CHANDWA
323	JHARKHAND	LATEHAR	20220200701	GOVT MS SASANG
324	JHARKHAND	LATEHAR	20220203901	GOVT MS CHANDWA
325	JHARKHAND	LATEHAR	20220102801	GOVT MS BANBIRWA
326	JHARKHAND	LATEHAR	20220113501	GOVT MS JALIM
327	JHARKHAND	LATEHAR	20220301001	GOVT BOY MS MANIKA
328	JHARKHAND	LATEHAR	20220304101	GOVT MS BARWADIH
329	JHARKHAND	LATEHAR	20220304301	GOVT MS SINJO
330	JHARKHAND	LATEHAR	20220300301	GOVT MS BARWAIYAKALA
331	JHARKHAND	PAKUR	20100700301	UPG MS ENGLISHPARA
332	JHARKHAND	PAKUR	20100700601	UPG MS LAXMIPUR
333	JHARKHAND	PAKUR	20101003701	UPG MS CHENGADANGA
334	JHARKHAND	PAKUR	20101005102	UPG MS ISAKPUR
335	JHARKHAND	PAKUR	20101003201	UPG MS SITAPAHARI
336	JHARKHAND	PAKUR	20100800601	UPG MS DHEKUDUBA
337	JHARKHAND	PAKUR	20100804601	UPG MS RAJPOKHAR
338	JHARKHAND	PAKUR	20100805702	MS GANPURA
339	JHARKHAND	PAKUR	20100906001	UPG MS RANIPUR
340	JHARKHAND	PAKUR	20101011301	UPG MS SUNDRAPAHARI
341	JHARKHAND	PAKUR	20101106301	MS LITTIPARA BOYS
342	JHARKHAND	PAKUR	20101104901	MS BICHAMAHAL
343	JHARKHAND	PAKUR	20101100702	UPG MS NAWADIH-2
344	JHARKHAND	PAKUR	20101207502	BUNYADI SCHOOL AMRAPARA
345	JHARKHAND	RANCHI	20142301701	GMS GAJENDRA ITKI
346	JHARKHAND	RANCHI	20140109301	UPGRADED MIDDLE SCHOOL BUKRU NAGRI
347	JHARKHAND	RANCHI	20141003601	MIDDLE SCHOOL IDD
348	JHARKHAND	RANCHI	20140802801	UPGRADED MIDDLE SCHOOL GHARKHATANGA
349	JHARKHAND	RANCHI	20142006001	GMS LUPUNGDIH
350	JHARKHAND	RANCHI	20140601702	GOVT MIDDLE SCHOOL BURMU
351	JHARKHAND	RANCHI	20142400402	GMS KHELARI
352	JHARKHAND	RANCHI	20140406301	GMS SOSAI ASHRAM
353	JHARKHAND	RANCHI	20142500202	UPGRADED MIDDLE SCHOOL RAHE KANYA
354	JHARKHAND	RANCHI	20141109101	GMS PATRAHATU
355	JHARKHAND	RANCHI	20141807101	GMS RELADIH
356	JHARKHAND	RANCHI	20141902303	UPGRADED MIDDLE SCHOOL BAZARTAND
357	JHARKHAND	RANCHI	20141808903	GMS RAJENDRA ASHRAM

Sl. No.	State Name	District Name	School Code	School Name
			00110115010	
358	JHARKHAND	RANCHI	20140115913	GMS BARIYATU
359	JHARKHAND	RANCHI	20140301804	GMS CHOREYA BALAK
360	JHARKHAND	RANCHI	20142203704	GOVT MIDDLE SCHOOL NAGRI
361	JHARKHAND	RANCHI	20140115123	GMS PANDRA
362	JHARKHAND	GARHWA	20010401602	GOVT MS GARHWA (HARIJAN)
363	JHARKHAND	GARHWA	20011900601	GOVT MS SAGMA
364	JHARKHAND	GARHWA	20011401001	GOVT MS DAUNADAG
365	JHARKHAND	GARHWA	20010107701	UPG MS HARHE
366	JHARKHAND	GARHWA	20010502201	UPG GOVT MS GONDA
367	JHARKHAND	GARHWA	20010900701	GOVT MS ARANGI
368	JHARKHAND	GARHWA	20011801502	GOVT MS KETAR
369	JHARKHAND	GARHWA	20011005801	GOVT MS KHAROUNDHA
370	JHARKHAND	GARHWA	20010802402	GOVT MS DHURKI (KANYA)
371	JHARKHAND	GARHWA	20011203801	UPG GOVT MS KARKE
372	JHARKHAND	GARHWA	20011700101	GOVT MS DANDA
373	JHARKHAND	GARHWA	20011310501	UPG GOVT MS BILAITI KHAIR
374	JHARKHAND	GARHWA	20010601802	UPG GOVT MS GHAGHRA
375	JHARKHAND	GARHWA	20010304501	UPG GOVT MS BIJKA

#### ANNEXURE - IV (b)

List of Schools Approved	under ICT and Digita	l Initiatives	(Secondary)
mat of schools hppi oved	and the first and Digita	minuarives	(Secondary)

Sl. No.	State Name	District Name	School Code	School Name
				UPG RAJKIYAKRIT HIGH SCHOOL
1	JHARKHAND	BOKARO	20130605201	GUNJARDIH
2	JHARKHAND	BOKARO	20131102301	UPG RAJKIYAKRIT HIGH SCHOOL PATKI
				UPG RAJKIYAKRIT HIGH SCHOOL
3	JHARKHAND	BOKARO	20131201301	BARAIKALA
4	JHARKHAND	BOKARO	20130320501	UPG RAJKIYAKRIT HIGH SCHOOL JARIDIH
5	JHARKHAND	BOKARO	20130109001	UPG RAJKIYAKRIT HIGH SCHOOL SHANKHAKURI
6	JHARKHAND	BOKARO	20130314701	UPG RAJKIYAKRIT HIGH SCHOOL MADHUNIA
7	JHARKHAND	BOKARO	20131106606	UPG RAJKIYAKRIT HIGH SCHOOL CHANPI
8	JHARKHAND	BOKARO	20131103601	UPG RAJKIYAKRIT HIGH SCHOOL KATAMKULHI
9	JHARKHAND	BOKARO	20131303501	UPG RAJKIYAKRIT HIGH SCHOOL TARANGA
10	JHARKHAND	BOKARO	20130701109	S S HIGH SCHOOL TANDBALIDIH
				UPG RAJKIYAKRIT HIGH SCHOOL
11	JHARKHAND	BOKARO	20131206808	TANGTONA
12	JHARKHAND	BOKARO	20131203201	UPG RAJKIYAKRIT HIGH SCHOOL RAGHUNATHPUR
13	JHARKHAND	BOKARO	20130103402	UPG RAJKIYAKRIT HIGH SCHOOL LALPUR
14	JHARKHAND	BOKARO	20130306901	UPG RAJKIYAKRIT HIGH SCHOOL MIRDHA
15	JHARKHAND	BOKARO	20130320101	UPG RAJKIYAKRIT HIGH SCHOOL SHIBUTAND
16	JHARKHAND	BOKARO	20130104401	UPG RAJKIYAKRIT HIGH SCHOOL SAHARJORI
17	JHARKHAND	CHATRA	20031005801	UPG. H.S.LAWALONG
18	JHARKHAND	CHATRA	20030315006	RAJYA SAMPOSIT HIGH SCHOOL, JORI
19	JHARKHAND	CHATRA	20030327602	RAJYA SAMPOSIT HIGH SCHOOL, PANDEYPURA
20	JHARKHAND	CHATRA	20030700501	UPG.H.S.NAWADIH
21	JHARKHAND	CHATRA	20030126801	UPG.H.S.TONATAND
22	JHARKHAND	CHATRA	20030609903	HIGH SCHOOL BACHRA
23	JHARKHAND	CHATRA	20030403201	U.H.S.TANDWA
24	JHARKHAND	CHATRA	20030605006	PROJECT GIRLS H.S.TANDWA
25	JHARKHAND	CHATRA	20030219901	UPG. H.S. BARAINI
26	JHARKHAND	CHATRA	20030100401	UPG.M.S.KONI
27	JHARKHAND	CHATRA	20031208001	U.H.S.PELTAUL KALAN
28	JHARKHAND	CHATRA	20030701701	UPG.H.S.TETARIA
29	JHARKHAND	CHATRA	20031001701	U.H.S.MADHANIYA
30	JHARKHAND	CHATRA	20030418901	U.H.S.GERUA

Sl. No.	State Name	District Name	School Code	School Name
31	JHARKHAND	DEOGHAR	20070117401	PROJECT KANYA H.S MOHANPUR(I-18-19)
32	JHARKHAND	DEOGHAR	20071100801	UPG H.S PANDANIYA
33	JHARKHAND	DEOGHAR	20070608201	UPG. H.S BASBUTIYA
34	JHARKHAND	DEOGHAR	20070110201	UPG. H.S BALSARA
35	JHARKHAND	DEOGHAR	20071101601	UPG. H.S. KANO (URDU)
36	JHARKHAND	DEOGHAR	20070107101	UPG. H.S. JHILLIGHAT
37	JHARKHAND	DEOGHAR	20070904201	UPG. H.S BALTHARWA
38	JHARKHAND	DEOGHAR	20070900201	UPG. H.S. SIMRAKHASH
39	JHARKHAND	DEOGHAR	20070706601	GOVT. UPG .H.S. JAMA
40	JHARKHAND	DEOGHAR	20070603801	UPG.H.S ASNA
41	JHARKHAND	DEOGHAR	20070604701	UPG .H.S. SILGARIYA
42	JHARKHAND	DEOGHAR	20070105701	UPG. H.S. JAMUNIYA
43	JHARKHAND	DEOGHAR	20070901301	UPG. H.S. DHOBANA
44	JHARKHAND	DHANBAD	20120700404	SHIVJI H S BENAGORIA
45	JHARKHAND	DHANBAD	20120301023	UPG HS KOLAKUSMA
46	JHARKHAND	DHANBAD	20120500601	UPG HS KARMATAND
47	JHARKHAND	DHANBAD	20120901403	UPG HS RAGHUNATHPUR
48	JHARKHAND	DHANBAD	20120501401	UPG HS DOLABAR
49	JHARKHAND	DHANBAD	20120502302	UPG HS DUDHIA
50	JHARKHAND	DHANBAD	20120401201	UPG HS DANDATAND
51	JHARKHAND	DHANBAD	20120400501	UPG HS NAWATAND
52	JHARKHAND	DHANBAD	20120402301	UPG HS JHINAKI
53	JHARKHAND	DHANBAD	20120607501	UPG HS FULWAR (KATRAS)
54	JHARKHAND	DHANBAD	20120212101	UHS SINDRI BASTI
55	JHARKHAND	DHANBAD	20120211404	UHS KHAS JEENAGORA
56	JHARKHAND	DHANBAD	20120804101	UPG MS BARIO URDU
57	JHARKHAND	DHANBAD	20120210410	UHS JAMADOBA WATERBOARD
58	JHARKHAND	DHANBAD	20120400901	MS LODHARIA
59	JHARKHAND	DUMKA	20110322301	UPGRADE +2 GOVT H.S. MOHANPUR
60	JHARKHAND	DUMKA	20110119401	UPGRADE GOVT.H.S.MAKRO
61	JHARKHAND	DUMKA	20110317601	UPGRADE GOVT.RA.H.S.KHAIRBANI
62	JHARKHAND	DUMKA	20110213301	UPGRADE GOVT RA H.S. MAHULBANA
63	JHARKHAND	DUMKA	20110217504	GOVT +2 HIGH SCHOOL RAGHUNATHPUR
64	JHARKHAND	DUMKA	20110423601	UPGRADE H.S. NISCHINTPUR
65	JHARKHAND	DUMKA	20110906601	UPGRADE GOVT RA H.S.DALDALI-1
66	JHARKHAND	DUMKA	20110316801	UPGRADE GOVT. H.S. KATHALIA
67	JHARKHAND	DUMKA	20110431501	UPGRADE GOVT.H.S.UPAR BAHAL
68	JHARKHAND	DUMKA	20110109101	UPGRADE H.S. DOMUHANI (URDU)
69	JHARKHAND	DUMKA	20110619003	UPGRADE BASIC H.S. KENDUA

Sl. No.	State Name	District Name	School Code	School Name
70	JHARKHAND	DUMKA	20110609701	UPGRADE H.S. CHIHUTIYA
71	JHARKHAND	GARHWA	20011003507	R.K +2 HIGH SCHOOL KANDI
72	JHARKHAND	GARHWA	20010503310	R.K. +2 HIGH SCHOOL, MERAL
73	JHARKHAND	GARHWA	20010213901	GOVT UPG HS MANJHIAON
74	JHARKHAND	GARHWA	20011204301	GOVT UPG HS SONEHARA
75	JHARKHAND	GARHWA	20011301801	GOVT UPG +2 HS CHINIYA
76	JHARKHAND	GARHWA	20010900307	GOVT UPG+2 HS RAJI
77	JHARKHAND	GARHWA	20011106401	GOVT UPG HS TANDAWA
78	JHARKHAND	GARHWA	20010304001	GOVT UPG +2 HS FAKIRA DIH
79	JHARKHAND	GARHWA	20011900801	GOVT UPG +2 HS BIRBAL
80	JHARKHAND	GARHWA	20010604401	GOVT UPG HS DUMARSOTA
81	JHARKHAND	GARHWA	20011005807	R.K. HIGH SCHOOL, KHAROUNDHA
82	JHARKHAND	GARHWA	20010604009	R.K. HIGH SCHOOL JHAGRAKHAND
83	JHARKHAND	GARHWA	20011309001	GOVT UPG HS RANPURA
84	JHARKHAND	GARHWA	20010702503	KGBV NAGARUTARI
85	JHARKHAND	GARHWA	20012000304	PROJECT HS BARGARH
86	JHARKHAND	GARHWA	20010703304	GOVT UPG HS PIPARDIH
87	JHARKHAND	GIRIDIH	20061301606	+2 S.S. HIGH SCHOOL GANDEY
88	JHARKHAND	GIRIDIH	20060308902	S.S.H.S. BHARKATTA
89	JHARKHAND	GIRIDIH	20060502103	HIGH SCHOOL NAVDIHA
90	JHARKHAND	GIRIDIH	20061003104	+2 S.S. HIGH SCHOOL KUMHARLALO PIRTAND
91	JHARKHAND	GIRIDIH	20060403801	UPG GOVT HS ASUR BANDH
92	JHARKHAND	GIRIDIH	20060914402	UPG GOVT HS MAHESH LUNDI
93	JHARKHAND	GIRIDIH	20060310301	UPG GOVT HS DWARPAHARI
94	JHARKHAND	GIRIDIH	20060302401	UPG GOVT HS DALANGI
95	JHARKHAND	GIRIDIH	20060130201	UPG GOVT HS SALAYA
96	JHARKHAND	GIRIDIH	20061501205	UPG GOVT HS PARSIYA
97	JHARKHAND	GIRIDIH	20060914201	GOVT UPG HS BANDER KUPI
98	JHARKHAND	GIRIDIH	20061402501	UPG GOVT HS DONDLO
99	JHARKHAND	GIRIDIH	20060703301	UPG GOVT HS KHIJARSOTA
100	JHARKHAND	GIRIDIH	20060918101	UPG GOVT HS DHANAY DIH
101	JHARKHAND	GODDA	20080206901	UPG GOVT HS BUDHASAN
102	JHARKHAND	GODDA	20080909601	UPG GOVT HS RAM PUR
103	JHARKHAND	GODDA	20080207902	GOVT HS GHORIKITTA
104	JHARKHAND	GODDA	20081011601	BASIC SCHOOL AMLO FASIYA
105	JHARKHAND	GODDA	20080309201	UPG GOVT HS GHATIYARI
106	JHARKHAND	GODDA	20081102701	UPG GOVT HS KATHIYA HINDI
107	JHARKHAND	GODDA	20081010601	UPG GOVT HS DHARMUDIH
108	JHARKHAND	GODDA	20080107008	PROJECT GIRLS HIGH SCHOOL, MAHAGAMA

Sl. No.	State Name	District Name	School Code	School Name
109	JHARKHAND	GODDA	20080909502	GOVT HS KORKA
110	JHARKHAND	GODDA	20080110401	UPG GOVT HS BISWASH KHANI
111	JHARKHAND	GODDA	20080109701	UPG GOVT HS DALAWAR
112	JHARKHAND	GODDA	20081001103	UPG GOVT HS KHATNAI URDU GIRLS
113	JHARKHAND	GODDA	20080805501	UPG GOVT HS DEWANCHAK
114	JHARKHAND	GODDA	20081010401	UPG GOVT HS GHAT KUSMANI
115	JHARKHAND	GODDA	20080408201	UPG GOVT HS ITHARI
116	JHARKHAND	GODDA	20080200201	UPG GOVT HS MADHURA
117	JHARKHAND	GUMLA	20160907601	RAJYAKRIT UPGRADED HIGH SCHOOL(BLOCK HQ.)SISAI
118	JHARKHAND	GUMLA	20160106104	S S HS BISHUNPUR
119	JHARKHAND	GUMLA	20161206501	RAJKIYAKRIT UPGRADED +2 HIGH SCHOOL KURKURA
120	JHARKHAND	GUMLA	20161002306	PROJECT GIRLS HS BHARNO
121	JHARKHAND	GUMLA	20160904308	RAJYAKRIT HIGH SCHOOL MAGHI SISAI GIRL'S
122	JHARKHAND	GUMLA	20160209101	RAJYAKRIT UPGRADED HIGH SCHOOL TOTAMBI
123	JHARKHAND	GUMLA	20160700501	RAJKRIYAKRIT UPGRADED HIGH SCHOOL SILAM
124	JHARKHAND	GUMLA	20160812001	GOVT UPG HS ARMAI
125	JHARKHAND	GUMLA	20161004501	RAJKIYAKRIT UPGRADED HIGH SCHOOL DURIYA
126	JHARKHAND	GUMLA	20160103801	GOVT UPGRADED HIGH SCHOOL NARMA
127	JHARKHAND	GUMLA	20160704601	RAJKIYAKRIT UPGRADED HIGH SCHOOL SALKAYA
128	JHARKHAND	GUMLA	20160902501	RAJYAKRIT UPGRADED HIGH SCHOOL KOREDAG
129	JHARKHAND	GUMLA	20161302001	RAJYAKRIT UPGRADED HIGH SCHOOL LOTWA
130	JHARKHAND	GUMLA	20160201301	RAJYAKRIT UPGRADED HIGH SCHOOL ECHA
131	JHARKHAND	GUMLA	20160702401	RAJKIYAKRIT UPGRADED HIGH SCHOOL BANSDIH
132	JHARKHAND	GUMLA	20160101101	GOVT UPG HS REHALDAG
133	JHARKHAND	GUMLA	20160501007	S.N. AADIVASI HS JAIRAGI
134	JHARKHAND	HAZARIBAG	20040100206	PROJECT H.S. GAORIYAKARMA
135	JHARKHAND	HAZARIBAG	20042201001	UPG.HIGH SCHOOL CHALKUSHA
136	JHARKHAND	HAZARIBAG	20042103201	UPG.HIGH SCHOOL KHAPRIAWAN
137	JHARKHAND	HAZARIBAG	20040411601	UPG HIGH SCHOOL SARUKUDAR
138	JHARKHAND	HAZARIBAG	20041004601	UPG HIGH SCHOOL DANR
139	JHARKHAND	HAZARIBAG	20040301701	UPG HIGH SCHOOL SIKRI
140	JHARKHAND	HAZARIBAG	20040303401	UPG HIGH SCHOOL NAPO KHURD

Sl. No.	State Name	District Name	School Code	School Name
141	JHARKHAND	HAZARIBAG	20041001301	UPG HIGH SCHOOL ARABHUSAI
142	JHARKHAND	HAZARIBAG	20042201401	UPG. HIGH SCHOOL ALAGDIHA
143	JHARKHAND	HAZARIBAG	20040504001	UPG URDU HIGH SCHOOL KESATH
144	JHARKHAND	HAZARIBAG	20040400801	UPG HIGH SCHOOL BARA
145	JHARKHAND	HAZARIBAG	20040518501	UPG. HIGH SCHOOL BHATBIGHA
146	JHARKHAND	HAZARIBAG	20040605401	UPG HIGH SCHOOL JARBA
147	JHARKHAND	HAZARIBAG	20041106201	UPG HIGH SCHOOL BUNDU
148	JHARKHAND	HAZARIBAG	20040209101	UPG HIGH SCHOOL KHAIRIYO
149	JHARKHAND	JAMTARA	20191121201	RAJIKIYAKRIT UPGRADE HIGH SCHOOL SAHARDAL(10-11)
150	JHARKHAND	JAMTARA	20191600201	GOVT UPGRADE HIGH SCHOOL PALOJORI
				RAJKIYA UTKRAMIT HIGH SCHOOL
151	JHARKHAND	JAMTARA	20191115601	BUNIYADI VIDYALAYA MEJHIA
150			20101222201	RAJKIYKRITUPGRADE HIGH SCHOOL
152	JHARKHAND	JAMTARA	20191232301	SABANPUR RAJKIYKRIT UPGRADE HIGH SCHOOL
153	JHARKHAND	JAMTARA	20191327201	PANJUNIA(9-10)
154	JHARKHAND	JAMTARA	20191609205	RAJKIYAKRIT HIGH SCHOOL, KHAIRBANI
101		jiniiiiii	20171007200	RAJKIYKRIT UPGRADE HIGH SCHOOL
155	JHARKHAND	JAMTARA	20191501201	BIRAJPUR(11-12)
156	JHARKHAND	JAMTARA	20191104203	RAJIKIY HIGH SCHOOL, SAHARI CHETRA JAMTARA
				RAJKIYKRIT UPGRADE HIGH SCHOOL
157	JHARKHAND	JAMTARA	20191221301	MURLIPAHARI
158	JHARKHAND	JAMTARA	20191105201	RAJIKIYAKRUT UPGRADE HIGH SCHOOL CHALNA
150	JHARRIAND	JAMIARA	20191103201	RAJIKIYAKRUT UPGRADE HIGH SCHOOL
159	JHARKHAND	JAMTARA	20191111201	GOPALPUR
160	JHARKHAND	JAMTARA	20191425602	RAJKIYAKRIT UPGRADE HIGH SCHOOL SUNDRAKSHIPUR(11-12)
			00404-0000-0	RAJKIAKRIT UPGRADE HIGH
161	JHARKHAND	JAMTARA	20191609301	SCHOOLBAMUNDIHA
162	JHARKHAND	JAMTARA	20191420701	RAJKIYA UPGRADED HIGH SCHOOL NAGARI
163	JHARKHAND	JAMTARA	20191401801	RAJKIYAKRIT UPGRADE HIGH SCHOOL BABUPUR
164	JHARKHAND	KHUNTI	20230402201	UPG GOVT MS-CUM-HS BIRDA
165	JHARKHAND	KHUNTI	20230106301	UPG GOVT MS-CUM-HS TOKEN
166	JHARKHAND	KHUNTI	20230415502	UPG GOVT MS CUM HS TILMI
167	JHARKHAND	KHUNTI	20230418005	UPG GOVT MS-CUM-HS JARIYAGARH
168	JHARKHAND	KHUNTI	20230208501	UPG GOVT MS-CUM-HS KURAPURTI
169	JHARKHAND	KHUNTI	20230602001	UPG GOVT MS-CUM-HS BHANDRA
170	JHARKHAND	KHUNTI	20230307402	UPG GOVT MS-CUM-HS RAISIMLA

Sl. No.	State Name	District Name	School Code	School Name
171	JHARKHAND	KHUNTI	20230301702	UPG MS-CUM-HS CHURDAG
172	JHARKHAND	KHUNTI	20230403101	UPG GOVT MS-CUM-HS CHHATA
173	JHARKHAND	KHUNTI	20230303201	UPG GOVT MS-CUM-HS HUSIR
174	JHARKHAND	KODARMA	20050408306	RAJSAMPOSIT GOVT +2 HS BASODIH
175	JHARKHAND	KODARMA	20050210801	UPG GOVT HS JAGDISHPUR
176	JHARKHAND	KODARMA	20050609201	UPG GOVT HS BACHHEDIH
177	JHARKHAND	KODARMA	20050312802	UPG GOVT +2 HS LATBEDHWA
178	JHARKHAND	KODARMA	20050305501	UPG GOVT HS GHANGHRI
179	JHARKHAND	KODARMA	20050118401	UPG GOVT HS GAJHANDI
180	JHARKHAND	KODARMA	20050502401	UPG GOVT HS HARNO
181	JHARKHAND	KODARMA	20050503501	UPG GOVT HS BIRSODIH
182	JHARKHAND	KODARMA	20050108002	UPG GOVT+2 HS MEGHATARI
183	JHARKHAND	KODARMA	20050601401	UPG GOVT HS DHAB
184	JHARKHAND	KODARMA	20050207501	UPG GOVT HS AMBADIH
185	JHARKHAND	KODARMA	20050602302	UPG GOVT HS JANPUR
186	JHARKHAND	KODARMA	20050412001	UPG GOVT HS DONAIA
187	JHARKHAND	KODARMA	20050310102	UPG GOVT HS RUPAIDIH
188	JHARKHAND	KODARMA	20050208408	UPG GOVT HS JAMU
189	JHARKHAND	LATEHAR	20220401201	UPG +2 HIGH SCHOOL GARU
190	JHARKHAND	LATEHAR	20220110601	UPG HS MURUP
191	JHARKHAND	LATEHAR	20220205701	UPG GOVT HS ROL
192	JHARKHAND	LATEHAR	20220705101	GOVT HS BALU
193	JHARKHAND	LATEHAR	20220302301	UPG GOVT HS KOPE
194	JHARKHAND	LATEHAR	20220308301	UPG GOVT HS KUMANDIH
195	JHARKHAND	LATEHAR	20220714301	UPG GOVT HS GANESHPUR
196	JHARKHAND	LATEHAR	20220115301	UPG HS RICHUGHUTA
197	JHARKHAND	LATEHAR	20220305701	UPG GOVT HS BANDUA
198	JHARKHAND	LATEHAR	20220501301	GOVT UPGRADED HS MANGRA
199	JHARKHAND	LATEHAR	20220501901	UPG HS KUCHILA
200	JHARKHAND	LATEHAR	20220206801	UPG GOVT HS NINDRA
201	JHARKHAND	LATEHAR	20220105701	GOVT MS DHANKARA
202	JHARKHAND	LATEHAR	20220207101	UPG GOVT HS RUD
203	JHARKHAND	LATEHAR	20220803001	UPG GOVT HS KERU
204	JHARKHAND	LATEHAR	20220604907	PROJECT HS MAHUADAR
205	JHARKHAND	LATEHAR	20220502401	GOVT MS MURU
206	JHARKHAND	LATEHAR	20220503701	UPG GOVT HS MORWAIKALA
207	JHARKHAND	LOHARDAGA	20150308801	UPG GOVT HS SITHIO
208	JHARKHAND	LOHARDAGA	20150402301	UPG GOVT HS BITPI
209	JHARKHAND	LOHARDAGA	20150506401	UPG GOVT HS HENJLA

Sl. No.	State Name	District Name	School Code	School Name
210	JHARKHAND	LOHARDAGA	20150101902	UPG GOVT HS RAMPUR
211	JHARKHAND	LOHARDAGA	20150103501	UPG GOVT HS BASRI NAGRA
212	JHARKHAND	LOHARDAGA	20150502101	UPG GOVT BASIC HS CHIRI
213	JHARKHAND	LOHARDAGA	20150602001	UPG GOVT HS NAGJUWA
214	JHARKHAND	LOHARDAGA	20150103902	PROJECT GIRLS HS IRGAON
215	JHARKHAND	LOHARDAGA	20150308502	UPG GOVT HS CHITRI DANRU
216	JHARKHAND	LOHARDAGA	20150208106	PROJECT GIRLS HS KISKO
217	JHARKHAND	LOHARDAGA	20150401001	UPG GOVT HS AKASI
218	JHARKHAND	LOHARDAGA	20150705001	PROJECT HS MUNGO
219	JHARKHAND	LOHARDAGA	20150308301	UPG GOVT BASIC HS SENHA
220	JHARKHAND	LOHARDAGA	20150102001	UPG GOVT HS ARKOSA
221	JHARKHAND	LOHARDAGA	20150104305	PROJECT HIGH SCHOOL, KUJI
222	JHARKHAND	PAKAUR	20100707301	UPG HIGH SCHOOL PAHARPUR
223	JHARKHAND	PAKAUR	20100901401	HIGH SCHOOL BARTALLA
224	JHARKHAND	PAKAUR	20100719501	UPG HS SHAHARGRAM
225	JHARKHAND	PAKAUR	20100808601	UPG HS BANNOGRAM
226	JHARKHAND	PAKAUR	20100810201	UPG HS PALIYADAHA
227	JHARKHAND	PAKAUR	20101002501	UPG HS RAMCHANDRAPUR
228	JHARKHAND	PAKAUR	20100721101	UPG HS BASKANDRI
229	JHARKHAND	PAKAUR	20100721801	UPG HS POKHARIYA
230	JHARKHAND	PAKAUR	20101206701	UPG HIGH SCHOOL DUMARCHIR
231	JHARKHAND	PAKAUR	20100801801	UPG HS DURGAPUR
232	JHARKHAND	PAKAUR	20101006001	UPG HS GOPINATHPUR
233	JHARKHAND	PALAMU	20021501401	RAJKIYEKRIT +2 HIGH SCHOOL HAIDARNAGAR
234	JHARKHAND	PALAMU	20020712003	RAJKIYEKRIT SRI SHYAM BIHARI SINGH +2 HIGH SCHOOL NAMUDAG
235	JHARKHAND	PALAMU	20021012004	RAJKIYEKRIT +2 HIGH SCHOOL NARSINGHPUR
236	JHARKHAND	PALAMU	20021902001	UPG RAJKIYEKRIT +2 HIGH SCHOOL KANDA
237	JHARKHAND	PALAMU	20020401310	RAJKIYEKRIT BAKSI HIGH SCHOOL HUSSAINABAD
238	JHARKHAND	PALAMU	20020501001	UPG RAJKIYEKRIT HIGH SCHOOL RATNAG
239	JHARKHAND	PALAMU	20021001808	UPG RAJKIYEKRIT HIGH SCHOOL CHANDO
240	JHARKHAND	PALAMU	20021901001	UPG RAJKIYEKRIT +2 HIGH SCHOOL NAWA BAZAR
241	JHARKHAND	PALAMU	20021401101	UPG RAJKIYEKRIT HIGH SCHOOL BABHANDI PIPRA
242	JHARKHAND	PALAMU	20021805306	UPG RAJKIYEKRIT +2 HIGH SCHOOL SILDILIYA
243	JHARKHAND	PALAMU	20020303202	RAJKIYEKRIT JANTA HIGH SCHOOL LOHARSI PAGAR

Sl. No.	State Name	District Name	School Code	School Name
244			20021401701	UPG RAJKIYEKRIT HIGH SCHOOL
244	JHARKHAND	PALAMU	20021401701	BARWADIH
245	JHARKHAND	PALAMU	20020102602	RAJKIYEKRIT MAHATMA GANDHI +2 HIGH SCHOOL SARJA POLPOL
246	JHARKHAND	PALAMU	20020601208	UPG RAJKIYEKRIT HIGH SCHOOL CHARAI
247	JHARKHAND	PALAMU	20021505802	UPG RAJKIYEKRIT HIGH SCHOOL KUKHI
		PASHCHIMI	20021000002	
248	IHARKHAND	SINGHBHUM	20171204904	HIGH SCHOOL KUMARDUNGI +2
	,	PASHCHIMI		
249	JHARKHAND	SINGHBHUM	20172101501	UPG HIGH SCHOOL GOVINDPUR
	,	PASHCHIMI		
250	JHARKHAND	SINGHBHUM	20170800312	HIGH SCHOOL JHINKPANI +2
		PASHCHIMI		,
251	JHARKHAND	SINGHBHUM	20170109001	UPG HIGH SCHOOL OTAR
		PASHCHIMI		
252	JHARKHAND	SINGHBHUM	20170103203	KGBV BANDGAON
		PASHCHIMI		
253	JHARKHAND	SINGHBHUM	20171008101	UPG HIGH SCHOOL ULIGUTU
		PASHCHIMI		
254	JHARKHAND	SINGHBHUM	20171205301	UPG HIGH (UMS) SCHOOL BHONDA
		PASHCHIMI		
255	JHARKHAND	SINGHBHUM	20172104901	UPG HIGH SCHOOL HARIMARA
		PASHCHIMI		
256	JHARKHAND	SINGHBHUM	20170213401	UPG HIGH (BASIC) SCHOOL NISCHINTPUR
		PASHCHIMI		
257	JHARKHAND	SINGHBHUM	20170705104	HIGH SCHOOL DANGUAPOSI
		PASHCHIMI		
258	JHARKHAND	SINGHBHUM	20171402101	UPG HIGH SCHOOL UKUMADKAM
		PASHCHIMI		
259	JHARKHAND	SINGHBHUM	20172105601	UPG HIGH SCHOOL LONJO
0.00		PASHCHIMI	00450604500	
260	JHARKHAND	SINGHBHUM	20170604702	UPG HIGH SCHOOL JAMDIH
261		PURBI	20100724005	UPGRADED GOVT +2 SCHOOL KHANDA
261	JHARKHAND	SINGHBHUM	20180724905	MAUDA
262		PURBI	20101002002	
262	JHARKHAND	SINGHBHUM	20181002002	UPGRADED HS PAHARPUR
202		PURBI	20101002002	UPGRADED GOVT +2 SCHOOL DIGHI BHULA
263	JHARKHAND	SINGHBHUM PURBI	20181002903	UPGRADED GOVI +2 SCHOOL DIGHI BHULA
264	JHARKHAND	SINGHBHUM	20180205501	UPGRADED HS.JAHATU, P1
204	JIIAKKNAND	PURBI	20100205501	
265	JHARKHAND	SINGHBHUM	20180113301	UPG GOVT HS CHAURA
205			20100113301	
266	ΙΗΔΡΚΗΔΝΠ		20180406301	LIPG GOVT HS BHAGABANDI
200			20100100301	
267	JHARKHAND	SINGHBHUM	20180603901	UPGRADED GOVT H.S.BARDIH
266 267	JHARKHAND JHARKHAND	PURBI SINGHBHUM PURBI SINGHBHUM	20180406301 20180603901	UPG GOVT HS BHAGABANDI UPGRADED GOVT H.S.BARDIH

Sl. No.	State Name	District Name	School Code	School Name
		PURBI		
268	JHARKHAND	SINGHBHUM	20180721601	UPGRADED GOVT HS GOPALPUR
269	JHARKHAND	PURBI SINGHBHUM	20180501502	UPGRADED HS SUNDERDIH
209	JHAKKHAND	PURBI	20100301302	OF GRADED IIS SONDERDITI
270	JHARKHAND	SINGHBHUM	20180609602	UPG GOVT HS BAGHURIA
		PURBI		
271	JHARKHAND	SINGHBHUM	20181005802	UPGRADED GOVT H.S.LAYLUM
070		PURBI	20101102501	
272	JHARKHAND	SINGHBHUM PURBI	20181103501	UPG GOVT H.S.GURABANDA
273	JHARKHAND	SINGHBHUM	20180202701	UPG GOVT HS DOMJURI, P1
275		PURBI	20100202701	
274	JHARKHAND	SINGHBHUM	20180708902	UPGRADED HS SIYALBINDHA
		PURBI		
275	JHARKHAND	SINGHBHUM	20180316206	H.S.SARDAR B.V.PATEL
276		PURBI	20100601701	
276	JHARKHAND	SINGHBHUM PURBI	20180601701	UPG GOVT HS DIGHA
277	JHARKHAND	SINGHBHUM	20180828302	UPGRADED HS.BARDIKANPUR
	)	PURBI		
278	JHARKHAND	SINGHBHUM	20180812401	UPGRADED HS KALAPATHAR 'A' (NU)
		PURBI		
279	JHARKHAND	SINGHBHUM	20180306003	UPGRADED HS HARMADIH, J1
280	JHARKHAND	RAMGARH	20241502103	RAJ BALLABH HIGH SCHOOL, SANDI
281	JHARKHAND	RAMGARH	20241206705	JANTA H.S., CHAINPUR
282	JHARKHAND	RAMGARH	20241408301	UPG H.S. MARAR II
283	JHARKHAND	RAMGARH	20241301501	UPG M.S. SOLIYA
284	JHARKHAND	RAMGARH	20241400101	UPG H.S. KAITHA
285	JHARKHAND	RAMGARH	20241602801	UPGRADED HIGH SCHOOL HONHEY
286	JHARKHAND	RAMGARH	20241303101	UPG HIGH SCHOOL BICHA
287	JHARKHAND	RAMGARH	20241307420	GIRLS HIGH SCHOOL BHURKUNDA
288	JHARKHAND	RANCHI	20140123201	GOVT UPG HIGH SCHOOL HATIA RANCHI-2
289	JHARKHAND	RANCHI	20140703702	GOVT UPG HIGH SCHOOL SERO
290	JHARKHAND	RANCHI	20140701005	JANTA HIGH SCHOOL DIGHIYA
291	JHARKHAND	RANCHI	20142011522	PROJECT HIGH SCHOOL TAMAR
				GOVT UPG HIGH SCHOOL MAHUGAON
292	JHARKHAND	RANCHI	20140505003	KHAS
293	JHARKHAND	RANCHI	20142200101	GOVT UPG HIGH SCHOOL BALALONG
294	JHARKHAND	RANCHI	20140506701	GOVT UPG HIGH SCHOOL SARSA
295	JHARKHAND	RANCHI	20140301201	GOVT UPG HIGH SCHOOL CHAMA
296	JHARKHAND	RANCHI	20140609504	DR. RAM MANOHAR LOHIYA HIGH SCHOOL UME

Sl. No.	State Name	District Name	School Code	School Name
297	JHARKHAND	RANCHI	20141103801	GOVT UPG HIGH SCHOOL HALMAD
298	JHARKHAND	RANCHI	20141808604	JAIPAL SINGH HIGH SCHOOL TAIMARA
299	JHARKHAND	RANCHI	20140305801	GOVT UPG HIGH SCHOOL SILAGAIN
300	JHARKHAND	RANCHI	20141100401	UPG HIGH SCHOOL BANUWADIH
301	JHARKHAND	RANCHI	20142009007	HIGH SCHOOL NAWADIH TAMAR
302	JHARKHAND	RANCHI	20140806503	KASTURBA HIGH SCHOOL KHARSIDAG
303	JHARKHAND	RANCHI	20140705801	GOVT UPG HIGH SCHOOL HARHANJI
304	JHARKHAND	RANCHI	20140608901	GOVT UPG BASIC HIGH SCHOOL SOSAI
305	JHARKHAND	RANCHI	20141806401	GOVT UPG HIGH SCHOOL NAWADIH
306	JHARKHAND	SAHIBGANJ	20090817705	UPG +2 BARHARWA. HIGH SCHOOL
307	JHARKHAND	SAHIBGANJ	20090307602	UPGRADED +2 GANGIYA DAMIN HIGH SCHOOL, BISHANPUR
308	JHARKHAND	SAHIBGANJ	20090503806	UPG +2 HIGH SCHOOL RADHANAGAR
309	JHARKHAND	SAHIBGANJ	20090107807	UPG +2 HIGH SCHOOL KODARJANNA
310	JHARKHAND	SAHIBGANJ	20090205201	UPG GOVT HS SRI RAM CHOWKI
311	JHARKHAND	SAHIBGANJ	20090111203	UPG GOVT ADARSH GIRLS HS POKHARIA
312	JHARKHAND	SAHIBGANJ	20090707001	UPG GOVT HS PANCHKATIYA
313	JHARKHAND	SAHIBGANJ	20090103005	KGBV SAHIBGANJ
314	JHARKHAND	SAHIBGANJ	20090405501	UPG GOVT HS DHULIYAR
315	JHARKHAND	SAHIBGANJ	20090605201	UPG GOVT. HS MOTI PAHARI
316	JHARKHAND	SAHIBGANJ	20090806201	UPG GOVT HS MAHESHGHATI
317	JHARKHAND	SAHIBGANJ	20090801501	UPG GOVT HS LADHOPARA
318	JHARKHAND	SAHIBGANJ	20090906001	UPG GOVT HS BARA TALBONA
319	JHARKHAND	SAHIBGANJ	20090606706	PROJECT KN GIRLS HS BORIO
320	JHARKHAND	SAHIBGANJ	20090307801	UPG GOVT HS DURGA PUR
321	JHARKHAND	SAHIBGANJ	20090903703	UPG GOVT HS GIRLS TALJHARI
322	JHARKHAND	SAHIBGANJ	20090806901	UPG GOVT HS BATAIL
323	JHARKHAND	SARAIKELA- KHARSAWAN	20201101201	UPG HS ARUWAN
324	JHARKHAND	SARAIKELA- KHARSAWAN	20201606301	UPG HS PURIYARA
325	JHARKHAND	SARAIKELA- KHARSAWAN	20201801001	UPG HS DUMARDIHA
326	JHARKHAND	SARAIKELA- KHARSAWAN	20202101401	UPG HS ICHADIH
327	JHARKHAND	SARAIKELA- KHARSAWAN	20202007801	UPG HS TITIRBILA
328	JHARKHAND	SARAIKELA- KHARSAWAN	20202103403	RAJKIYAKRIT HIGH SCHOOL TIRULDIH
329	JHARKHAND	SARAIKELA- KHARSAWAN	20200602703	UPG HS KUTAM
330	JHARKHAND	SARAIKELA-	20201101003	RAJYA SAMPOSIT HS DALBHANGA

Sl. No.	State Name	District Name	School Code	School Name
		KHARSAWAN		
331	JHARKHAND	SARAIKELA- KHARSAWAN	20201811101	UHS ITAPOKHAR
332	JHARKHAND	SARAIKELA- KHARSAWAN	20202007401	UPG HS PATHANMARA
333	JHARKHAND	SARAIKELA- KHARSAWAN	20200619801	UPG HS SORO
334	JHARKHAND	SARAIKELA- KHARSAWAN	20201601702	UPG HS BAREDA
335	JHARKHAND	SARAIKELA- KHARSAWAN	20201801801	UPG HS NETO
336	JHARKHAND	SARAIKELA- KHARSAWAN	20201805102	UPG HS DHOLADIH
337	JHARKHAND	SARAIKELA- KHARSAWAN	20200907401	UPG HS JOJOKURMA
338	JHARKHAND	SARAIKELA- KHARSAWAN	20201605402	UHS ANDA
339	JHARKHAND	SIMDEGA	20210901103	SS +2 HIGH SCHOOL BANSJOR
340	JHARKHAND	SIMDEGA	20211000104	GOVT +2 HIGH SCHOOL KERSAI
341	JHARKHAND	SIMDEGA	20210504701	UPG GOVT HS KAROMIA
342	JHARKHAND	SIMDEGA	20210505503	SS HIGH SCHOOL (+2) JORAM
343	JHARKHAND	SIMDEGA	20210601601	UPG GOVT +2 HIGH SCHOOL HURDA
344	JHARKHAND	SIMDEGA	20210800303	UPG GOVT +2 HS PAKARDANR RAMLOYA
345	JHARKHAND	SIMDEGA	20210602501	UPG GOVT HS KEWETANG
346	JHARKHAND	SIMDEGA	20210801302	UPG GOVT HS BHELWADIH
347	JHARKHAND	SIMDEGA	20210605906	PROJECT GIRLS HS BANO
348	JHARKHAND	SIMDEGA	20210702923	DHARNUJAY SINGH DEV HS LAMBOI
349	JHARKHAND	SIMDEGA	20210900101	UPG GOVT HS TARGA
350	JHARKHAND	SIMDEGA	20210800502	UPG GOVT HS SIKARIYATANR
351	JHARKHAND	SIMDEGA	20210300206	UPG GOVT HS MALSARA

#### ANNEXURE - V

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
1	20170706505	PASHCHIMI SINGHBHUM	HIGH SCHOOL JAINTGARH (RS) +2	Automotive	Automotive Service Technician L-3 ASC/Q1401		Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307
2	20220500501	LATEHAR	UPG GOVT HS SARAIDIH	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
3	20020102602	PALAMU	RAJKIYEKRIT MAHATMA GANDHI +2 HIGH SCHOOL SARJA POLPOL	AutomotiveService Technician L-3ASC/Q1401Tourism & Hospitality			Food and Beverage Service Trainee	ТНС/Q0307	
4	20180231602	PURBI SINGHBHUM	UPG GOVT +2S VNIKETAN HALDIPOKHAR	Automotive	Automotive Service Technician L-3	ASC/Q1401	Apparels, Made ups & Home Furnishing	Sewing Machine Operator	AMH/Q0301
5	20140503406	RANCHI	RAJYA SAMPOSHIT HIGH SCHOOL KAKARIA	Automotive Automotive Service ASC/Q1401 Apparels, Technician L-3 Apparels, Made ups & Home		Made ups &	Sewing Machine Operator	AMH/Q0301	
6	20042300202	HAZARIBAG	UPG HIGH SCHOOL KHAPIA	Automotive	Automotive Service Technician L-3	ASC/Q1401	Tourism & Hospitality	Food and Beverage Service Trainee	ТНС/Q0307
7	20020801103	PALAMU	UPG RAJKIYEKRIT +2 HIGH SCHOOL CHAK	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
8	20050400303	KODARMA	UPG +2 PROJECT HS MIRGANJ	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
9	20171202401	PASHCHIMI SINGHBHUM	UPG HIGH SCHOOL ULIHATU +2	Automotive	Automotive Service Technician L-3	ASC/Q1401	Tourism & Hospitality	Food and Beverage Service Trainee	ТНС/Q0307
10	20220505709	LATEHAR	PROJECT HS CHIPADOHAR	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
11	20120500301	DHANBAD	UPG +2 HS AMTAL	Automotive	Automotive Service	ASC/Q1401	Tourism &	Food and	THC/Q0307

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
					Technician L-3		Hospitality	Beverage Service Trainee	
12	20120904002	DHANBAD	UPG +2HS MAIRANAWATAND	Automotive	Automotive Service Technician L-3	ASC/Q1401	Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307
13	20020905505	PALAMU	RAJKIYEKRIT +2 HIGH SCHOOL LALGARH	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
14	20100901401	PAKAUR	HIGH SCHOOL BARTALLA	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
15	20090403701	SAHIBGANJ	UPG +2 HIGH SCHOOL MANGALHAT	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
16	20110325901	DUMKA	UPGRADE +2 GOVT H.S. PINDARI	Automotive	Automotive Service Technician L-3	ASC/Q1401	Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307
17	20180306701	PURBI SINGHBHUM	UPGRADED GOVT +2 SCHOOL SHIMULDANGA, J1	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
18	20200305801	SARAIKELA- KHARSAWAN	UPG HS BANSA	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
19	20210901103	SIMDEGA	SS +2 HIGH SCHOOL BANSJOR	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
20	20042401201	HAZARIBAG	UPG HIGH SCHOOL DHARAMPUR	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
21	20080206901	GODDA	UPG GOVT HS BUDHASAN	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
22	20180604302	PURBI SINGHBHUM	UPGRADED GOVT +2 SCHOOL TARAMANI SMARAK	Automotive	Automotive Service Technician L-3	ASC/Q1401	Healthcare	Home Health Aide	HSS/Q5102
23	20230600203	KHUNTI	JAYPAL SINGH HIGH SCHOOL ALONDI	Automotive	Automotive Service Technician L-3	ASC/Q1401	Apparels, Made ups & Home Furnishing	Sewing Machine Operator	AMH/Q0301
24	20011900801	GARHWA	GOVT UPG +2 HS BIRBAL	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
25	20210405805	SIMDEGA	GOVT +2 HIGH SCHOOL BIRU	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
26	20080503804	GODDA	N.K.H.S. RAGHUNATHPUR	Automotive	Automotive Service Technician L-3	ASC/Q1401	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
27	20140609504	RANCHI	DR. RAM MANOHAR LOHIYA HIGH SCHOOL UME	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
28	20160705305	GUMLA	RAJKIYAKRIT HIGH SCHOOL SURSANG	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
29	20042103801	HAZARIBAG	UPG.HIGH SCHOOL SALGAWAN	Electronics & Hardware	lectronics & Field Technician-		IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
30	20050602501	KODARMA	UPG GOVT+2 HS DHUBBA	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
31	20140405202	RANCHI	GOVT UPG HIGH SCHOOL UCHARI	Electronics & HardwareField Technician- Other Home AppliancesELE/Q3104Tourism & HospitalityFood and Beverage Service Trainee		Beverage Service	THC/Q0307		
32	20022101001	PALAMU	UPG RAJKIYEKRIT +2 HIGH SCHOOL RAMGARH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
33	20150402301	LOHARDAGA	UPG GOVT HS BITPI	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
34	20202103403	SARAIKELA- KHARSAWAN	RAJKIYAKRIT HIGH SCHOOL TIRULDIH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
35	20241302601	RAMGARH	UPGHIGH SCHOOL BARGHUTUA	Electronics & Hardware	Field Technician- Other Home ELE/Q3104 Appliances		Healthcare	Home Health Aide	HSS/Q5102
36	20170118702	PASHCHIMI SINGHBHUM	HIGH SCHOOL BIRSA BHAGWAN (RS) +2	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
37	20031103201	CHATRA	U.H.S.SOKI	Electronics & Hardware	Field Technician- Other Home	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
					Appliances				
38	20040533101	HAZARIBAG	UPG. HIGH SCHOOL DANUAN	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
39	20040602105	HAZARIBAG	PROJECT H.S.,CHARHI	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
40	20131100601	BOKARO	UPG RAJKIYAKRIT +2 HIGH SCHOOL CHANDO	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307
41	20041002301	HAZARIBAG	UPG HIGH SCHOOL DANTO KALAN	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
42	20012000304	GARHWA	PROJECT HS BARGARH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
43	20180207902	PURBI SINGHBHUM	UPGRADED GOVT +2 SCHOOL MANPUR,P1	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Apparels, Made ups & Home Furnishing	Sewing Machine Operator	AMH/Q0301
44	20110322301	DUMKA	UPGRADE +2 GOVT H.S. MOHANPUR	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
45	20050316802	KODARMA	RAJSAMPOSIT GOVT +2 HS PARSABAD	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
46	20100805001	PAKAUR	UPG HIGH SCHOOL FULLJHINJHRI	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
47	20171700503	PASHCHIMI SINGHBHUM	HIGH SCHOOL KIRIBURU PROJECT +2	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307
48	20220308301	LATEHAR	UPG GOVT HS KUMANDIH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
49	20220404601	LATEHAR	UPG + 2 HIGH SCHOOL SARYU GARU	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
50	20010304001	GARHWA	GOVT UPG +2 HS FAKIRA DIH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212
51	20100719501	PAKAUR	UPG HS SHAHARGRAM	Electronics & Hardware	Field Technician- Other Home Appliances	ther Home ELE/Q3104 IT-ITeS Domestic Data Entry Operator		SSC/Q2212	
52	20171517205	PASHCHIMI SINGHBHUM	HIGH SCHOOL NEHRU MEMORIAL +2	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Tourism & Hospitality	Food and Beverage Service Trainee	ТНС/Q0307
53	20101118601	PAKAUR	PROJECT HIGH SCHOOL DHARAMPUR	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
54	20220104501	LATEHAR	UPG GOVT HS NAWAGARH	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Healthcare	Home Health Aide	HSS/Q5102
55	20140108815	RANCHI	GOVT HIGH SCHOOL BIT MESRA	Automotive	Automotive Service Technician L-3	ASC/Q1401	Apparels, Made ups & Home Furnishing	Sewing Machine Operator	AMH/Q0301
56	20241206705	RAMGARH	JANTA H.S., CHAINPUR	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
57	20140306602	RANCHI	PROJECT HIGH SCHOOL TANGAR	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Apparels, Made ups & Sewing Home Difference Furnishing Operator		AMH/Q0301
58	20211000104	SIMDEGA	GOVT +2 HIGH SCHOOL KERSAI	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Agriculture	Solanaceous Crop Cultivator	AGR/Q0402
59	20140806503	RANCHI	KASTURBA HIGH SCHOOL KHARSIDAG	Electronics & Hardware	Field Technician- Other Home Appliances	ELE/Q3104	Tourism & Hospitality	Food and Beverage Service Trainee	THC/Q0307

Sl. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	QP Code 1	Sector 2	Job Role 2	QP Code 2
60	20110910901	DUMKA	KGBV KATHIKUND	Apparels, Made Ups & Home Furnishing	Sewing Machine Operator	AMH/Q0301	Healthcare	Home Health Aide	HSS/Q5102

#### ANNEXURE - VI

#### LIST OF 22 SCHOOLS FOR ADDITION OF SECTOR IN EXISTING SCHOOLS (VE)

District Name	UDISE Code	School Name	Sector to be added
CHATRA	20031201701	B.K.HIGH SCHOOL KANHACHATTI	Electronics & Hardware
GARHWA	20011204201	GOVT UPG +2 HS LAWAHIKALAN	Electronics & Hardware
GODDA	20080409003	UPG GOVT+2 HS BOARIJORE	Electronics & Hardware
GODDA	20080513307	UPG GOVT +2 HS DANRE	Electronics & Hardware
GUMLA	20160106104	SS HS BISHUNPUR	Electronics & Hardware
GUMLA	20160509506	GOVT HS DUMRI TANGARDIH	Electronics & Hardware
HAZARIBAG	20041102407	S.S. HIGH SCHOOL, KEREDARI	Electronics & Hardware
LATEHAR	20220203904	RAJYAKRIT +2 GOVT HS CHANDWA	Electronics & Hardware
LOHARDAGA	20150305606	GOVT NANDLAL HIGH SCHOOL, ARRU	Electronics & Hardware
PURBI SINGHBHUM	20180211506	UPG GOVT +2S VNIKETAN HALDIPOKHAR	Electronics & Hardware
SAHIBGANJ	20090307602	UPGRADED +2 GANGIYA DAMIN HIGH SCHOOL, BISHANPUR	Electronics & Hardware
SIMDEGA	20210102402	GOVT +2 HIGH SCHOOL KURDEG	Electronics & Hardware
DUMKA	20110109206	+2 NATIONAL H.S.DUMKA	Electronics & Hardware
DUMKA	20110128503	+2.ZILA HS,DUMKA	Electronics & Hardware
DUMKA	20110632004	GOVT H.S. SARAIYAHAT	Electronics & Hardware
GIRIDIH	20060500204	+2 HIGH SCHOOL CHARGHARA JAMUA	Electronics & Hardware
GIRIDIH	20060904703	+2 GIRIDIH HIGH SCHOOL GIRIDIH	Electronics & Hardware
GUMLA	20161104606	RAJKRIYAKRIT HIGH SCHOOL BASIA	Electronics & Hardware
GUMLA	20161305907	KANDARP HIGH SCHOOL PALKOT	Electronics & Hardware
JAMTARA	20191221707	RAJKIYAKRIT+2 HIGH SCHOOL, NARAYANPUR	Electronics & Hardware
KODARMA	20050307710	GOVT +2 HS JAINAGAR	Electronics & Hardware
PALAMU	20021501401	RAJKIYEKRIT +2 HIGH SCHOOL HAIDARNAGAR	Electronics & Hardware

\*In all the above schools Security Sector will be discontinued.

#### ANNEXURE - VII

#### Status of Spill Over 2019-20

a) Status of Spill Over: Elementary Education, Secondary Education and Teacher Education

			(Rs. In lakh)
Category	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Elementary Education	8432.11	4079.12	4352.9920
Secondary Education	48150.30	17443.78	30706.5180
Teacher Education	1301.48	489.12	812.36

(Rs. In lakh)

Major Component	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	39526.82	11480.28	28046.54
Quality Interventions	7913.98	2225.70	5688.28
<b>Teacher Education</b>	1301.48	489.12	812.36
Gender & Equity	7878.64	6631.92	1246.72
Vocational Education	1262.97	1185.00	77.97
Total	57883.89	22012.02	35871.87

# b) Status of Spill Over under various activities falling under Elementary Education, Secondary Education and Teacher Education (Financial Year: 2019-2020 Month: March)

					~	1.4 5				(KS. 1	n lakh)
				Approved ulative)		nulative Prog ince Inception	0		Spill	Over	
Part	ticular		Physical Financial		Phys	Physical		Physical			Financial
					Complete	In- progress	Financial	In- progress	Not Started	Total	
Acce	ess & Re	tention									
Oper	ning of N	New / Upgraded Schools									
	Openin	ng of New Schools - NR (Elementary)									
	1.a	Composite School for Elementary	71	146.03	0	0	68.72	0	71	71	77.31
1	1.b	Upgradation of PS to UPS (VI – VIII)	181	59.92	0	72	0.00	72	109	181	59.92
	(Elem	for Opening of New Schools - NR entary)		205.95			68.72				137.23
	Openin (Secor										
3	3.b	2 Section School (Class IX - X)	45	25994.74	0	0	4677.84	0	45	45	21316.90
	Total for Opening of New / Upgraded Schools - NR (Secondary)			25994.74			4677.84				21316.9
Resi	dential S	chool / Hostels									
	Reside	ential Schools - NR (New) (Capacity 100)									
	13.a	Furniture / Equipment (including kitchen equipment)	200	6.00	200	0	6.00	0	0	0	0.00
13	13.b	TLM and equipment including library books (New)	200	2.00	200	0	1.73	0	0	0	0.27
15	13.c	Bedding (New)	200	1.50	200	0	1.50	0	0	0	0.00
	13.g	Electricity / water charges	2	1.20	2	0	1.20	0	0	0	0.00
		Non – Recurring Cost for 35 LWE Districts	5	1050.00	0	0	281.00	0	5	5	769.00
	(Capa	for Residential Schools - NR (New) city 100)		1060.70			291.43				769.27
15	Reside 100)	ential Schools - NR (Previous Year) (Capacity									
15	15.a	Furniture / Equipment (including kitchen equipment)	1300	39.00	209	0	6.25	0	1091	1091	32.75

(Rs. In lakh)

				Approved ulative)		ulative Prog nce Inceptio			Spill	Over	
Part	icular		Physical	Financial	Phys	sical	Einensiel	]	Physical		Financial
					Complete	In- progress	Financial	In- progress	Not Started	Total	
	15.b	TLM and equipment including library books (New)	1300	13.00	145	0	1.48	0	1155	1155	11.52
	15.c	Bedding (New)	600	4.50	108	0	0.80	0	492	492	3.70
	15.d	Replacement of bedding (once in 3 years)	400	3.00	277	0	2.07	0	123	123	0.93
		for Residential Schools - NR (Previous (Capacity 100)		59.50			10.60				48.9
	Reside	ntial Hostels - NR (New) (Capacity 100)									
28	28.g	Non – Recurring Cost for 35 LWE Districts	16	1760.00	0	0	421.50	0	16	16	1338.50
		for Residential Hostels - NR (New) city 100)		1760.00			421.50				1338.5
Stren	gthening	g of Existing Schools									
	Strengthening of Schools - NR (up to Highest Class VIII)										
	38.b	Additional Classrooms (Upto Class VIII)	2615	2549.57	0	0	1281.60	0	2615	2615	1267.97
	38.c	Building Less Schools / Dilapidated Building	79	730.03	0	0	700.31	0	79	79	29.72
	38.d	Boys Toilets	0	57.81	0	0	8.02	0	0	0	49.79
38	38.j	CWSN Toilets (Upto Class VIII)	412	828.12	0	0	621.00	0	412	412	207.12
	38.k	Major Repair (Upto Class VIII)	218	503.85	0	0	471.38	0	218	218	32.47
	38.n	Ramps and Handrails	447	96.55	0	0	91.00	0	447	447	5.55
	38.p	Dilapidated Building (Primary)	12	241.92	0	0	60.48	0	12	12	181.44
	38.r	Dilapidated Building (Upper Primary)	8	212.32	0	0	53.08	0	8	8	159.24
		for Strengthening of Schools - NR (up to st Class VIII)		5220.17			3286.87				1933.302
	Strengt	thening of Existing Schools (IX - X) - NR									
	39.a	Additional Classroom	814	3611.56	0	0	2106.70	0	814	814	1504.86
	39.b	Science Lab	59	661.55	0	0	32.23	0	59	59	629.32
39	39.d	Art/Craft Room	7	60.84	0	0	60.02	0	7	7	0.82
	39.e	Library Room	2	25.50	0	0	25.16	0	2	2	0.34
	39.i	Toilets for CWSN	88	176.88	0	0	0.00	0	88	88	176.88
	39.j	Removal of Architectural Barriers	848	183.17	0	0	137.25	0	848	848	45.92

				Approved ulative)		ulative Prog nce Inceptio	Spill Over				
Particular			Physical	Financial	Physical		Financial	Physical			Financial
					Complete	In- progress	Financiai	In- progress	Not Started	Total	
	39.n	Equipment for Resource Room	259	181.30	0	0	39.71	0	259	259	141.59
	X) - N			4900.80			2401.07				2499.728
		ing and Renovations (up to Highest Class X) - NR									
45	45.a	Major Repair	63	324.96	0	0	322.25	0	63	63	2.71
		for Repairing and Renovations (up to st Class X or XII) - NR		324.96			322.25				2.71
Tota	. 0	cess & Retention		39526.82			11480.28				28046.54
Qual	ity Interv	ventions									
ICT	and Digi	tal Initiatives									
	Digital XII) - I	Hardware & Software (upto Highest Class NR									
	105.a	Tablets/Laptop/Notebook/PCs	998	7718.78	231	21	2225.70	21	746	767	5493.08
105	105.b	Operating System / Software's	488	97.60	0	11	0.00	11	477	488	97.60
	105.c	Furniture	488	97.60	0	11	0.00	11	477	488	97.60
		for Digital Hardware & Software (upto st Class XII) - NR		7913.98			2225.70				5688.28
Tota	l for Qu	ality Interventions		7913.98			2225.70				5688.28
Teac	her Educ	cation									
	Strengthening of physical infrastructure& Establishment of new DIETs										
	Establi	shment of Special Cells in SCERT - NR									
	114.a	Science	1	10.00	0	0	0.00	0	1	1	10.00
	114.b	Mathematics	1	10.00	0	0	0.00	0	1	1	10.00
114	114.c	Social Studies	1	10.00	0	0	0.00	0	1	1	10.00
	114.d	Education Technology/Computer	1	10.00	0	0	0.00	0	1	1	10.00
	114.e	Language/English Education	1	10.00	0	0	0.00	0	1	1	10.00
		for Establishment of Special Cells in T - NR		50.00			0.00				50

Particular			Approved ulative)		ulative Prog nce Inceptio	Spill Over				
			Physical Financial		sical	Financial	Physical			Financial
				Complete	In- progress	Financiai	In- progress	Not Started	Total	
	Equipment's in Teacher Education Institutions - NR									
115	115.b DIETs	20	200.00	0	9	90.00	9	11	20	110.00
110	Total for Equipment's in Teacher Education Institutions - NR		200.00			90.00				110
	Establishment of Institutions - NR									
116	116.a Construction of New DIET Building	2	798.23	0	2	399.12	2	0	2	399.11
	Total for Establishment of Institutions - NR		798.23			399.12				399.11
	Strengthening of Physical Infrastructure - NR									
118	118.aCivil works, hostel facilities, etc of the existing TEIs (SCERTs/DIETs/BITEs)	0	159.01	0	0	0.00	0	0	0	159.01
	Total for Strengthening of Physical Infrastructure - NR		159.01			0.00				159.01
Tech	Technology Support to TEIs									
	Technology Support to TEIs (NR)									
125	125.a Hardware & Software Support	20	94.24	0	0	0.00	0	20	20	94.24
	Total for Technology Support to TEIs (NR)		94.24			0.00				94.24
Tota	l for Teacher Education		1301.48			489.12				812.36
Gend	ler & Equity									
Kast	urba Gandhi Balika Vidyalaya (KGBVs)									
	KGBV - Type - III (NR) (New) (Classes VI -XII)									
	146.a Boring/ Hand pump	0	1.00	0	0	0.00	0	0	0	1.00
146	146.d Bedding	0	37.87	0	0	0.00	0	0	0	37.87
	146.e Replacement of bedding (once in 3 years)	0	86.92	0	0	0.00	0	0	0	86.92
	Total for KGBV - Type - III (NR) (New) (Classes VI -XII)		125.79			0.00				125.79
	KGBV - Type - IV (NR) (New) (Classes IX - XII)									
150	150. Civil Works	86	7752.85	0	0	6631.92	0	86	86	1120.93
	Total for KGBV - Type - IV (NR) (New) (Classes		7752.85			6631.92				1120.93

		Budget Approved (Cumulative)			ulative Prog nce Inceptio	Spill Over				
Parti	cular	Physical	Financial	Financial Phy		Financial	Physical			Financial
				Complete	In- progress	Financiai	In- progress	Not Started	Total	
	IX - XII)									
Tota	l for Gender & Equity		7878.64			6631.92				1246.72
Voca	tional Education									
	duction of Vocational Education at Secondary and or Secondary									
	Introduction of VE in schools - NR									
167	167.a Tools, Equipment & Furniture (New)	173	1205.97	0	0	1185.00	0	173	173	20.97
	Total for Introduction of VE in schools - NR		1205.97			1185.00				20.97
	Addition of VE Course in Existing Schools - NR									
172 172.a Tools, Equipment & Furniture (Existing Schools)		57	57.00	0	0	0.00	0	57	57	57.00
	Total for Addition of VE Course in Existing Schools - NR		57.00			0.00				57
Tota	for Vocational Education		1262.97			1185.00				77.97
Grar	nd Total		57883.89			22012.02				35871.87

\*The proposal of the State to surrender Civil Works @ Rs. 335.82 lakh at the elementary level and @ Rs. 2677.08 lakh at the secondary level was agreed. Details of surrender of Civil Works are as provided in Annexure - II

### ANNEXURE - VIII

## Costing Sheet: Jharkhand (2020-2021)

(Rs. In lakh)

Particulars						Proposal			Final Approved Outlay					
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks			
Access & Retention	Residential School / Hostels	16		Residential Schools - Recurring (Previous Year) (Capacity 100)										
			<b>16.</b> a	Maintenance per child per month	2000	0.18000	360	2000	0.18000	360	Recommended as per norm.			
			<b>16.</b> b	Stipend per child per month	2000	0.01200	24	2000	0.01200	24	Recommended as per norm.			
			<b>16.</b> c	Supplementary TLM, Stationery and other educational material	2000	0.01000	20	2000	0.01000	20	Recommended as per norm.			
			<b>16.</b> d	1 Warden	20	3.00000	60	20	3.00000	60	Recommended for 20 warden/staff @ 1/ school as per norm.			
			<b>16.</b> f	4 - 5 Fulltime teachers as per RTE Norms	80	2.40000	192	80	2.40000	192	Recommended for 80 teachers @ 4 teachers as per norm.			
			<b>16.</b> h	3 Part time teachers	60	1.20000	72	60	1.20000	72	Recommended for 60 teachers @ 3 teachers as per norm.			
			<b>16.</b> i	1 Full time Accountant	20	1.20000	24	20	1.20000	24	Recommended 1 (one) each for 20 school @ 1/school as per norm.			
			<b>16</b> .j	2 Support staff - (Accountant/Assistan t, Peon, Chowkidar)	40	0.60000	24	40	0.60000	24	Recommended for 40 staff @ 2 per school as per norm.			
			<b>16.</b> k	1 Head Cook	20	0.72000	14.4	20	0.72000	14.4	Recommended for 20 Head Cook/staff @ 1/school as per norm.			
			<b>16.</b> ]	2 Assistant Cook	40	0.54000	21.6	40	0.54000	21.6	Recommended for 40 cook @ 2/school as per norm.			

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay		
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remar	'ks	
			<b>16.</b> m	Specific Skill training	2000	0.01000	20	2000	0.01000	20	Recommended norm.	as	per
			<b>16.</b> n	Electricity / water charges	2000	0.01000	20	2000	0.01000	20	Recommended students as per 1		2000
			<b>16.</b> 0	Medical care/contingencies	2000	0.01250	25	2000	0.01250	25	Recommended norm.	as	per
			<b>16.</b> р	Maintenance	2000	0.00750	15	2000	0.00750	15	Recommended norm.	as	per
			<b>16.</b> q	Miscellaneous	2000	0.00750	15	2000	0.00750	15	Recommended norm.	as	per
			<b>16.</b> u	Capacity Building	2000	0.00500	10	2000	0.00500	10	Recommended @ Rs.500/ pe approved unit co 20 PAB.	r child	
			<b>16.</b> v	Physical / Self Defence Training	2000	0.00200	4	2000	0.00100	2	Recommended norms.	as	per
				Total of Residential Schools - Recurring (Previous Year) (Capacity 100)			921			919			
		Tota Host		sidential School /			921			919			
	Strengthenin g of Existing Schools	38		Strengthening of Schools - NR (up to Highest Class VIII)									
			<b>38.</b> j	CWSN Toilets (Upto Class VIII)	550	2.01130	1106.215	494	2.01000	992.94	Recommended found eligible.	494	as
				Total of Strengthening of Schools - NR (up to Highest Class VIII)			1106.22			992.94			
		Total of Stre Schools	Total of Strengthening of Existing				1106.22			992.94			
	Total for Access & Retention						2027.22			1911.94			

	Ра	articu	lars			Proposa	ıl		F	inal Approv	red Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
RTE	Free	50		Uniform							
Entitlements	Uniforms		<b>50.</b> a	All Girls	2007032	0.00600	12042.192			12042.192	Recommended two sets of uniform for 2007032 students.
			<b>50.</b> b	ST Boys	591897		3551.382	591897	0.00600	3551.382	Recommended two sets of uniform for 591897 students.
			<b>50.</b> c	SC Boys	338285	0.00600	2029.71	338285	0.00600	2029.71	Recommended two sets of uniform for 338285 students.
			<b>50.</b> d	BPL Boys	460551	0.00600	2763.306	460551	0.00600	2763.306	Recommended two sets of uniform for 460551 students.
				Total of Uniform			20386.59			20386.59	
		Tota	l of Fre	ee Uniforms			20386.59			20386.59	
	Free	51		Free Text Books							
	Textbooks		<b>51.</b> a	Text Books (Class I - II)	1072232	0.00250	2680.58	1070072	0.00250	2675.18	Recommended for 1070072 students as per UDISE+ 2018-19.
			<b>51.</b> b	Braille Books (Class I – II)	412	0.00250	1.03	412	0.00250	1.03	Recommended for 412 students as per UDISE+ 2018-19.
			<b>51.</b> c	Large Print Books (Class I – II)	801	0.00250	2.003	801	0.00250	2.0025	Recommended as proposed for 801 students.
			<b>51.</b> d	Text Books (Class III - V)	1750441	0.00250	4376.1025	1747308	0.00250	4368.27	Recommended for 1747308 students as per UDISE+ 2018-19.
			<b>51.</b> e	Braille Books (Class III - V)	612	0.00250	1.528	557	0.00250	1.3925	Recommended for 557 students as per UDISE+ 2018-19.
			<b>51.</b> f	Large Print Books (Class III - V)	1270	0.00250	3.174	1270	0.00250	3.175	Recommended as proposed for 1270 students.

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>51</b> .g	Text Books (Class VI - VIII)	1423879	0.00400	5695.516	1423879	0.00400	5695.516	Recommendedfor1423879students as perUDISE+ 2018-19.
			<b>51.</b> h	Braille Books (Class VI – VIII)	514	0.00388	1.994	499	0.00388	1.93612	Recommended for 499 students as per UDISE+ 2018-19.
			<b>51.</b> i	Large Print Books (Class VI - VIII)	1213	0.00397	4.81325	1213	0.00397	4.81561	Recommended as proposed for 1213 students.
				Total of Free Text Books			12766.74			12753.32	
		Tota	l of Fre	e Textbooks			12766.74			12753.32	
	Reimburse ment	52		Reimbursement of Fee							
	towards expenditure incurred for 25% of Admission under 12 (1)(c) RTE		<b>52.</b> a	Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry Level)	18296	0.05100	933.096	11766	0.00000	600.07	Amount reimbursed for children in class 1 and above is recommended. State has reimbursed Rs. 600.07 lakh to 314 private schools for 11766 children in class 1 and above.
	Act			Total of Reimbursement of Fee			933.1			600.07	
		expe	enditur	mbursement towards e incurred for 25% of under 12 (1)(c) RTE			933.1			600.07	
	Special Training of Out of	53		Special Training for OoSC - Non- Residential (Fresh)							
	School Children (OoSC)		<b>53.</b> c	9 Months (Non - Residential - Fresh)	8701	0.06000	522.06	8701	0.04500	391.545	Recommendedasproposed.financialCosting

	Ра	articu	lars			Proposa	1		Fi	nal Appro	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											recommended as per norms
				Total of Special Training for OoSC - Non-Residential (Fresh)			522.06			391.54	
		54		Special Training for OoSC - Residential (Fresh)							
			<b>54</b> .c	9 Months (Residential - Fresh)	2240	0.20000	448	2240	0.15000	336	Recommended as proposed. Financial Costing recommended as per norms
				Total of Special Training for OoSC - Residential (Fresh)			448			336	
		56		Special Training for OoSC - Residential (Previous year)							
			<b>56.</b> c	9 Months (Residential - Prev. Year)	383	0.20000	76.6	383	0.15000	57.45	Recommended as proposed. Financial Costing recommended as per norms
				Total of Special Training for OoSC - Residential (Previous year)			76.6			57.45	
		57		Intervention for Migrant Children/ Seasonal Hostel (Non-Residential)							

	Ра	articu	lars			Proposa	ıl		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>57.</b> c	9 Months (Non - Residential - Migrant)	1530	0.06000	91.8	1530	0.04500	68.85	Recommended as proposed. Financial Costing recommended as per norms
				Total of Intervention for Migrant Children/ Seasonal Hostel (Non- Residential)			91.8			68.85	
				ecial Training of Out hildren (OoSC)			1138.46			853.84	
	Media & Community Mobilization	62		Media & Community Mobilization (Elementary)							
			<b>62.</b> b	Media & Community Mobilization	32753	0.01500	491.295	32753	0.01500	491.295	Recommended budget estimate for under taking Media and community mobilization is Rs.1500 (unit cost) x 32753 (No. of School) = Rs.491,29,500/
			62.c	Training of SMC/ SDMC	32753	0.03000	982.59	32753	0.03000	982.59	Recommended budget estimate for under taking Training of SMC/SDMC i.e. Capacity building of SMC/SDMC is Rs.3000/- (unit cost) x 32753 (No. of School) = Rs.982,59,000/
				Total of Media & Community Mobilization (Elementary)			1473.88			1473.88	
		63		Media & Community Mobilization (Secondary)							

	Ра	articu	ılars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>63.</b> a	Media & Community Mobilization	2694	0.01500	40.41	2694	0.01500	40.41	Recommended budget estimate for under taking Media and community mobilization is Rs.1500 (unit cost) x2694 (No. of School) = Rs. 40,41,000/-
			<b>63.</b> b	SMDC Training	2694	0.03000	80.82	2694	0.03000	80.82	Recommended budget estimate for under taking Training of SMC/SMDC i.e. Capacity building of SMC/SMDC is Rs.3000/- (unit cost) x 2694 (No of School) =Rs.80,82,000/-
				Total of Media & Community Mobilization (Secondary)			121.23			121.23	
			l of Me ilizatio	dia & Community			1595.12			1595.12	
	Total for RTE	Entit	lement	S			36820.00			36188.94	
Quality Interventions	<b>C</b>	64		Quality Components (Elementary)							
Interventions	Quality (LEP, Innovation, Guidance etc)		64.	PANKH monthly magazine	35997	0.02640	950.3208	32809	0.02500	820.225	Recommended for 32809 schools (including classes) for preparing monthly magazine covering diverse issues on education, health etc.
			<b>64</b> .j	Orientation Programme for Teachers on Safety and Security	94343	0.01000	943.43	94343	0.01000	943.43	Recommended for 94343 teachers @Rs.1000 per teacher for orientating and sensitizing the teachers as first level counsellors.

	Ра	articu	lars			Proposa	1		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			64. k	Fund for Safety and Security at School Level	1	0.00001	0.00001	32809	0.00500	164.045	Recommended @ Rs. 500 per School for 32809 Schools (UDISE+ 2018-19) for conducting various activities for safety and security of children as per COVID-19 Guidelines.
				Shaala Siddhi	1800	0.00600	10.8	900	0.00500	4.5	Recommended for conducting Shaala Siddhi evaluation for 900 schools @ Rs.500 per school. State is requested to conduct this activity in this year as this is one of the indicators in Performance Grading Index (PGI).
				Total of Quality Components (Elementary)			1904.55			1932.20	
		65		Quality Components (Secondary & Sr. Secondary)							
			65.	Funds for Safety and Security	1	0.00001	0.00001	2750	0.00500	13.75	Recommended @ Rs. 500 per School for 2750 Schools (UDISE+ 2018-19) for conducting various activities for safety and security of children as per COVID-19 Guidelines.
				Orientation Programme for Teachers on safety and Security	20141	0.01000	201.41	20141	0.01000	201.41	Recommended for 20141 teachers @Rs.1000 per teacher for orientating and sensitizing the teachers as first level counsellors.

	Pa	articu	lars			Proposa	1		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				PANKH monthly magazine	2875	0.03000	86.25	2750	0.02000	55	Recommended for 2750 schools for preparing monthly magazine covering diverse issues on education, health etc.
			<b>65.</b> b	Shaala Siddhi	600	0.00600	3.6	600	0.00500	3	Recommended for conducting Shaala Siddhi evaluation for 600 schools @ Rs.500 per school. State is requested to conduct this activity in this year as this is one of the indicators in Performance Grading Index (PGI).
				Total of Quality Components (Secondary & Sr. Secondary)			291.26			273.16	
		67		Project - Innovative Activities (Secondary & Sr. Secondary)							
			67.	Documentation of Best Practices on Shagun Portal	4	1.00000	4	4	1.00000	4	Recommended for documenting the best practices in good quality HD (images and videos) and content based case studies on various components of Samagra Shiksha. State may ensure timely submission of best practices to MHRD for uploading on shagun repository.

	Pa	articu	lars			Proposa	1		Fi	nal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				Teacher ID Cards	20141	0.00050	10.0705	20141	0.00050	10.07	Recommended as proposed
				Total of Project - Innovative Activities (Secondary & Sr. Secondary)			14.07			14.07	
		68		Project Innovation (Elementary)							
			68.	Youth & Eco Club	11556	0.15000	1733.4	11556	0.15000	1733.4	Recommended @ Rs. 15000/ per annum for 11556 schools for conducting various activities by setting up youth & Eco clubs. Detail activities are in the appraisal report. State may ensure documenting the best practices (images, videos etc.) for shagun repository.
			<b>68.</b> a e	Teacher ID Cards	94343	0.00050	47.1715	94343	0.00050	47.172	Recommended as proposed
			<b>68</b> .a et	Documentation of Best Practice on Shagun Portal	8	2.00000	16	8	2.00000	16	Recommended for documenting the best practices in good quality HD (images and videos) and content based case studies on various components of Samagra Shiksha. State may ensure timely submission of best practices to MHRD for uploading on Shagun repository.

	Ра			Proposa	1		Fi	inal Approv	ved Outlay		
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				Total of Project Innovation (Elementary)			1796.57			1796.57	
		70		Project Kala Utsav (Secondary)							
			<b>70.</b> a	TA / DA Allowance for National Level	48	0.05000	2.4	1	2.00000	2	Recommended Rs. 2 Lakh for TA/DA at national level for kala utsav
			<b>70.</b> b	Kala Utsav	24	1.00000	24	1	10.00000	10	Recommended Rs. 10 lakh for conducting kala utsav activities at district and state level activities.
				Total of Project Kala Utsav (Secondary)			26.4			12	
		73		Band Competition							
			73.	Band Competition (Secondary & Sr. Secondary)	24	1.00000	24	1	5.00000	5	Recommended Rs.5.00 lakh for undertaking the following activities: State level band competition Rs.2.0 lakh, Rs.50,000/- for training for government schools only, Rs.50,000/- for Band Costumes for government schools only & Rs.2.0 lakh for purchase pipe band instruments for government schools only. All these activities to be taken up as per the ISBC guidelines of 2019-20.
				Total of Band Competition			24			5	

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
	•	75		Foundational Literacy and Numeracy							
			75.	Reading Enhancement Programme	1064164	0.00500	5320.82	1064164	0.00250	2660.41	Recommended for conducting various activities (i) Barkha Series books (40 sets of books) 5 set per school (ii) Translation, Printing and Distribution of Barkha Series books in Regional Languages (Ho/Mundari/Kurukh/Sant hali/Mundari (iii) Development and printing of posters for reading promotion (iv) Language & Math Mela at Block level (twice a year) in 265 Blocks. These books will not be procured under Library Grant.
				Total of Foundational Literacy and Numeracy			5320.82			2660.41	
		76		LEP (Class III - V)							
			76.	Mathematics Kit	35365	0.02740	969.001	32793	0.02737	897.54441	Recommended for 32793 schools as per UDISE+ 2018-19 for enhancing numeracy skills. State is requested to procure these kits from NCERT and provide to the schools.

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>76.</b> d	Remedial Teaching	347983	0.00500	1739.915	347983	0.00500	1739.915	Recommended remedial teaching for less than 25% of students out of the total enrolment of students.
				Total of LEP (Class III - V)			2708.92			2637.46	
		77		LEP (Class VI - VIII)							
			77.	Mathematics Kit for Upper Primary schools by NCERT	14313	0.01662	237.88206	5808	0.01661	96.47088	Recommended for 5808 schools to procure NCERT Mathematics kits (50% of the total 11615 schools as per UDISE+ 2018-19). State is requested to cover the aspirational districts on priority basis.
				Remedial Teaching	283099	0.00500	1415.495	283099	0.00500	1415.495	Recommended for remedial teaching of 283099 of students (less than 25% of students of the total enrolment).
				Science Kit (without Microscope) for Upper Primary schools by NCERT	14313	0.07634	1092.654	5808	0.07639	443.67312	Recommended for 5808 schools to procure NCERT Science kits (50% of the total 11615 schools as per UDISE+ 2018-19). State is requested to cover the aspirational districts on priority basis.
				Total of LEP (Class VI - VIII)			2746.03			1955.64	

	Pa	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		80		LEP (Class IX - XII)							
			<b>80.</b> k	Remedial Teaching	157278	0.00500	786.39	157278	0.00500	786.39	Recommended for conducting remedial teaching for 157278 students (Less than 25% of total enrolment).
			-	Total of LEP (Class IX - XII)			786.39			786.39	
				nds for Quality (LEP, , Guidance, etc.)			15619.01			12072.90	
	Assessment at National	82		Assessment at State level (Elementary)							
	& State level		<b>82.</b> a	Assessment at State level	24	10.0000	240	24	1.36000	32.64	NAS will be conducted in 2020 for Classes 3,5 and 8. This amount is recommended for conducting training programme and TA DA provision of Field Investigators. Future plan of action will be shared by MHRD.
				Total of Assessment at State level (Elementary)			240			32.64	
		83		Assessment at State level (Secondary)							

	Ра	articu	lars			Proposa	1		Fi	nal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>83.</b> a	Assessment at State Level	24	10.0000	240	24	0.64000	15.36	NAS will be conducted in 2020 for Class 10. This amount is recommended for conducting training programme and TA DA provision of Field Investigators. Future plan of action will be shared by MHRD.
				Total of Assessment at State level (Secondary)			240			15.36	
				sessment at National			480			48	
	T	& Sta 84	te leve		-						
	Training for In-service	84		In-Service Training (I - VIII)							
	Teacher and Head Teachers		<b>84.</b> a	Class I & II	20236	0.01500	303.54	6090	0.01000	60.9	Recommended @ Rs.1000/- per teacher for online NISHTHA Training at Elementary level for covering the remaining teachers under NISHTHA- elementary level.
			<b>84.</b> b	Class III to V	20236	0.01500	303.54	11292	0.01000	112.92	Recommended @ Rs.1000/- per teacher for online NISHTHA Training at Elementary level for covering the remaining teachers under NISHTHA- elementary level.
			<b>84.</b> c	Class VI to VIII	53875	0.01500	808.125	5504	0.01000	55.04	Recommended @ Rs.1000/- per teacher for online NISHTHA Training at Elementary level for covering the remaining

	Particulars Major Sub					Proposa	1		Fi	nal Appro	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											teachers under NISHTHA- elementary level.
				Total of In-Service Training (I - VIII)			1415.2			228.86	
		85		In-Service Training (IX - XII )							
			85.	Language Training Under NISHTHA(Class IX-X)	2311	0.02500	57.775	2129	0.01000	21.29	Recommended Language teacher training @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX- X.
				Math Training Under NISHTHA(Class IX-X)	3235	0.02500	80.875	1053	0.01000	10.53	Recommended Math teacher training @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX- X.
				Science Training Under NISHTHA(Class IX-X)	3467	0.02500	86.675	981	0.01000	9.81	Recommended Science teacher training for 5 days at Block level @ Rs.500 per person per day for Classes IX-X.
				Social Science Training Under NISHTHA(Class IX-X)	2542	0.02500	63.55	851	0.01000	8.51	Recommended Social Science teacher training @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX- X.
				Total of In-Service Training (IX - XII )			288.88			50.14	
		88		Training of Resource Persons & Master Trainers							

	Particulars Major Sub					Proposa	l		Fi	nal Appro	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				(Elementary)							
			<b>88.</b> c	KRPs Travel/Accommodati on	304	0.25000	76	0	0	0	Not Recommended as NISHTHA training for remaining teachers at elementary level will be conducted online.
				Total of Training of Resource Persons & Master Trainers (Elementary)			76			0	
		89		Training of Resource Persons & Master Trainers (Secondary)							
			89.	KRPs Math Training Under NISHTHA State level (Class IX to X)	36	0.06000	2.16	11	0.01000	0.11	Recommended Math KRPs training at @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX-X.
				KRPs Social Science Training Under NISHTHA State level (Class IX toX)	29	0.06000	1.74	9	0.01000	0.09	Recommended Social KRPs training at @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX-X.
				KRPs Language Training Under NISHTHA State level (Class IX to X)	27	0.06000	1.62	21	0.01000	0.21	Recommended Language KRPs training at @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX- X.

	Particulars Major Sub					Proposa	1		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				KRPs Science Training Under NISHTHA State level ( Class IX toX)	40	0.06000	2.4	10	0.01000	0.1	Recommended Science KRPs training at @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level. Classes IX- X.
				KRPs Travel/Accommodati on Under NISHTHA (Class IX to X)	836	0.25000	209	0	0	0	Not Recommended as NISHTHA Phase II training at secondary level will be conducted online.
				Printing of NISHTHA Teacher Training Package (Class IX toX)	11553	0.00150	17.3295	0	0	0	Not Recommended as this amount is already included in the Rs. 1000 provided per teacher.
				Total of Training of Resource Persons & Master Trainers (Secondary)			234.25			0.51	
		(Secondary)Total of Training for In-serviceTeacher and Head Teachers					2014.33			279.51	
	Composite School	94		Annual Grant (up to Highest Class VIII)							
			<b>94.</b> a	School Grant - (Enrol 1- 15)	654	0.12000	78.48	600	0.12000	72	Recommended for 600 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
			<b>94.</b> b	School Grant -(Enrol >15 - 100 )	23137	0.25000	5784.25	21223	0.25000	5305.75	Recommended for 21223 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the

	Particulars Major Sub					Proposa	1		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											amount for Swachhta Programs.
		-	<b>94.</b> c	School Grant - (Enrol > 100 and <= 250 )	8919	0.50000	4459.5	8234	0.50000	4117	Recommended for 8234 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
			<b>94.</b> d	School Grant - (Enrol > 250 and <= 1000 )	3020	0.75000	2265	2739	0.75000	2054.25	Recommended for 2739 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
			<b>94.</b> e	School Grant - (Enrol > 1000)	13	1.00000	13	13	1.00000	13	Recommended for 13 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
				Total of Annual Grant (up to Highest Class VIII)			12600.23			11562	
		95		Annual Grant (up to Highest Class X or XII)							

	Pa			Proposa	1		F	inal Appro	ved Outlay	
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		<b>95.</b> a	School Grant (Enrol 1- 15)	9	0.12000	1.08	6	0.12000	0.72	Recommended for 6 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
		<b>95.</b> b	School Grant -(Enrol >15 - 100 )	158	0.25000	39.5	158	0.25000	39.5	Recommended for 158 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
		<b>95.</b> c	School Grant - (Enrol > 100 and <= 250 )	493	0.50000	246.5	493	0.50000	246.5	Recommended for 493 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
		<b>95.</b> d	School Grant - (Enrol > 250 and <= 1000 )	1832	0.75000	1374	1832	0.75000	1374	Recommended for 1832 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.
		<b>95.</b> e	School Grant - (Enrol > 1000)	195	1.00000	195	195	1.00000	195	Recommended for 195 schools as per UDISE+2018-19 excluding zero enrollment schools. Including 10% of the amount for Swachhta Programs.

	Particulars Major Sub					Proposal			F	inal Approv	red Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				Total of Annual Grant (up to Highest Class X or XII)			1856.08			1855.72	
		Tota	l of Coi	mposite School Grant			14456.31			13417.72	
	Libraries	98		Library (upto Highest Class VIII)							
			<b>98.</b> a	Composite Elementary Schools (I – VIII)	11556	0.13000	1502.28	11556	0.13000	1502.28	Recommended for 11556 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
			<b>98.</b> b	Upper Primary Schools (VI – VIII)	12	0.10000	1.2	12	0.10000	1.2	Recommended for 12 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
			<b>98.</b> c	Primary School (I – V)	21185	0.03000	635.55	21185	0.03000	635.55	Recommended for 21185 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for

	Particulars Maior Sub					Proposal			F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											promotion of reading mentioned in the guideline.
				Total of Library (upto Highest Class VIII)			2139.03			2139.03	
		99		Library (upto Highest Class XII)							
			<b>99.</b> a	Composite Secondary Schools (Class I - X)	1447	0.15000	217.05	1447	0.15000	217.05	Recommended for 1447 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
			<b>99.</b> b	Schools with Class VI - XII	408	0.15000	61.2	408	0.15000	61.2	Recommended for 408 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
			<b>99.</b> c	Secondary Schools (Classes IX & X)	310	0.10000	31	310	0.10000	31	Recommended for 310 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for

	Pa	articulars			Proposa	1		Fi	nal Approv	ved Outlay
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
										promotion of reading mentioned in the guideline.
		<b>99.</b> d	Composite Secondary Schools (Class IX - XII)	291	0.15000	43.65	291	0.15000	43.65	Recommended for 291 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
		<b>99.</b> f	Composite Senior Secondary Schools (Class I - XII)	165	0.20000	33	165	0.20000	33	Recommended for 165 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>99.</b> g	Schools with Class VI - X	73	0.15000	10.95	73	0.15000	10.95	Recommended for 73 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued by MHRD. The schools must conduct the activities for promotion of reading mentioned in the guideline.
				Total of Library (upto Highest Class XII)			396.85			396.85	
		Tota	l of Lib	raries			2535.88			2535.88	
	Rastriya Aavishkar Abhiyan	10 0		Rashtriya Aavishkar Abhiyan (Elementary)							
			<b>100</b> .d	Exposure visit outside State	3600	0.12000	432	2400	0.10000	240	Recommended for 2400 students at elementary level from all 24 districts for visit to outside the state @ Rs. 10000/ per student. State may share the good quality images and videos of this event for shagun repository.
				Total of Rashtriya Aavishkar Abhiyaan (Elementary)			432			240	
		10 1		Rashtriya Aaviskaar Abhiyan (Secondary)							

	Ра			Proposa	1		Fi	nal Appro	ved Outlay		
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>101</b> .e	Exposure visit outside State	1200	0.12000	144	1200	0.10000	120	Recommended for 1200 students at secondary level from all 24 districts for visit to outside the state @ Rs. 10000/ per student. State may share the good quality images and videos of this event for shagun repository.
				Total of Rashtriya Aaviskaar Abhiyan (Secondary)			144			120	
		Tota Abhi		striya Aavishkar			576			360	
	ICT and Digital Initiatives	103	<u></u>	Digital Hardware & Software (up to Highest Class VIII) - NR							
			<b>103</b> .a	Tablets/Laptop/Note book/PCs	480	6.40000	3072	375	6.40000	2400	Recommended Rs.2400 Lakh for Hardware, Software and Furniture as per norm for 375 eligible schools.
				Total of Digital Hardware & Software (up to Highest Class VIII) - NR			3072			2400	
		104		Recurring Components (Digital Hardware & Software upto Highest Class VIII)							
			<b>104</b> .a	Recurring Cost (ICT & Digital Initiatives)	480	1.20000	576	375	1.20000	450	Recommended Rs. 450.0 Lakh as per norms for 375

	Ра	articu	lars			Proposa	ıl		Fi	inal Appro	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				(New)							eligible schools for 6 months.
				Total of Recurring Components (Digital Hardware & Software upto Highest Class VIII)			576			450	
		10 5		Digital Hardware & Software (upto Highest Class XII) - NR							
			<b>105</b> .a	Tablets/Laptop/Note book/PCs	448	6.40000	2867.2	351	6.40000	2246.4	Recommended Rs.2246.4 Lakh for Hardware, Software and Furniture as per norm for 351 eligible schools.
				Total of Digital Hardware & Software (upto Highest Class XII) - NR			2867.2			2246.4	
		10 6		Recurring Components (Digital Hardware & Software upto Highest Class XII)							
			<b>106</b> .a	Recurring Cost (ICT & Digital Initiatives) (New)	448	1.20000	537.6	351	1.20000	421.2	Recommended Rs. 421.2 Lakh as per norms for 351 eligible schools for 6 months.
			<b>106</b> .b	Recurring Cost (ICT & Digital Initiatives) (Previous Year)	549	1.88089	1032.609	74	2.40000	177.6	Recommended Rs. 177.6 Lakh as per norms for 61 schools approved in 2018- 19 and 13 schools approved in 2019-20

	Ра	articu	lars			Proposa	ıl		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>106</b> .f	Reimbursement (ICT)	900	1.79810	1618.286	900	1.79810	1618.29	Recommended Rs 1618.29 Lakh as per norm for 465 schools approved in 2014- 15 and 435 schools approved in 2017-18
				Total of Recurring Components (Digital Hardware & Software upto Highest Class XII)			3188.5			2217.09	
			l of ICT atives	and Digital			9703.7			7313.49	
	Support at Pre-	110		Pre-Primary (Recurring)							
	Primary Level		<b>110</b> .a	Support at Pre- Primary Level (New)	2400	0.13000	312	2400	0.10000	240	Recommended for TLM to procure as per the NCERT guidelines.
				Total of Pre-Primary (Recurring)			312			240	
		Tota Leve		oport at Pre-Primary			312			240	
	Academic support	111		Provision for BRCs/URCs							
	through BRC/URC/C RC		<b>111</b> .a	Salary for 6 Resource Persons at BRC	762	2.11200	1609.344	745	1.66000	1236.7	Recommended salary only for the filled posts as per unit cost of last year.
			<b>111</b> .b	Salary for 2 Resource Persons for CWSN	303	2.08000	630.24	303	1.89000	572.67	Recommended salary only for the filled posts as per unit cost of last year.
			111 .c	Salary for 1 MIS Coordinator in position	149	2.64000	393.36	149	2.40000	357.6	Recommended as proposed. Financial Costing recommended as per norms

	Pa	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>111</b> .d	Salary for 1 Data Entry Operator in position	82	2.18000	178.76	82	1.61000	132.02	Recommended salary only for the filled posts as per unit cost of last year.
			<b>111</b> .f	TLE/TLM Grant	265	0.05000	13.25	265	0.03000	7.95	Recommended @ Rs. 3000 per BRC
			<b>111</b> .i	Contingency Grant	265	0.50000	132.5	265	0.50000	132.5	Recommended as proposed
			111 .j	Meeting, TA	265	0.30000	79.5	265	0.30000	79.5	Recommended as proposed
				Total of Provision for BRCs/URCs			3036.95			2518.94	
		113		Provisions for CRCs							
			<b>113</b> .a	Salary for CRC Coordinator (one)	2396	2.11200	5060.352	2289	1.52000	3479.28	Recommended, Salary for one CRC coordinator for each CRC as per unit cost of last year.
			113 .c	Contingency Grant	2289	0.05000	114.45	2289	0.05000	114.45	Recommended as proposed
			<b>113</b> .d	Meeting, TA	2289	0.05000	114.45	2289	0.05000	114.45	Recommended as proposed
			113 .g	Mobility Support for CRC(Strengthening of CRC)	32953	0.01000	329.53	32809	0.01000	328.09	Recommended @ Rs. 1000 for 32809 Elementary schools
				Total of Provisions for CRCs			5618.78			4036.27	
				ademic support C/URC/CRC			8655.74			6555.21	
	Total for Qua	lity In	terven				54050.63			42822.71	
Teacher Education	Salaries of Teacher Educators	12 0		Teachers Educators Salary in TEIs (Academic Posts)							
	(TEIs)		<b>120</b> .b	DIETs	1	61.0000	61	10	3.17700	31.77	Recommended as per norm for 60% of post filled.

	Ра	articu	lars			Proposa	l		Fi	nal Appro	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		Tota	l of Sal	Total of Teachers Educators Salary in TEIs (Academic Posts) aries of Teacher			61			31.77 31.77	
			ators (								
	DIKSHA (National	123		DIKSHA (National Teacher Portal)							
	Teacher Portal)		<b>123</b> .b	Capacity building and Training for Teachers, Educators and State officials for usgae of DIKSHA	1	850.000	850	1	60.0000	60	Recommended Rs. 60 Lakh for creation of digital contents and capacity building of teachers on usage of DIKSHA.
				Total of DIKSHA (National Teacher Portal)			850			60	
			Fotal of DIKSHA (National Feacher Portal)				850			60	
	Program & Activities including Faculty	124		Program & Activities including Faculty Development of Teacher Educators							
	Developme nt of Teacher Educators		<b>124</b> .b	Program & Activities (DIET)	23	12.0000	276	23	5.00000	115	Recommended @ Rs. 5.00 lakh per DIET for 23 functional DIETs for conducting faculty development and Programme & activities.
			<b>124</b> .c	Specific projects for Research activities (DIET)	23	3.00000	69	23	2.00000	46	Recommended @ Rs.2.00 lakh per DIET for 23 functional DIETs
			<b>124</b> .g	Program & Activities (SCERT)	1	50.0000	50	1	5.00000	5	Recommended @ Rs. 5.00 lakh for conducting Faculty Development and

	Ра	articu	lars			Proposa	ıl		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											Programme & activities.
				Total of Program & Activities including Faculty Development of Teacher Educators			395			166	
		inclu	iding F	ogram & Activities aculty Development Educators			395			166	
	Annual Grant for	127		Annual Grant for TEIs							
	TEIs		<b>127</b> .a	SCERT	1	35.0000	35	1	20.0000	20	Recommended @ Rs. 20.00 lakh
			<b>127</b> .b	DIETs	23	20.0000	460	23	10.0000	230	Recommended @ Rs. 10.00 lakh per DIET for 23 functional DIETs
				Total of Annual Grant for TEIs			495			250	
				nual Grant for TEIs			495			250	
	Total for Tea	-	-				1801.00			507.77	
Sports & Physical Education	Sports & Physical Education	130		Sports & Physical Education (upto Highest Class VIII)							
			<b>130</b> .a	Sports & Physical Education (Primary Schools )	21185	0.07000	1482.95	21185	0.05000	1059.25	Recommended for 21185 schools. State may ensure timely release of funds for procurement of sports equipment's in the school.

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			<b>130</b> .b	Sports & Physical Education (Upper Primary Schools )	11568	0.07000	809.76	11568	0.07000	809.76	Recommended for 11568 schools. State may ensure timely release of funds for procurement of sports equipment's in the school.
				Total of Sports & Physical Education (upto Highest Class VIII)			2292.71			1869.01	
		131		Sports & Physical Education (upto Highest Class XII)							
			<b>131</b> .a	Sports & Physical Education (Secondary)	1830	0.07000	128.1	1830	0.07000	128.1	Recommended for 1830 schools. State may ensure timely release of funds for procurement of sports equipment's in the school.
			<b>131</b> .b	Sports & Physical Education (Sr. Secondary)	864	0.07000	60.48	864	0.07000	60.48	Recommended for 864 schools. State may ensure timely release of funds for procurement of sports equipment's in the school.
				Total of Sports & Physical Education (upto Highest Class XII)			188.58			188.58	
			l of Spo ation	orts & Physical			2481.29			2057.59	
	Total for Spo	rts & F	Physica	al Education			2481.29			2057.59	
Salary of Teachers	Teacher Salary	134		Teacher Salary – (Elementary)							

	Ра	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
	(HMs/Teac hers)		<b>134</b> .b	Primary Teachers- Existing, in position (Contractual)	47672	1.85000	88193.2	38437	1.80000	69186.6	<ul> <li>38437 (47672-9235)</li> <li>teachers are considered for</li> <li>the financial support @ Rs.</li> <li>1.8 lakh/annum/teacher.</li> <li>9235 vacant posts of the</li> <li>state have adjusted.</li> </ul>
				Total of Teacher Salary - (Elementary)			88193.2			69186.6	
		135		Upper Primary Teachers (Contractual) – (Elementary)							
			135 .h	Teachers in Position	13476	1.98000	26682.48	11685	1.98000	23136.3	11685(13476-1791)teachersconsideredforfinancialsupport@Rs.1.98lakh/annum/teacher(asthestatehasproposed).1791vacantstatehasadjusted
				Total of Upper Primary Teachers (Contractual) - (Elementary)			26682.48			23136.3	
		(HMs	s/Teac				114875.68			92322.9	
	Total for Sala		<b>Feache</b>	•	ļ		114875.68			92322.9	
Gender & Equity	Kasturba Gandhi Balika Vidyalaya	149		KGBV - Type – III (Recurring) (Previous Year) (Classes VI -XII)							
	(KGBVs)		<b>149</b> .a	4 Full Time Teachers	421	2.40000	1010.4	421	2.40000	1010.4	@Rs.20000/- per month per teacher

	Par	ticulars			Proposa	ıl		F	inal Approv	red Outlay
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		149 .c	Examination Fee	20300	0.01200	243.6	20300	0.01200	243.6	@Rs.1200/- per girl for class X and XII (100 girls in each KGBV)
		<b>149</b> .e	Miscellaneous	71050	0.00750	532.875	71050	0.00750	532.875	@Rs.750/- per girl per annum (for 71050 girls in 203 KGBVs)
		<b>149</b> .f	1 Full time Accountant	171	1.92000	328.32	171	1.92000	328.32	@Rs.16000/- per month for 171 full time accountant
		<b>149</b> .g	Fooding / Lodging per child per month	71050	0.16500	11723.25	71050	0.15125	10746.3125	<ul> <li>@ Rs.1375- per girl per month for 11 months (for 71050 girls in 203 KGBVs - 350 girls in each KGBV)</li> </ul>
		<b>149</b> .h	Stipend per girl per month	71050	0.01200	852.6	71050	0.01200	852.6	@Rs.100/- per girl per annum (for 71050 girls in 203 KGBVs)
		<b>149</b> .i	Maintenance	71050	0.00750	532.875	71050	0.00750	532.875	@Rs.750/- per girl per annum (for 71050 girls in 203 KGBVs)
		<b>149</b> .j	Supplementary TLM, Stationery and other educational material	71050	0.01000	710.5	71050	0.01000	710.5	@Rs.1000/- per girl per annum (for 71050 girls in 203 KGBVs)
		<b>149</b> .k	1 Warden	203	3.00000	609	203	3.00000	609	@Rs.25000/- per month for 1 warden
		<b>149</b> .l	3 Part time teachers	1015	1.40000	1421	1015	1.40000	1421	@Rs.11667/- per month per teacher (5 part time teachers in each KGBV)
		<b>149</b> .m	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	406	0.60000	243.6	406	0.60000	243.6	@Rs.5000/- per month per support staff (2 staff in each KGBV)
		<b>149</b> .n	1 Head Cook	203	0.72000	146.16	203	0.72000	146.16	@Rs.6000/- per month for 1 head cook
		149 .0	2 Assistant Cook	609	0.57600	350.784	609	0.57600	350.784	@Rs.4800/- per month per assistant cook (3 assistant

	P	articu	lars			Proposa	al		F	inal Approv	ed Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											cook in each KGBV)
			<b>149</b> .p	Specific skill training per girl	203	1.47000	298.41	71050	0.00200	142.1	@Rs.200/- per girl per annum (for 71050 girls in 203 KGBVs)
			<b>149</b> .q	Electricity / Water Charges	71050	0.00800	568.4	71050	0.00800	568.4	@Rs.800/- per girl per annum (for 71050 girls in 203 KGBVs)
			<b>149</b> .r	Medical care / Contingencies	71050	0.00800	568.4	71050	0.00800	568.4	@Rs.800/- per girl per annum (for 71050 girls in 203 KGBVs)
			<b>149</b> .s	Preparatory Camps	71050	0.00050	35.525	203	0.10000	20.3	@Rs.10000/- per KGBV per annum
			<b>149</b> .t	P.T.A.	71050	0.00100	71.05	71050	0.00100	71.05	@Rs.100/- per girl per annum (for 71050 girls in 203 KGBVs)
			149 .v	Capacity Building	71050	0.00040	28.42	203	0.10000	20.3	@Rs.10000/- per KGBV per annum
			149 .w	Physical / Self Defence	71050	0.00100	71.05	203	0.10000	20.3	@Rs.10000/- per KGBV per annum
				Total of KGBV - Type - III (Recurring) (Previous Year) (Classes VI -XII)			20346.22			19138.88	
				sturba Gandhi Balika KGBVs)			20346.22			19138.88	
	Self defence training for Girls	162		Self Defence Training (up to Highest Class VIII)							
			<b>162</b> .a	Self Defence Training (Upto Class VIII)	150	0.09000	13.5	150	0.09000	13.5	Self Defence Training can be considered for proposed 150 govt elementary schools (6 to 8) having girl enrolment

	Pa	articu	lars			Proposa	ıl		F	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
											@0.09 lakhs per schools for three months training.
				Total of Self Defence Training (up to Highest Class VIII)			13.5			13.5	
		163		Self Defence Training (upto Highest Class X or XII)							
			<b>163</b> .b	Self Defence Training (Upto Class X or XII)	355	0.09000	31.95	355	0.09000	31.95	Self Defence Training can be considered for proposed 355 govt secondary and senior secondary schools (9 to 12) having girl enrolment @0.09 lakhs per schools for three months training.
				Total of Self Defence Training (upto Highest Class X or XII)			31.95			31.95	
		Tota Girls		f defence training for			45.45			45.45	
	Total for Gen	der &	Equity	7			20391.67			19184.33	
Inclusive Education	Provision for Children with Special	164		Inclusive Education (up to Highest Class VIII)	53275	(No of Students)		50682	(No of Students)		
	Needs (CWSN) - Recurring		<b>164</b> .a	Sports Events & Exposure Visits	254	0.20591	52.3	254	0.20000	50.8	Recommended at a unit cost of Rs 20000/- per BRC for CwSN from class I to XII.

	Part	iculars			Proposa	1		Fi	nal Approv	ved Outlay
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		<b>164</b> .b	Purchase/Developme nt of instructional & Training materials	20	0.21800	4.36	20	0.20000	4	Recommended as proposed for development of IEC material for awareness and sensitization across schools (primary to senior secondary schools), with a unit cost of Rs.20000/- per district. State to share the material developed with the Department.
		<b>164</b> .g	Braille Stationary Material (Inc. Embossed Charts, globes etc)	830	0.01080	8.962	760	0.01100	8.36	Recommended as per plan for Braille stationary material for 760 children with visual impairment at a unit cost of Rs.1100/
		<b>164</b> .h	Providing Aids & Appliances	4322	0.02500	108.05	3711	0.02500	92.775	Recommended for aids and appliances for 3711 eligible CwSN, after identification & assessment, with a unit cost of Rs.2500/- (an average cost), as per plan.
		<b>164</b> .i	Identification and Assessment (Medical Assessment Camps)	264	0.15000	39.6	264	0.15000	39.6	Recommended as proposed at a unit cost of Rs.15000/- per BRC for CwSN from class I to XII. Camps to be held in convergence with Departments of Health and Social Welfare.

	Ра	rticulars			Proposa	1		Fi	inal Approv	ved Outlay
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
		<b>164</b> .1	Assistive Devices, Equipments and TLM	24	1.91667	46	24	1.00000	24	Based on progress of 2019- 20, recommended at a unit cost of Rs. 1.0 lakh per district for distribution of assistive devices and equipments for teaching- learning support of CwSN in regular classroom/ resource room.
		<b>164</b> .m	Transportation allowance	2585	0.05000	129.25	2400	0.05000	120	Recommended as per plan, at Rs 5000/- with a unit cost of Rs 500/- per month for 10 months for 2400 CwSN. (This allowance is for Children with visual impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities)
		<b>164</b> .0	In-service Training of Special Educators	307	0.04498	13.81	296	0.00800	2.368	Recommended for 2 day non-residential capacity building programme for 297 Resource Persons/Special Educators with a unit cost of Rs.400/- day per participant.
		<b>164</b> .q	Orientation of Principals, Educational administrators, parents / guardians etc.	469	0.02593	12.16	24	0.50000	12	Recommended as per PAB approval 2019-20, for one day non-residential orientation programme with a unit cost of Rs.50000/- per district.

	Pa	articu	lars			Proposa	1		Fi	nal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			164 .v	Escort Allowance	2580	0.05000	129	2400	0.05000	120	Recommended as per plan, at Rs 5000/- with a unit cost of Rs 500/- for 10 months for 2400 escorts. (This allowance is for Children with visual impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities)
			<b>164</b> .w	Home Base Education	384	0.37698	144.76	384	0.03500	13.44	Recommended for 384 CwSN at a unit cost of Rs.3500/- (as per norms), for interventions such as development of TLMs and activities specifically for CwSN being covered through HBE. State to submit of details of students.
				Total of Inclusive Education (up to Highest Class VIII)			688.25			487.34	
		165		Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)	2257	(No of Students)		2257	(No of Students)		
			<b>165</b> .f	Braille Stationary Material (Inc. Embossed Charts, globes etc)	254	0.00534	1.357	101	0.02000	2.02	Recommended as per plan for Braille stationary material for 101 children with visual impairment at a unit cost of Rs.2000/

	Ра	articulars			Proposal			Final Approved Outlay			
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks	
		165 .g	Providing Aids & Appliances	1609	0.03199	51.475	1609	0.02500	40.225	Recommended for aids and appliances for 1609 eligible CwSN, after identification & assessment, with a unit cost of Rs.2500/- (an average cost), as per plan.	
		<b>165</b> .i	Reader Allowance	264	0.05000	13.2	48	0.05000	2.4	Recommended for 48 children with visual impairment as per plan at Rs. 5000/-, with a unit cost of Rs. 500/- per month for 10 months.	
		<b>165</b> .k	Assistive Devices,Equipments and TLM	170	0.05426	9.225	170	0.05000	8.5	Recommended for assistive devices at a unit cost of Rs.5000/- per resource room support.	
		<b>165</b> .p	(Highest Class XII)	44	0.37909	16.68	44	0.03500	1.54	Recommended for 44 CwSN at a unit cost of Rs.3500/- (as per norms), for interventions such as development of TLMs and activities specifically for CwSN being covered through HBE. State to submit of details of students.	
			Total of Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)			91.94			54.68		

	Ра	rticu	lars			Proposa	1	Final Approved Outlay											
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks								
		with		ovision for Children l Needs (CWSN) -			780.19			542.03									
	Total for Incl	usive l	Educat	ion			780.19			542.03									
Vocational Education	Introduction of Vocational	167		Introduction of VE in schools - NR															
	Education at Secondary		<b>167</b> .a	Tools, Equipment & Furniture (New)	262	5.00000	1310	60	5.00000	300	Recommended for 60 schools with two sectors .								
	and higher Secondary			Total of Introduction of VE in schools - NR			1310			300									
		168		Recurring Support VE - New															
			<b>168</b> .a	Financial Support for Vocational Teacher/ Trainer (New)	524	1.20000	628.8	120	1.20000	144	For 120 trainers @Rs. 20,000/- per trainer per month.								
			<b>168</b> .b	Financial Support for Resource Persons (New)	262	0.31250	81.8755	60	0.31250	18.75	As proposed by the state for 60 schools.								
											168 .c	Raw material Grant for new school per course (New)	262	0.12500	32.75	60	0.12500	7.5	As proposed by the state for 60 schools.
			<b>168</b> .d	Cost of providing Hands on Skill Training to Students (New)	262	0.12500	32.75	60	0.12500	7.5	As proposed by the state for 60 schools.								
			<b>168</b> .f	Office Expenses / Contingencies for New School (New)	262	0.10000	26.2	60	0.05000	3	As per norms for 60 schools.								
			<b>168</b> .g	Induction training of Teachers VE - Teachers (10 Days)	524	0.05000	26.2	120	0.05000	6	For 10 days induction training @Rs.500/- per day for 120 trainers.								

	Ра	articu	lars			Proposa	1		Fi	inal Approv	ved Outlay
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
				Total of Recurring Support VE - New			828.58			186.75	
		169		Project Innovation - VE							
			169	Skill Competition (District)	24	3.00000	72	24	0.50000	12	Recommended for 24 districts @Rs.50,000 per district
				Skill Competition (State)	24	0.50000	12	1	3.00000	3	Recommended for one state level Skill Competition
				Total of Project Innovation - VE			84			15	
		171		Recurring Support VE - Existing							
			<b>171</b> .a	Financial Support for Vocational Teacher/ Trainer (Existing)	776	2.40000	1862.4	776	2.40000	1862.4	For 776 in position trainers @Rs. 20,000/- per trainer per month.
			<b>171</b> .b	Financial Support for Resource Persons (Existing)	388	0.50000	194	388	0.50000	194	As proposed for 388 schools.
			171 .c	Raw material grant for new school per course (Existing)	388	0.40000	155.2	388	0.40000	155.2	As proposed for 388 schools.
			<b>171</b> .d	Cost of providing Hands Training Students (Existing)	388	2.40000	931.2	388	1.65300	641.364	As per norms for 388 schools.
			<b>171</b> .e	Assessment and Certification Cost (Existing)	17340	0.00600	104.04	17340	0.00600	104.04	For assessment and certification of students of Class 10th and 12th by SSC. In class 9 and 11 internal assessment may be done.
			<b>171</b> .f	Office Expenses / Contingencies for	388	0.50000	194	388	0.50000	194	As proposed for 388 schools.

	Ра	articu	lars			Proposa	ıl	Final Approved Outlay				
Major Component	Sub Component			Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks	
			<b>171</b> .h	School (Existing) In-service Training of VE - Teachers (5 - Days) - (Existing)	776	0.02500	19.4	776	0.02500	19.4	For 5 days in service training @Rs.500/- per day per trainer.	
				Total of Recurring Support VE - Existing			3460.24			3170.4		
		172		Addition of VE Course in Existing Schools - NR								
			<b>172</b> .a	Tools, Equipment & Furniture (Existing Schools)	22	2.48182	54.6	22	2.48182	54.6	Recommended as proposed.	
				Total of Addition of VE Course in Existing Schools - NR			54.6			54.6		
		Voca	tional	roduction of Education at and higher Secondary			5737.42			3726.75		
	Total for Voc						5737.42			3726.75		
Monitoring of the	Monitoring Information	174		Monitoring of the Scheme								
Scheme	System (MIS)		174 .c	Management Information System (Udise +)	7608794	0.00009	684.79146	7608794	0.00002	152.17588	Recommended based on total enrolment at unit cost of Rs. 2 per child	
				Total of Monitoring of the Scheme			684.79			152.18		
			l of Mo em (MI	nitoring Information S)			684.79			152.18		
	Total for Mor	nitorin	ng of th	e Scheme			684.79			152.18		
Program Management	Program Management	175		Program Management (MMER) (I - XII)								
			<b>175</b> .a	Program Management (MMER) (I - XII)	25	706.312	17657.8	1	9970.86	9970.86	Recommended 5% against total outlay.	

Particulars			Proposal			Final Approved Outlay				
Major Component	Sub Component		Activity Master	Phy.	Unit Cost	Fin.	Phy.	Unit Cost	Fin.	Remarks
			Total of Program Management (MMER) (I - XII)			17657.8			9970.86	
		Total of P	rogram Management			17657.8			9970.86	
Total for Program Management						17657.8			9970.86	
Total	Total					257307.68			209387.99	

## Final Fresh Estimated Approval 2020-21

			(Rs. In lakh)
Scheme Name	Non-recurring	Recurring	Total
Elementary Education	3392.94	193371.39	196764.33
Secondary Education	2601	9514.89	12115.89
Teacher Education	0	507.77	507.77
Total	5993.94	203394.05	209387.99

## Major Component-wise Estimated Approval 2020-21

(Rs. In lakh)

Major Component	Total	
Access & Retention	1911.94	
RTE Entitlements	36188.94	
Quality Interventions	42822.71	
Teacher Education	507.77	
Salary of Teachers	92322.9	
Gender & Equity	19184.33	

Inclusive Education	542.03
Vocational Education	3726.75
Sports & Physical Education	2057.59
Monitoring of the Scheme	152.18
Program Management	9970.86
Total	209387.99

\*\*\*\*\*